Hardware Maintenance Manual

IBM PC Server/Enterprise Racks
Types 9306, 9308

<|lI!






Hardware Maintenance Manual

IBM PC Server/Enterprise Racks
Types 9306, 9308

<|lI!



Note:

Before using this information and the product it supports, be sure to read the general
information under|“Safety information” on page 191|

Seventh Edition February 2003

The following paragraph does not apply to the United Kingdom or any country where such provisions are
inconsistent with local law:

INTERNATIONAL BUSINESS MACHINES CORPORATION PROVIDES THIS PUBLICATION "AS IS” WITHOUT
WARRANTY OF ANY KIND, EITHER EXPRESS OR IMPLIED, INCLUDING, BUT NOT LIMITED TO, THE IMPLIED
WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE. Some states do not allow
disclaimer of express or implied warranties in certain transactions, therefore, this statement may not apply to you.

This publication could include technical inaccuracies or typographical errors. Changes are periodically made to the
information herein; these changes will be incorporated in new editions of the publication. IBM may make
improvements and/or changes in the product(s) and/or the program(s) described in this publication at any time.

This publication was developed for products and services offered in the United States of America. IBM may not offer
the products, services, or features discussed in this document in other countries, and the information is subject to
change without notice. Consult your local IBM representative for information on the products, services, and features
available in your area.

Requests for technical information about IBM products should be made to your IBM reseller or IBM marketing
representative.

© Copyright International Business Machines Corporation 2001. All rights reserved.
US Government Users Restricted Rights — Use, duplication or disclosure restricted by GSA ADP Schedule Contract
with IBM Corp.



Contents

About thismanual . . . . . . . . . . . . . . . . . . . . . . Vi
Important safety information . . . . . . . . . . . . . . . . . . . Vi
Online support . . . . . . . . . . . . . . . . . . ... ... i
General Checkout . .1
Power checkout . .2
Powering off the rack . . 3
Type 9306 Model 250/420/421 5
Features. . e e e . . . . .. ... . .. ..5
NetBAY 42 and NetBAY 25 Cabmets e e e e . . ... .. ... . ..b
Installing a rack cabinet . e
Part Listing (Type 9306) . . . . . . . . . . . . . . . . . . . . .28
Type 9306 Models 200/900/910 . . . . . . . . . . . . . . . . . .31
Type 9306 Models 900/910 . . . . . . . . . . . . . . . . . . . .3
Features . . . . . . . . . . . . . . . . . . . . . . . ... .38
Locations . . . . . . . . . . . . . . . . . . ... 0003t
Side panel . . P B
Parts Listing (Type 9306 Model 200) e 24
Type 9306 Model 900/910. . . . . . . . . . . . . . . . . . . . .34
Features . . . . . . . . . . . . . . . . .. . . ... ... .3
Locations . . . N 1)
Parts listing (Type 9306 Model 900/910) e e e e . ... ... .. . .38
Type 9306 Models 4QS, 4QX, 9QS, 9QX, 9TS,9TX. . . . . . . . . . . 4
Features . . . e e e e s M
IBM PC Server expanS|on rack models < 3|
Locations . . . e e e e s s
Server selector console < 3|
Server selectorunit . . . . . . . . . . . .. 0 ... ... .42
Connections . . . A ¢
Power distribution unlt K
Coolingfan . . . . . . . . . . . . . . . ... .. ... . 44
Slidingtrays. . . . . . . . . . . . . . . . . . . . . ... .45
Slidingrails . . . . . . . . . . . . . . . . . . .. ... . .46
Keyboard tray . . . ... .47
Parts listing (Type 9306 — 19 mch) Models QQS 9TS and QQX 9TX . . . .48
Parts listing (Type 9306 — 24-inch) Models 4QS,4QX . . . . . . . . . .51
NetBAY 42 Enterprlse Rack (Type 9308 Models 42P, 42X, 4SA, 4SB, 42S,
42E) . . . . . . . . . . . . . . . . . . .55
Features . . . . . . . . . . . . . . . . . . . . . . . . .. .5bb
Locations . . . o X
Removing and mstallmg panels o1
Doors . . . e . . . .. . .61
Removing and mstallrng the top 6U port|on of the rack . . . . . . . . .65
Installing the stabilizer bracket . . . . . . . . . . . . . . . . . .66
Attaching rack cabinets in a suite . . . . . . . . . . .66
Installing L-channel support rails to rack mountmg brackets .. . . . . .08
Parts listing (Type 9308 Model 42P, 42X) . . . . . . . . . . . . . . .71
NetBAY3 enclosure. . . . . . . . . . . . . . . . . . . . . . .73

© Copyright IBM Corp. 2001 iii



Features . . . . . . . . . . . . . . . . . . . . . . . .. . .73

Locations. . . . . . . . . . . . . . . . . . . . . . ... ..T3
Casters. . . . . . . . . . . . . . . . . . . ... . ... ..T7T3
Footpads. . . . . . . . . . . . . . . . . .. ... ... .74
Frontcover . . . . . . . . . . . . . . . . .. .. .. .. .T4
Rearpanel . . . . . . . . . . . . . . . . .. . . . ... .75
Device side rails . . . . Y (&
Stacking NetBAY3 enclosures (&

Parts Listing (NetBAY3). . . . . . . . . . . . . . . . . . . . . .78

NetBAY3E enclosure . . . . . . . . . . . . . . . . . . . .. .79

Features . . . . . . . . . . . . . . . . . ... .79

Locations. . . . . . . . . . . . . . . . ... L. .79
Casters. . . . . . . . . . . L L L. LT
Frontcover . . . . . . . . . . . . . . . . . . . ... .. .80
Rearpanel . . . . . . . . . . . . . . . . .. .08
Device side rails . . . e < 2
Stacking NetBAY3E enclosures T <

Parts listing (NetBAY3E) . . . . . . . . . . . . . . . . . . . . .83

1U Flat Panel Monitor ConsoleKit. . . . . . . . . . . . . . . . .85

Installing the Flat Panel Monitor Console Kit . . . . . . . . . . . . . .87
Installing the flat panel monitor and keyboard tray . . . . . . . . . . .87
Installing an optional console switch . . . . . . . . . . . . . . . .95

Installing Optional Devices . . . e 0 D

Installing devices on the rack cabinet mountlng flanges A 0724
Installing threaded railsorbars . . . . . . . . . . . . . . . . .104
Installing cage nuts. . . . P (o
Using the cage-nut-insertion tooI T 04
Using a flat-blade screwdriver . . . . . . . . . . . . . . . . . . 105
Clip Nuts . . . e L0153
Installing an unmterruptlble power supply e K0 1¢)

Installing a power distributonunit . . . . . . . . . . . . . . . . .108
Power Distribution Unit . . . . . . . . . . . . . . . . . . . .109
Installing a PDU vertically . . . . . . . . . . . . . . . . . . .10
Installing a PDU horizontally . . . . . . . . . . . . . . . . . .11

Installingaserver . . . . . . . . . . . . . . . .. ... IM
Installing a large server . . . . . . . . . . . . . . . . . . . .12
Installing a small server . . . . . . . . . . . . . . . . . . . .12

Installing a storage expansion unit . . . T b )

Installing a Fibre Channel RAID controller un|t e R S

Installing a Fibre Channelhub. . . . . . . . . . . . . . . . . . .15

Installing an SP switch. . . . . . . . . . . . . . . . . . . . . .116

Installing a fixed shelf . . . . . . . . . . . . . . . . .. . .. .17

Installing a keyboard tray. . . . T K]

Installing a flat panel monitor rack mount k|t e K]

Installing a monitorshelf . . . . . . . . . . . . . . . . . . . . .120

IBM NetBAY Console Switch . . . . . . . . . . . . . . . . . . .121

Features. . . . . . . . . . . . . . . . . . . . . . . . .. .1283

Tool requirements . . . . . . . . . . . . . . . . . . . . .. .124

Specifications . . . . . . . . . . . . . . . . . .. ... 0124

Installation overview . . . e 24
Installing a console switch vert|cally in a rack e P22
Installing a console switch horizontally inarack . . . . . . . . . . . 128

Parts listing (NetBAY Console Switch) . . . . . . . . . . . . . . . .130

iV Hardware Maintenance Manual: 1BM PC Server/Enterprise Racks Types 9306, 9308



NetBAY Power Distribution Units .

NetBAY rack Power Distribution Unit mtroductlon
Tool requirements
Installation overview
Installing devices vertically .
Installing a single device horizontally
Installing two devices horizontally
Cabling your PDUs .

NetBAY front-end Power Dlstrlbutlon Unlt |ntroduct|on .

Tool requirements

Installation overview

Installing a single device vertlcally
Installing two devices vertically
Rack PDU specifications .

Line cords . .

Power cables .

NetBAY server dual-cord Power Dlstr|but|on Unlt mtroductlon

Tool requirements
Installation overview
Installing devices vertically .
Installing a single device horizontally
Installing two devices horizontally
Cabling your PDUs .
Power cables .
Line cords .
Parts listing (Power D|str|but|on Un|ts)
Selector switch locations .
Selector switch cable connechons
Tiered switch configuration .
Selector switch environment
Resetting the selector switch
Blank bezel.
Fixed shelf .
Keyboard tray .
Removing the existing flat panel monltor stand
Installing the new monitor stand .
Starting the system.
Configuring the selector SWItCh
Switching among servers.
Advanced selector switch funct|ons
Scanning the servers .
Displaying version information and dewce settlngs
Saving Hardware Configuration
Resetting the mouse and keyboard .
Setting a scan pattern .
Assigning Unique Names to Servers
Changing menu attributes .
Changing the status flag attributes .
Assigning specific device types
Making connections under power.

Related service information .
Safety information
Safety notices (multllmgual translatlons)
Safety inspection guide
Handling electrostatic discharge- sensmve dewces

. 130
. 130
. 131
. 131
. 132
. 133
. 135
. 137
. 145
. 146
. 146
. 146
. 149
. 154
. 155
. 155
. 155
. 156
. 156
. 156
. 158
. 160
. 162
. 169
. 170
. 170
. 170
. 172
. 172
. 173
. 173
. 174
. 174
. 175
. 175
. 176
. 181
. 182
. 182
. 183
. 183
. 183
. 184
. 184
. 184
. 185
. 186
. 187
. 188
. 189

. 191
. 191
. 198
. 229
. 230

Contents

\'}



Grounding requirements . . . . . . . . . . . . . . . . . . . .23
Problem determinationtips . . . . . . . . . . . . . . . . . . . .231

Vi  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



About this manual

This manual contains diagnostic information, a Symptom-to-FRU index, service
information, error codes, error messages, and configuration information.

Important: This manual is intended for trained servicers who are familiar with IBM
PC Server products.

Important safety information

Be sure to read all caution and danger statements in this book before performing
any of the instructions. See [‘Safety information” on page 191|

Leia todas as instru¢des de cuidado e perigo antes de executar qualquer operacéo.

ERBART= AT, EF4IAEE Safety Information
(Z2fE8).

Prenez connaissance de toutes les consignes de type Attention et Danger avant de
procéder aux opérations décrites par les instructions.
Lesen Sie alle Sicherheitshinweise, bevor Sie eine Anweisung ausfihren.

Accertarsi di leggere tutti gli avvisi di attenzione e di pericolo prima di effettuare
qualsiasi operazione.

HROBEOHIS, REEHEBHA LS,

Lea atentamente todas las declaraciones de precaucion y peligro ante de llevar a
cabo cualquier operacion.

WARNING: Handling the cord on this product or cords associated with accessories
sold with this product, will expose you to lead, a chemical known to the State of
California to cause cancer, and birth defects or other reproductive harm. Wash
hands after handling.

ADVERTENCIA: El contacto con el cable de este producto o con cables de
accesorios que se venden junto con este producto, pueden exponerle al plomo, un
elemento quimico que en el estado de California de los Estados Unidos esta
considerado como un causante de cancer y de defectos congénitos, ademas de
otros riesgos reproductivos. Lavese las manos después de usar el producto.

Online support

You can download the most current diagnostic, BIOS flash, and device driver files
from http://www.ibm.com/pc/support on the World Wide Web.

© Copyright IBM Corp. 2001 Vii



viii  Hardware Maintenance Manual: I1BM PC Server/Enterprise Racks Types 9306, 9308



General Checkout

Use the following procedure for diagnosing keyboard, mouse, and video problems
for the IBM PC Server Rack Enclosure and the IBM Rack enclosures (Type 9306
and Type 9308).

For power problems, see [‘Power checkout” on page 2|

Attention:

1.

© Copyright IBM Corp. 2001

For Models 4QS, 4QX, 9QS, 9QX, 9TS, 9TX only:

Ensure that the voltage selector switch on each server installed in the server rack
is set to 230 V ac.

For Models 200, 900 only:

Ensure that the voltage selector switch on each server installed in the server rack
is set to the proper voltage as supplied by the Power Distribution Unit, PDU.

Check the following:

» Ensure the external power cord is in good condition and properly connected
to a known-good power source.

* Ensure the internal power cables are in good condition and properly
connected. (The internal power cables connect between the power
distribution unit and the servers installed in the server rack.)

» Ensure the following devices are powered on.
a. Power distribution unit
b. Server selector unit
c. All system units
d. Display

If the items/conditions specified in stepare not okay, correct the problem and
verify that the server rack is operating correctly.

If the items/conditions specified in stepare okay, then, using the server
selector keypad buttons, check the operation of the failing device for all of the
servers that are installed in the rack.

Did the failure occur on more than one server?
* NO: Go to the Hardware Maintenance manual for the server that was
selected when the failure occurred. Disconnect the keyboard and mouse from

the server selector unit and connect them directly to the failing server. Then,
run the server diagnostic programs on the failing server.

If the problem still remains, disconnect the keyboard and mouse from the
failing server and reconnect them to the server selector unit. Then, replace
the server rack components in the following order until the problem goes
away.

a. Device cable (connects between the server selector unit and the server
that was selected when the failure occurred).

b. Server selector cable (connects between the server selector keypad and
the server selector unit).

c. Server selector keypad.
d. Server selector unit.

* YES: Power-off the server rack and replace the server rack components in
the following order until the problem goes away. See r‘Powering off the rack’1




a. Device extender cable (connects between the device and the server
selector unit)

Failing device
Server selector cable (connects between the server selector keypad and
the server selector unit)

Server selector keypad
Server selector unit

Power checkout

Use the following procedure for diagnosing power problems for the IBM PC Server
Rack Enclosure and IBM Rack enclosure (Type 9306).

Attention:
* For Models 4QS, 4QX, 9QS, 9QX, 9TS, 9TX only:

Ensure that the voltage selector switch on each server installed in the server rack
is set to 230 V ac.

* For Models 200, 900 only:

Ensure that the voltage selector switch on each server installed in the server rack
is set to the proper voltage as supplied by the Power Distribution Unit, PDU.

1. Check the following:

* Ensure the external power cord is in good condition and properly connected
to a known-good power source.

* Ensure the internal power cables are in good condition and properly
connected. (The internal power cables connect between the power
distribution unit and the servers installed in the server rack.)

» Ensure the following devices are powered on.
a. Power distribution unit
b. Server selector unit
c. All system units
d. Display
2. If the items/conditions in stepare not okay, correct the problem and verify
correct operation of the server rack.

3. If the items/conditions specified in stepare okay, then, using the server
selector keypad buttons, check for correct operation of all the servers installed
in the rack.

4. Did the failure occur on more than one server?

* No: Go to the Hardware Maintenance manual for the server that was selected
when the failure occurred and run the server diagnostic programs. If the
problem still remains, replace the power distribution unit.

* Yes: Power-off the server rack and replace the server rack components in the
following order until the problem goes away. See |“Powering off the rack” on|
lpage 3
a. Power distribution unit fuse.
b. Power distribution unit.

2 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Powering off the rack

Before performing service on the rack, follow this procedure to prevent personal
injury and to avoid damaging the rack and the installed servers.

To power-off the IBM PC Server Rack:

1. Shut down and power-off all installed servers.

2. Power-off the server selector unit.

3. If a UPS system is installed in the rack, power-off the UPS system.
4. Disconnect power from the IBM PC Server Rack.

 If the rack is plugged into a wall-mounted power supply, disconnect the power
cord plug from the wall socket.

 |If the power cord is wired directly into the installed location’s power supply,
open the rear door of the rack cabinet and disconnect the power plug from
the base of the power distribution unit.

General Checkout 3



4 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Type 9306 Model 250/420/421

Features

The IBM NetBAY 42, Type 9306, Model 420 with side panels, Model 421 without
side panels and the IBM NetBAY 25, Type 9306, Model 250.

NetBAY 42 and NetBAY 25 Cabinets

This documentation contains general installation instructions for the IBM™®
NetBAY25 and NetBAY42 Rack cabinets, and many of the common optional
devices that you can install in a rack cabinet. Always read the documentation that
comes with your server or optional device for detailed installation instructions.

© Copyright IBM Corp. 2001



Unpack racks according to
the unpacking instructions

Locate racks according to
the IBM NetBAY Rack
Planning Guide

Install rack stabilizer
brackets on all racks

* Remove side panels, if applicable
* Remove front and rear doors from all racks, if necessary
* Attach expansion racks to each other or a primary rack to form suites

Prepare racks for
optional devices

Note: Install heaviest devices in the bottom of the rack

e Install an uninterruptable power supply (UPS)
¢ Install a power distribution unit (PDU)

* Install a server

e Install a storage expansion unit

¢ Install a Fibre Channel RAID controller module
e Install a Fibre Channel hub

¢ Install an SP switch

¢ Install a fixed shelf

e Install a keyboard tray

e Install a flat panel monitor rack mount kit and flat panel monitor
¢ Install a console server selector switch

e Install a blank filler panel

¢ Install a monitor shelf
!

Install one or more
optional devices,
such as:

Complete rack * Reinstall side panels on all racks or outermost racks in a suite
installation * Reinstall front and rear doors on all racks

Rack is setup and
ready for use

Figure 1. Installing the rack cabinet and devices overview

Note: The illustrations in this documentation might be slightly different from your
hardware.

Installing a rack cabinet

The NetBAY25 Rack cabinet is a 25U-high rack cabinet', while the NetBAY42 Rack
cabinet is a 42U-high rack cabinet. NetBAY25 and primary NetBAY42 Rack cabinets
come with side panels installed.

Note: New rack cabinets come with side and filler panels that are slightly thicker
and heavier than other rack cabinets. You can install the new side or filler
panel FRUs on either type of rack cabinet.

1.One U is equal to 4.45 cm (1.75 in.)

6 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Expansion NetBAY42 Rack cabinets do not come with side panels, but do include
the required hardware for building a suite of rack cabinets. The rack cabinets
conform to the Electronic Industries Association (EIA) standard EIA-310-D Cabinets,
Racks, Panels, and Associated Equipment (1992).

Note: You need only one primary rack cabinet per suite.

Statement 1:

A

CAUTION:

To ensure safety, all configurations of the rack cabinet must be certified by a
nationally recognized testing laboratory in order to verify compliance with
country-specific safety regulations. This process ensures that the end
product remains safe for the operator and service personnel under normal
and forseeable misuse conditions.

Figure 2. NetBAY25 Rack cabinet

Type 9306 Model 250/420/421 7



Figure 3. Primary NetBAY42 Rack cabinet with side panels

Racks Types 9306, 9308

Ise

IBM PC Server/Enterpri

Hardware Maintenance Manual

8



58588 1
885588 Il

j
0

|

[ e—]

| —)

FeEEEEEE R T

o
o

fScccoooonnonooas|

©Poococoooo0coo00o000 00

°
°
o
o
o
o
o
°
°
o
o
o
o
o
o

Figure 4. Expansion NetBAY42 Rack cabinet without side panels

9

Type 9306 Model 250/420/421



Installing stabilizer brackets
See the unpacking instructions that come with the rack cabinet for information on

how to unpack and locate the rack cabinet; then, lower the rack leveling pads and
install the stabilizer brackets for added stability.

Note: NetBAY25 Rack cabinets have only a front stabilizer bracket. NetBAY42
Rack cabinets have one front and four side stabilizer brackets.

Statement 2:

A

DANGER

« Always lower the leveling pads on the rack cabinet.
* Always install stabilizer brackets on the rack cabinet.

* Always install servers and optional devices starting from the bottom of
the rack cabinet.

« Always install the heaviest devices in the bottom of the rack cabinet.

Installing the NetBAY25 stabilizer bracket:

CEEEEEEEEESEEEEE ST

Stabilizer bracket

Figure 5. Lowering the NetBAYZ25 leveling pads and installing the stabilizer bracket

1. Use a 12 mm open-end wrench to lower each of the four leveling pads just
enough so that they touch the floor. The rack casters support the weight of the
rack cabinet. The pads prevent the rack from rolling.

2. Attach the stabilizer bracket to the front of the rack cabinet with the screws that
come with the bracket.

3. If necessary, bolt the rack cabinet to the floor through the provided holes in the
stabilizer bracket.

10 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Installing the NetBAY42 stabilizer brackets:

Side stabilizer bracket

Figure 6. Lowering the NetBAY42 leveling pads and installing the side stabilizer brackets

1. Use a 12 mm open-end wrench to lower each of the four leveling pads just
enough so that they touch the floor. The rack casters support the weight of the
rack cabinet. The pads prevent the rack from rolling.

2. Attach a side stabilizer bracket to the front of the rack cabinet with the screws
that come with the bracket; then, attach the other three side stabilizer brackets.

Note: You must install the side stabilizer brackets so that they extend outward
from the rack cabinet, just behind the casters, as shown in .

\ (©cooooooooooooooooooo

[cocoooooooooopoooooooooooa:

Front stabilizer bracket

Figure 7. Installing the NetBAY42 front stabilizer bracket

3. Attach the front stabilizer bracket to the front of the rack cabinet with the screws
that come with the bracket.

Type 9306 Model 250/420/421 11



4. If necessary, bolt the rack cabinet to the floor through the provided holes in the
stabilizer brackets.

Removing and installing NetBAY25 panels
The NetBAY25 Rack cabinet comes with side panels installed. Remove the side
panels from a rack cabinet before you install or remove optional devices.

Removing and installing side panels: Use the following procedure to remove
the NetBAY25 side panels:

Side panel

Rear
locking bar

J

DOODDUDOUNOUD0 D00 CO000 000 O

\
J
=

(

ont

S~ .
locking
T par

0d000N0000000000000000000000000000a

e

[

nooodonnondonooooon

Figure 8. Removing the NetBAY25 side panels

1. From the inside rear of the rack cabinet, slide the side panel locking bar into the
unlocked position; then, slide the front side panel locking bar into the unlocked
position.

2. Tilt the bottom of the side panel slightly toward you; then, lift the side panel
away from the tabs on the top of the rack cabinet.

3. Repeat this procedure to remove both side panels.

Reverse this procedure to install the side panels. Slide both locking bars into the
locked position to secure the side panel to the rack cabinet.

12 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Removing rear filler panels: Use the following procedure to remove the rear filler
panels from the rack cabinet:

Rear filler panel

EEECIEEEEEEEEEEEEI=EET

ooy
N
° o
° o
o
o
S

o
© o

CooooooooooooooooDog)
0000000000000 000a000000000000000000008000000000000000
(
S00000000 000 O00000000000000000000000000000 000 000 60500 000 &
C
[

[

Figure 9. Removing the NetBAYZ25 rear filler panels

1. Grasp the rear filler panel firmly and slide it slowly toward the front of the rack
cabinet.

2. Lift the filler panel and remove it from the rack cabinet.
3. Repeat this procedure to remove both filler panels.

Installing rear filler panels: Use the following procedure to install the rear filler
panels on the rack cabinet:

1. Align the bottom of the rear filler panel with the tab on the bottom rear of the
rack cabinet.

2. Hold the filler panel fully against the side of the rack cabinet; then, slide the filler
panel toward the rear of the rack cabinet. Ensure that both the top and bottom
tabs are engaged by the filler panel.

3. Repeat this procedure to install both filler panels.

Removing and installing NetBAY42 panels

The primary NetBAY42 Rack cabinet comes with side panels installed. Remove the
side panels from a primary rack cabinet, or the outermost rack cabinets in a suite,
before you install or remove optional devices.

Type 9306 Model 250/420/421 13



Note: You do not need to remove the rear filler panels unless you are attaching the
rack cabinets to form a suite of rack cabinets.

Removing and installing side panels: Use the following procedure to remove
the NetBAY42 side panels:

Side panel ill
L;? \
E (11
T : o T L
0| o 1]
O a
=
8 H
ol I g
ol o
g 8
q o
J E E
at :
Rear locking bar E g
9 5
ol o
Ug 5
g 0 g
v a
S5 8 T
; E oooooooooooooooo I E
T © ]' N g
E o
3 g
a ||
0 o
[ el E
a =}
g Gl
— 5 g
: l
o o
0 oo —
B ®°%°0g,
Jo ces
i Ju|
0|
0|
g
g Front
g h
B locking
I JE bar _
2 ©0
0|
I 5]
\/
Q
S~

Figure 10. Removing the NetBAY42 side panels

1. From the inside rear of the rack cabinet, slide the side panel locking bar into the
unlocked position; then, slide the front side panel locking bar into the unlocked
position.

2. Tilt the bottom of the side panel slightly toward you; then, lift the side panel
away from the tabs on the top of the rack cabinet.

3. Repeat this procedure to remove both side panels.

Reverse this procedure to install the side panels. Slide both locking bars into the
locked position to secure the side panel to the rack cabinet.

14 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Removing rear filler panels: Use the following procedure to remove the rear filler
panels from the rack cabinet:

Rear filler panel — 1

(

o

. |bccoocooceooooooooenEEy o
C D °

o
o
o
o
o
o
o

fsccoooooenooaoonaooncoaong

0
o
o

[Gooooooooooooooo)
[a—)

So0000O00000000000000000000UN0000000000 D0U 000 000 00000000 OO0 DOb b05 D60 OO0 D00 D00 000000000000 DOo0

DO DNO0DN00NN0NN0 000000000000 ON0ON000DN0NN000N0 000 000 00000000 000 000 000 000000 0000000000000 00000 30
o °

Figure 11. Removing the NetBAY42 rear filler panels

1. Grasp the rear filler panel firmly and slide it slowly toward the front of the rack
cabinet.

2. Lift the filler panel and remove it from the rack cabinet.
3. Repeat this procedure to remove both filler panels.

Reverse this procedure to install the rear side panels on the rack cabinet.

Installing rear filler panels: Use the following procedure to install the rear filler
panels on the rack cabinet:

1. Align the bottom of the rear filler panel with the tab on the bottom rear of the
rack cabinet.

Type 9306 Model 250/420/421 15



2. Hold the filler panel fully against the side of the rack cabinet; then, slide the filler
panel toward the rear of the rack cabinet. Ensure that both the top and bottom
tabs are engaged by the filler panel.

3. Repeat this procedure to install both filler panels.

Door latches
Rack cabinets come with doors that have either round or square latches. You can

install either latch FRU on NetBAY25 and NetBAY42 rack cabinets. See the
following illustrations of the two styles of latches.

Note: Doors that come with square latches are slightly thicker and heavier than
doors that come with round latches.

9]

16 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Removing and installing rack doors

Remove the rack doors when installing and removing options in the rack cabinet. All

rack cabinets come with front and rear doors installed.

Note: You only need to remove a door if part of the rack cabinet is obstructed by

the door as you install the optional device.

Use the following procedure to

Removing and installing a NetBAY25 door

remove a front or rear door from the rack cabinet:

Figure 12. Removing a front door from the NetBAY25 rack cabinet

Unlock and open the door.
2. Grasp the door firmly with both hands and lift it upward and away from the

1.

set the door aside.

; then,

hinges;

Reverse this procedure to install the door on the rack cabinet.

17

Type 9306 Model 250/420/421



Use the following procedure to

remove a front or rear door from the rack cabinet:

Removing and installing a NetBAY42 door.

90000000000000

Figure 13. Removing a front door from the NetBAY42 rack cabinet

Unlock and open the door.

1.

2. Grasp the door firmly with both hands and lift it upward and away from the

hinges; then, set the door aside.

Reverse this procedure to install the door on the rack cabinet.

Use the following procedure to reverse a front or

rear door on the rack cabinet so that it opens in the opposite direction:

Reversing a front or rear door.

IBM PC Server/Enterprise Racks Types 9306, 9308

Hardware Maintenance Manual:

18



Note: The illustrations in this procedure are of a NetBAY42 rack cabinet. The same
procedure applies to the NetBAY25 rack cabinet.

1. Remove the door according to[“Removing and installing a NetBAY42 door” on|
[page 18| or [Removing and installing a NetBAY25 door” on page 17}

2. Remove the top and bottom hinge pins from the rack cabinet; then, install the
hinge pins on the other side of the rack cabinet.

ooooooo

E
=

S00O0D0O0000000000000000D0N00N00N0UD0 000000000 000 60060 OO0 600 606 GO

:
| 855550050 008 S5 00500 S50 DD SEREOEE 080 of b oS0 0S5 C9s CH5 50055 5 00 90 008 D08 008 000 00D 5B

Figure 14. Moving the hinge pins and front door latch

3. Remove the front door latch and attach it to the other side of the rack cabinet.

Note: The rear door latch is built-in to both rear filler panels, so there is nothing
to move when reversing the rear door on the rack cabinet.

Type 9306 Model 250/420/421 19



4. Carefully rotate the door 180°; then, install the door on the other side of the rack

cabinet.

|

oo

N0 D00 00000 000 000 DO0 000 000 000 0000000000000 0000DmD
00000000060 G60 660 000 000 000 000 060060 060060000 6000

£

5

7

CoDnOoODODODOooooon

Soooooooo o

| veeverere

Figure 15. Rotating and installing the door

20 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



5. Remove the IBM logo from the bottom of the door; then, snap it into place near

the top of the perforated section of the door.

2
9900000000000 J O O

)

0
0

223252232228%20

Figure 16. Moving the IBM logo

21

Type 9306 Model 250/420/421



Attaching NetBAY42 Rack cabinets in a suite

Expansion rack cabinets come with all the hardware required for you to attach rack
cabinets together and form a suite. Use the following procedure to attach rack
cabinets together in a suite:

/\_,_/

y 4
e

Attachment
bracket

200 Dqéﬁ’l&f@\]@/

T
2 000 000 0oo oo
1
i
e

C
N C at
T
(p/p)
‘T
—— ——
T —T
W

oo | *u\l
T}

Bolt and nut

%:DD DD)ﬁ Dd@DDD/

Figure 17. Attaching two adjacent NetBAY42 Rack cabinets to each other to form a suite

1. Remove the side panel and rear filler panel (see [‘Removing and installing]
[NetBAY42 panels” on page 13) from the side of a primary rack cabinet that is
adjacent to an expansion rack in a suite.

2. Remove the front and rear doors (see [‘Removing and installing a NetBAY42)
[door” on page 18) from both rack cabinets.

3. Install the attachment brackets that come with the expansion rack cabinet on
the front and rear of the two adjacent rack cabinets:

a. Insert an attachment bracket into the slots on the front of one of the rack
cabinets as shown in then, insert an attachment bracket into the
slots on the front of the other rack cabinet so that the holes in each bracket
are aligned.

b. Repeat step @to install four sets of attachment brackets on the front and
rear of both rack cabinets. Install attachment bracket pairs near the top and
bottom of the rack cabinets.

c. Use the bolts and nuts that come with the expansion rack cabinet to attach
the rack cabinets to each other.

4. Install the panels that you removed in stepon the expansion rack cabinet.

22 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



5. If required, move the rear-door-latch-bracket from the expansion rack cabinet to
the right side of a rack cabinet that does not have a rear filler panel installed.

Rear-door-latch
bracket

-

SE5Oo50 000 66650 OG0 655 565 D60 GEE 685 557

CoooooEoa

Figure 18. Installing the rear-door-latch-bracket on a rack cabinet

6. Install the front and rear doors on both rack cabinets.

Repeat this procedure if you have other rack cabinets to attach together in a suite.
Managing cables

Always read the instructions that come with your server or optional device for
detailed cable-management information. Use the following general guidelines when
cabling servers or optional devices that you install in a rack cabinet:

Statement 8:

A A

Type 9306 Model 250/420/421 23



DANGER

* Plug power cords from devices in the rack cabinet into electrical outlets
that are located near the rack cabinet and are easily accessible.

» Each rack cabinet might have more than one power cord. Be sure to
disconnect all power cords in the rack cabinet before servicing any
device in the rack cabinet.

» Install an emergency-power-off switch if more than one power device
(power distribution unit or uninterruptible power supply) is installed in
the same rack cabinet.

» Connect all devices installed in a rack cabinet to power devices installed
in the same rack cabinet. Do not plug a power cord from a device
installed in one rack cabinet into a power device installed in a different
rack cabinet.

* Do not run cables in front of or behind other devices that will prevent service
access to those devices.

* Do not bend fiber-optic cable beyond its limited specifications.
» Label all cables so that they are clearly distinguishable from each other.
* When installing devices mounted on slide rails, such as servers:

— Run the cables neatly along equipment cable-management arms and secure
the cables to the arms using provided cable straps.

— Leave enough extra cable so that the device can fully extend without straining
the cables.

— Secure the cables so that the device can retract without pinching or cutting
the cables.

* When installing devices mounted on fixed rails:

— Run the cables neatly along the posts or side rails in the rack cabinet out of
the way of other installed devices.

— Secure the cables with the provided cable straps.

» Ensure that the cables cannot be pinched or cut by the rack cabinet rear door or
other devices.

* Run internal cables that connect devices in adjoining rack cabinets through the
large openings provided in the rear of the rack cabinet.

* Run external cables through the bottom of the rack cabinet or through the
removable section in the top of the rack cabinet.

Cable-management brackets

If your rack cabinet comes with cable-management brackets, you must remove the
indicated screw before you can remove a filler panel from the rack cabinet. You can
install the bracket FRU on either type of rack cabinet. If you install these brackets
on a rack cabinet that did not originally come with them, you cannot use a screw to
secure the filler panels unless you also install the new filler panels.

24  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Note: Make sure that the notch in the cable-management bracket points toward the
front of the rack cabinet when you install the bracket on the rack cabinet.

Cable-management bracket

=

Y

AY

Yy
000
RY

A

Moving a rack cabinet

3]
ﬁ[J / Notch
Y

a

[zl

o

©
@\—@ o @&

2 G

000

sz

1

Fully populated NetBAY25 and NetBAY42 Rack cabinets have been evaluated and
found to meet UL-1950, CSA-950, and IEC-950 stability test standards. Because
these standards apply only to a rack cabinet in an installed location, IBM enforces
additional standards to ensure stability when rolling the rack cabinet on its casters.
See for empty and fully populated rack cabinet weights.

Table 1. NetBAY25 and NetBAY42 Rack cabinet weights

NetBAY25 Primary NetBAY42 Expansion NetBAY42
Empty 81 kg (177 Ib) 117 kg (258 Ib) 92 kg (202 Ib)
Populated | 466 kg (1027 Ib) 763 kg (1678 Ib) 737 kg (1622 Ib)

When you move a rack cabinet, adhere to the following standards:

Statement 8:

A A

Type 9306 Model 250/420/421 25



26

DANGER

Plug power cords from devices in the rack cabinet into electrical outlets
that are located near the rack cabinet and are easily accessible.

Each rack cabinet might have more than one power cord. Be sure to
disconnect all power cords in the rack cabinet before servicing any
device in the rack cabinet.

Install an emergency-power-off switch if more than one power device
(power distribution unit or uninterruptible power supply) is installed in
the same rack cabinet.

Connect all devices installed in a rack cabinet to power devices installed
in the same rack cabinet. Do not plug a power cord from a device
installed in one rack cabinet into a power device installed in a different
rack cabinet.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308




Statement 11:

A

CAUTION:

Removing components from the upper positions in the rack cabinet improves
rack stability during relocation. Follow these general guidelines whenever you
relocate a populated rack cabinet within a room or building:

* Reduce the weight of the rack cabinet by removing equipment starting at
the top of the rack cabinet. When possible, restore the rack cabinet to the
configuration of the rack cabinet as you received it. If this configuration is
not known, you must do the following:

— Remove all devices in the 22U position and above.

— Ensure that the heaviest devices are installed in the bottom of the rack
cabinet.

— Ensure that there are no empty U-levels between devices installed in the
rack cabinet below the 22U level.

» If the rack cabinet you are relocating is part of a suite of rack cabinets,
detach the rack cabinet from the suite.

* Inspect the route that you plan to take to eliminate potential hazards.

» Verify that the route that you choose can support the weight of the loaded
rack cabinet. Refer to the documentation that comes with your rack cabinet
for the weight of a loaded rack cabinet.

» Verify that all door openings are at least 760 x 2083 mm (30 x 82 in.)
* Ensure that all devices, shelves, drawers, doors, and cables are secure.
* Ensure that the four leveling pads are raised to their highest position.
* Ensure that there is no stabilizer bracket installed on the rack cabinet.
* Do not use a ramp inclined at more than ten degrees.
* Once the rack cabinet is in the new location, do the following:
— Lower the four leveling pads.
— Install stabilizer brackets on the rack cabinet.

— If you removed any devices from the rack cabinet, repopulate the rack
cabinet from the lowest position to the highest position.

If a long distance relocation is required, restore the rack cabinet to the
configuration of the rack cabinet as you received it. Pack the rack cabinet in
the original packaging material, or equivalent. Also, lower the leveling pads to
raise the casters off of the pallet and strap the rack cabinet to the pallet.

Type 9306 Model 250/420/421 27



Part Listing (Type 9306)

Index Rack Enclosure (Type 9306) FRU
1 42U Door (Models 420, 421) 06P6074
1 25U Door (Model 250) 32P1008
2 Left Hand and Right Hand Side Stabilizer (Models 420, 421) 06P6077
3 Front Stabilizer (Models 250, 420, 421) 06P6076
4 Braces (Models 250, 420, 421) 06P6063
5 42U - 900 Front Top Cover (Models 420, 421) 06P6064
5 42U -100 Rear Top Cover (Models 420, 421) 06P6065
5 42U - Top Side Gland Plate (Models 420, 421) 06P6066
5 25U - Top Cover (Model 250) 32P1003
6 Front Door Striker Plate (Models 250, 420, 421) 06P6067
7 Left Hand 25U x 200 Single Side Panel (Model 250) 32P1006
7 Right Hand 42U x 200 Single Side Panel (Models 420, 421) 32P1016
8 Left Hand 42U x 200 Single Side Panel (Models 420, 421) 06P6072
8 Right Hand 25U x 200 Single Side Panel (Model 250) 32P1007
9 Left Hand 42U x 800 Single Side Panel (Models 420, 421) 06P6070
9 Left Hand 25U x 800 Single Side Panel (Model 250) 32P1004
10 Right Hand 42U x 800 Single Side Panel (Model 420, 421) 32P1000
10 Right Hand 25U x 800 Single Side Panel (Model 250) 32P1005
11 42U Symm Front Panel MTG. MBR (Models 420, 421) 06P6059
11 25U Symm Front Panel MTG. MBR (Model 250) 32P1009
12 42U Rear Symm Front Panel MTG. MBR (Models 420, 421) 06P6061
12 25U Rear Symm Front Panel MTG. MBR (Model 250) 32P1011
13 42U Base Cross Box (Models 420, 421) 32P1015
13 25U Base Cross Box (Model 250) 32P1013
14 42U x 600 x 1000 Rack Framework Only (Models 420, 421) 06P6054

28 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Index
14
15
16

Rack Enclosure (Type 9306)

25U x 600 x 1000 Rack Framework Only (Model 250)
Swivel Caster (Models 250, 420, 421)

Swivel Caster (Models 250, 420, 421)

Cable management bracket( Model 250)

Cable management bracket( Models 420, 421)
Caster set (Models 250, 420, 421)

Door with round latch (Model 250)

Door with round latch (Models 420, 421)

Door with square latch (Model 250)

Door with square latch (Models 420, 421)

Filler panel, left (Model 250)

Filler panel, left (Models 420, 421)

Filler panel, right (Model 250)

Filler panel, right (Models 420, 421)

Latch, round (Models 250, 420, 421)

Latch, square (Models 250, 420, 421)

Rear Door Striker (Models 250, 420, 421)

Side panel, left (Model 250)

Side panel, left (Models 420, 421)

Side panel, right (Model 250)

Side panel, right (Models 420, 421)

42U Two Color Unit Identification Strip (Models 420, 421)
25U Two Color Unit Identification Strip (Model 250)
Side Panel Sliding Latch (Models 250, 420, 421)
Hinge Pin (Models 250, 420, 421)

Door Lock Assembly (Models 250, 420, 421)

Fixings and Tools (Models 250, 420, 421)

42U Baying Bracket (Models 420, 421)

25U Top Cover Cable Access Hole Cover (Model 250)
25U Top Cover MTG. Bracket Kit (Model 250)

Door Keys (Models 250, 420, 421)

25U Single Color Unit Identification Strip (Model 250)
42U Single Color Unit Identification Strip (Models 420, 421)

FRU
32P1010
06P6055
06P6055
32P1784
32P1785
32P1696
32P1008
06P6074
32P1783
32P1782
32P1778
32P1774
32P1779
32P1781
06P6075
32P1017
06P6068
32P1776
32P1780
32P1777
32P1775
06P6069
32P1012
06P6071
06P6073
06P6075
06P6079
06P6080
2810553
32P1014
32P1002
32P1034
32P1035

Type 9306 Model 250/420/421

29



30 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Type 9306 Models 200/900/910

Type 9306 Models 900/910

Features
The IBM NetBAY22, Type 9306, Model 200 Rack enclosure is a 22-U (1-U = 1.75
inch) industry-standard, 19-inch rack that houses and controls multiple IBM PC
Servers/IBM Servers and related equipment.

Locations

The following sections contain information on specific equipment locations.

Note: For instructions on how to power-off the rack, see [‘Powering off the rack” on|

Side panel
l\~\\
’

@

@
°
©

A

© Copyright IBM Corp. 2001 31



Parts Listing (Type 9306 Model 200)

32 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Index  Rack Enclosure (Type 9306 Model 200) FRU

1 Top Cover including cover standoffs and screws 28L0548
2 Rear EIA Rail (1) includes mounting hardware 28L0547
3 Rack Frame 28L0550
Caster (1) 12J4466
Leveler (1) 76H4960
4 Rear Door Assembly including latch and lock 28L0545
5 Side Panel Assembly with Latches and Lock 28L0549
Side Panel Latches 12J4468
Side Panel Lock with Keys 76H4965
6 Caster Extension Plinth (1) 12J4482
7 Stabilizer 12J4485
8 Front Door Assembly including latch and lock 28L0544
9 Front EIA Rail (1) includes mounting hardware 28L0546
10 Side Brace (1) 1244477
Front/Rear Door Hinge with Pin (1) 76H4966
Front/Rear Door Latch with Lock and Keys (1) 76H4967
Front/Rear Door Striker Plate (1) includes mounting hardware 1244465
Front/Rear Door Hinge Pin (1) 1244469
Grommet, Cable Exit 28L0553
Label, EIA Unit Numbers 28L0551

Miscellaneous Parts Kit - Includes: M6X25 Pan Head Screw (1), M6 Caged Nut (6), M6X16 76H4950
Combination Head Screw (6), 10-32 Flat Washer (6), M6X12 Button Socket Head Cap

Screw (5), 12mm Open End Wrench (1), M6 Tinnerman Clip (2), M6 Threaded Hex Spacer

(1), M6 Dome Nut (2), M6 Flange Nut (5), Soft Tie Wraps (10)

Rack Enclosure (Type 9306 Model 200) Options FRU

Monitor Housing 76H4947
Filler Panels: 1U, 3U, and 5U - with hardware 1244473
Keyboard Tray 76H4958
Keyboard Tray Il 28L0562
Keyboard Tray Il filler block 28L0567
Keyboard Slides (set) with Hardware 76H4961
Fixed Shelf with Hardware 76H4963
C13 - C14 Power Cable 07H0075
C19 - C14 Power Cable 76H4964
C13 - NEMA 5-15P Power Cable 76H4962
C19 - NEMA 5-15P Power Cable 1244479
Video, Mouse, Keyboard Cable (7 feet) 06P6006
Video, Mouse, Keyboard Cable (12 feet) 06P6007
Video, Mouse, Keyboard Power Cable (25 feet) 1244484
Mouse Extension Cable 07H0069
Keyboard Extension Cable 07H0067
Concentrator (4 port) with Hardware 28L0543
Concentrator (8 port) with Hardware 76H4948
1x4 switch 06P6003
2x8 switch 06P6004
NetBAY Rack Power Distribution Unit 09N9668
NetBAY Front-end Power Distribution Unit 09N9670
3-phase NEMA L21-30P line cord (200-250 Vac) for NetBAY Front-end PDU 24P6844
3-phase IEC 309-3P+N+Gnd line cord (380-415 Vac) for NetBAY Front-end PDU 24P6845
1-phase NEMA L5-30P line cord (100-127 Vac) for NetBAY Front-end PDU 24P6846
1-phase NEMA L6-30P line cord (200-240 Vac) for NetBAY Front-end PDU 24P6847
1-phase IEC 309-2P+Gnd line cord (200-240 Vac) for NetBAY Front-end PDU 24P6848
NetBAY Server Dual-cord Power Distribution Unit 09N9669

Type 9306 Models 200/900/910 33



Rack Enclosure (Type 9306 Model 200) Options

Hardware Kit for NetBAY Power Distribution Units

Flat Panel Monitor Rack Mount Kit (T54A, models AG1, AW1; T55)

Flat Panel Adapter Hinge - R.H. & L.H. (T54A, T55)

Flat Panel Adapter Misc. Hardware Kit — Includes: Hinge Cover (1), Power Supply Cover
(1), Mounting Stud (1), Bumper (2), Cable Access Cover (1), M4 X 12 Screw (4), M4 X 8
Screw (2), 14 inch Soft Tie Wrap (1), T54A power supply spacer (1)

Flat Panel Adapter Display Housing — Includes: Power Supply Cover (1), Base Housing (1),
Cable Access Cover (1), Bottom Stand

FRU
09N9671
37.6888
09N9678
OON8693

OON8694

Type 9306 Model 900/910

Features

The IBM Server 9306-900/910 Rack enclosure is an industry-standard, 19-inch rack
that houses and controls multiple IBM PC Servers/IBM Servers and related

equipment.

* Model 900 has optional side panels, solid front door, and perforated rear door.

* Model 910 has side panels and perforated front and rear doors.

Locations

34

The following sections contain information on specific equipment locations.

Note: For instructions on how to power-off the rack, see [‘Powering off the rack” on|

Side Panel

P

® ©

Locked Unlocked

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Perforated Doors (model 910)
The Type 9306 Model 910 Rack comes with front and rear perforated doors that

provide enhanced cooling and airflow for components you install in your rack
cabinet. The 9306 Model 910 Rack also comes with side panels already installed.

Refer to installation instructions in this document if you have a 9306 Model 900
Rack and are installing a new perforated front door.

Note: The illustrations in this documentation might be slightly different from your
hardware.

Installing the new door on a model 900 rack cabinet
Use the following steps to remove your existing front door and install the new
perforated door:

1. Refer to the rack documentation for information on removing side panels; then,
remove the left side panel on the rack and set it aside.

Type 9306 Models 200/900/910 35



2. If the front door is locked, unlock it; then, open the front door.

Locked Unlocked

3. While supporting the door, remove all four hinge pins that hold the front door in
place; then, store the door in a safe place for possible future use.

Note: Save three of the hinge pins for later installation.

|

4. Remove the screw and nut that holds the hinge bracket in place; then,
move the hinge bracket 2 three mounting spaces downward and reinstall it at
the new center location.

ODOODDDTr

OO0 DO D

In}

#

36  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Note: Insert the screw through the bracket and into the lower of the two holes
in the new center location.

5. Remove the other hinge bracket ] and store it with the old door that you
removed earlier.

6. While supporting the new door, use three of the hinge pins that you removed
from the old door to attach the new door to your rack cabinet. Store the fourth
hinge pin with the old door and hinge bracket.

7. Reinstall the left side panel that you removed earlier.

Type 9306 Models 200/900/910 37



Parts listing (Type 9306 Model 900/910)

9

38  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Index Rack Enclosure (Type 9306 Model 900/910) FRU

1 Top Cover including cover standoffs and screws 1244481
2 Rear EIA Rail (1) includes mounting hardware 76H4956
3 Rack Frame 76H4959
Caster (1) 12J4466
Leveler (1) 76H4960
4 Rear Door Assembly including latch and lock 12J4478
5 Side Panel Assembly (option for model 900, standard for model 910) including latches 76H4949
and lock
6 Stabilizer Bar (1) 12J4467
7 Caster Extension Plinth (1) 1244482
8 Front Stabilizer (1) 12J4485
9 Front Door Assembly (model 900 only) including latch and lock 76H4942
9 Front Door Assembly (model 910 only) including latch and lock 12J4478
10 Front EIA Rail (1) includes mounting hardware 76H4951
11 Side Brace (1) 1244477
Front/Rear Door Hinge with Pin (1) 76H4966
Front/Rear Door Latch with Lock and Keys 76H4967
Front/Rear Door Striker Plate (1) includes mounting hardware 12J4465
Front/Rear Door Hinge Pin (1) 12J4469
Label, EIA Unit Numbers 1244471
Miscellaneous Parts Kit - Includes: 76H4950

M6X25 Pan Head Screw (1)

M6 Caged Nut (6)

M6X16 Combination Head Screw (6)
10-32 Flat Washer (6)

M6X12 Button Socket Head Cap Screw (5)
12mm Open End Wrench (1)

M6 Tinnerman Clip (2)

M6 Threaded Hex Spacer (1)

M6 Dome Nut (2)

M6 Flange Nut (5)

Soft Tie Wraps (10)

Rack Enclosure (Type 9306 Model 900/910) Options FRU
Monitor Housing 76H4947
Side Panel Lock with Keys 76H4965
Side Panel Latch 12J4468
Filler Panels: 1U, 3U, and 5U - with Hardware 12J4473
Keyboard Tray 76H4958
Keyboard Tray Il 28L0562
Keyboard Tray Il filler block 28L0567
Keyboard Slides (set) with Hardware 76H4961
Fixed Shelf with Hardware 76H4963
Rack to Rack Mounting Kit - Includes: Horizontal Trim (1); Vertical Trim (2); M6x16 1244476
Screws (12); M6 Cage Nuts (4); M6 Whiz nuts (10); Brackets, Rack Mounting (4)

C13 - C14 Power Cable 07HO0075
C19 - C14 Power Cable 76H4964
C13 - NEMA 5-15P Power Cable 76H4962
C19 - NEMA 5-15P Power CablE 12J4479
Video, Mouse, Keyboard Cable (7 feet) 06P6006
Video, Mouse, Keyboard Cable (12 feet) 06P6007
Video, Mouse, Keyboard Power Cable (25 feet) 1244484
Mouse Extension Cable 07H0069
Keyboard Extension Cable 07H0067

Type 9306 Models 200/900/910 39



40

Rack Enclosure (Type 9306 Model 900/910) Options

Concentrator with Hardware (8 port)

Concentrator with Hardware (4 port)

1x4 switch

2x8 switch

NetBAY Rack Power Distribution Unit

NetBAY Front-end Power Distribution Unit

3-phase NEMA L21-30P line cord (200-250 Vac) for NetBAY Front-end PDU
3-phase IEC 309-3P+N+Gnd line cord (380-415 Vac) for NetBAY Front-end PDU
1-phase NEMA L5-30P line cord (100-127 Vac) for NetBAY Front-end PDU
1-phase NEMA L6-30P line cord (200-240 Vac) for NetBAY Front-end PDU
1-phase IEC 309-2P+Gnd line cord (200-240 Vac) for NetBAY Front-end PDU
NetBAY Server Dual-cord Power Distribution Unit

Hardware Kit for NetBAY Power Distribution Units

Flat Panel Monitor Rack Mount Kit (T54A, models AG1, AW1; T55)

Flat Panel Adapter Hinge - R.H. & L.H. (T54A, T55)

Flat Panel Adapter Misc. Hardware Kit — Includes: Hinge Cover (1); Power Supply
Cover (1); Mounting Stud (1); Bumper (2); Cable Access Cover (1); M4 X 12 Screw
(4); M4 X 8 Screw (2); 14 inch Soft Tie Wrap (1); T54A power supply spacer (1)
Flat Panel Adapter Display Housing — Includes: Power Supply Cover (1); Base
Housing (1); Cable Access Cover (1); Bottom Stand

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308

FRU
76H4948
2810543
06P6003
06P6004
09N9668
09N9670
24P6844
24P6845
24P6846
24P6847
24P6848
09N9669
09N9671
37L6888
09N9678
OON8693

OON8694



Type 9306 Models 4QS, 4QX, 9QS, 9QX, 9TS, 9TX

Features

The 9306 IBM PC Server Rack Enclosure, models 4QS, 9QS, 9TS come in three
primary models.

* 19-inch Quad Primary Server Rack, Model 9QS
* 19-inch Tri Primary Server Rack, Model 9TS
* 24-inch Quad Primary Server Rack, Model 4QS

A Quad Primary Server Rack can house up to four IBM PC Servers. The Tri
Primary Server Rack can house up to three IBM PC Servers.

Both Quad and Tri Primary Server Racks provide a built in server selector which
connects to one set of console devices (monitor, keyboard, and mouse.) The server
selector works independently from the server’s operating systems, enabling the
connected servers to run different operating systems.

These IBM 9306 PC Server Rack Enclosure models are shipped preassembled and
pre-cabled.

IBM PC Server expansion rack models

Three optional IBM PC Server Rack Expansion models are available to expand the
capacity of the IBM PC Server Rack Primary Enclosure. The optional IBM PC
Server Rack Expansion models are:

* 19-inch Quad Expansion Rack, Model 9QX
* 19-inch Tri Expansion Rack, Model 9TX
* 24-inch Quad Expansion Rack, Model 4QX

The IBM PC Server Rack Expansion models allow the installation of up to four
more servers using the Primary IBM PC Server Rack monitor, keyboard, and
mouse.

Locations

The following sections contain information on specific equipment locations.

Note: For instructions on how to power-off the rack, see [‘Powering off the rack” on|

Server selector console
To remove the Server Selector Console:
1. Power-off the rack.
2. Use an 1/8-inch allen wrench to remove screws.

3. Disconnect the server selector cable from the back of the server selector
console.

4. Remove the server selector console from the cabinet.

© Copyright IBM Corp. 2001 41



Server
Monitor Selector
Bezel Console

/ \/\

T |[—

Server Server Server
Selector Selector Selector
Keypad Electronics Cable

Server selector unit

The server selector unit is located in the upper rear of the rack cabinet. The server
selector unit can only be accessed or removed from the rear of the IBM Rack
cabinet.

CAUTION:
The server selector unit is heavy. You will need two people to safely remove
the server selector unit. See [“Safety notices (multilingual translations)” on|

To remove the server selector unit:

1. Power-off the rack.

2. Unplug the keyboard, mouse, video cables, and the power cord.
3. Remove the server selector console.
4

With one person bracing the server selector unit from below, have the second
person use a 5/16-inch wrench to remove the four nuts that secure the server
selector unit to the rack cabinet.

5. Remove the server selector unit from the cabinet.

Note: When replacing the server selector unit, be sure that the Server Selector
cable is fed through the indentation along the left side of the server selector
unit.

P

Server gz:’(\e]gtror
Selector Unit
Cable

42 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Connections

AC Power

Input
Server Rack Server Server Selector
Monitor Monitor Unit On-Off
Connection Connections Switch

gg:sgction Server Keyboard
and Mouse
Server Rack Connections
Keyboard
Connection

Power distribution unit

Note: For information and installation instructions for the IBM NetBAY Rack Power
Distribution Units, see [‘Installing Optional Devices” on page 101['.

Note: To remove the power distribution unit, you might need to remove the right
side cabinet panel, the server installed in sliding tray 2 (in the primary IBM
PC Server Rack), or sliding tray 5 (in the IBM PC Server Expansion Rack).

To remove the power distribution unit:
1. Power-off the rack.
2. Disconnect all power plugs from the power distribution unit.

3. Using a Phillips screwdriver, remove the four screws from the front of the power
distribution unit.

Note: These screws are held in place by nuts and washers. Hold the nut while
you are unscrewing the screw to prevent the nut and washer from falling
into the bottom of the cabinet.

4. Remove the power distribution unit from the cabinet.

Type 9306 Models 4QS, 4QX, 9QS, 9QX, 9TS, 9TX 43



—
-
% TN AC Power
- Input
| | ls P
AC Fuse — |
Circuit
Breaker 2
115V AG 5 AC Power
o Output

Power-On Hipd
Indicator )
Voltage 2
Selection
Switch )@ /
230V AC
Power-On e
Indicator e

=

Cooling fan

44

To remove the cooling fan:

1.
2.
3.
4

5.

Power-off the rack.
Open the rear door of the rack cabinet.
Disconnect the power plug from the rear of the cooling fan.

Use a 5/16-inch wrench to remove the eight nuts that secure the cooling fan to
the top of the rack cabinet.

Remove the cooling fan from the cabinet.

Note: When installing the fan, make sure that the green and yellow ground wire is

attached to one of the top fan mounting screws and that the strain-relieving
clamp is attached to another. The power cable should be secured by the

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Sliding trays

strain-relieving clamp.

)

!
)

)

Q- -
(— @

Pt

Models 4QS and 4QX come with either single latch slide rails or dual latch slide
rails. Single latch slide rails have a front latch release on the right rail only. Dual
latch slide rails have a front latch release on both rails. The slide rail FRU number
for the 24-inch rack replaces the single latch slide rail with the dual latch slide rail.

Note: If a server is installed on a tray being removed, first remove the server.

Single latch rail tray
To remove a sliding tray with single latch rails:

1. Power-off the rack.

2. Open the rear door of the rack cabinet and remove the pin that secures the
sliding tray to the cable management arm

3. Loosen the thumbscrews [ on the sliding tray and fully extend the sliding tray.

4. Use a 3/32-inch allen wrench to remove the five screws from the left side of
the sliding tray.

5. Lift the rear locking tab [} and push the sliding tray approximately two inches
into the cabinet.

6. Release the forward locking tab [J . Then, while holding the sliding tray in
place, use your other hand to grasp the outside sliding rail [§ and push it into
the rack cabinet until it disconnects from the sliding tray.

Type 9306 Models 4QS, 4QX, 9QS, 9QX, 9TS, 9TX 45



Dual latch rail tray
To remove a sliding tray with dual latch rails:

1.
2.

Power-off the rack.

Open the rear door of the rack cabinet and remove the pin that secures the
sliding tray to the cable management arm.

Loosen the thumbscrews [ on the sliding tray and fully extend the sliding tray.

Push in on the spring of the right rear locking tab and push the sliding tray
approximately two inches into the cabinet.

Release both left and right forward locking tabs [ . Then, while holding the
sliding tray in place, push both left and right outside sliding rails [ into the
rack cabinet until it disconnects from the sliding tray.

Note: Left side view for [[] and [l are not shown.

Sliding rails

This procedure is for single latch sliding rails and dual latch sliding rails.

For single latch sliding rails, the right rail is the one that has the front latch. The left
rail does not have a front latch.

For dual latch sliding rails, the right rail is the one that has the rear latch. The left
rail does not have a rear latch.

To remove the sliding rails:

1.
2.

Power-off the rack.

Remove the sliding tray that is attached to the sliding rails that you want to
remove. See [‘Sliding trays” on page 45

Use a 3/32-inch allen wrench to remove the four screws that secure each of the
sliding rails to the rack cabinet.

46 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Note: You will need to adjust the position of the sliding rail in order to line up the
access holes over the locations of the screws.

Keyboard tray

To remove the keyboard tray:
1. Power-off the rack.

2. Disconnect the keyboard and mouse cables from the keyboard and mouse
extension cables.

3. Remove the keyboard and mouse from the keyboard tray.
4. Pull the keyboard tray straight out of the rack cabinet.

Type 9306 Models 4QS, 4QX, 9QS, 9QX, 9TS, 9TX 47



Parts listing (Type 9306 — 19-inch) Models 9QS, 9TS and 9QX, 9TX
This parts listing is for Models 9QS, 9TS and 9QX, 9TX

4
8
7 9
ﬂ 5 6 I
e 10
3 11

12 g
=

-
w

—_
N

48 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Index  19-Inch Rack Enclosure (Type 9306) FRU

1 Adapter Plate Options:
PS/2 Server 85/95 76H3733
Model 300 76H3734
Model 500, 700 76H3734
2 Monitor Stand 07H0061
3 Server Selector Cable 07H0036
4 Blank Bezel (9QX, 9TX Expansion units only) 76H0379
5 Monitor Bezel with button label 76H0378
6 Server Selector Keypad 07H0097
7 Monitor Housing (19-inch) 76H0377
8 Server Selector Unit Electronics 07H0034
See [‘Safety inspection guide” on page 229]
9 Internal Cables 06P6007
See Cable Kit Shelf Server
10 Cable Management Arm 76H0386
11 Cable Management Arm Single Server Tray 76H0387
12 Pin, Cable Management Arm 07H0089
13 Fan 220 V ac with Power Cord 07H0063
14 Latch, Rear Door 76H0376
15 Rear Door (19-Inch) 76H0373
15 Hinge Set for Rear Door 76H0389
16 External Power Cord:
Australia 14F1559
Europe 14F1554
Israel 14F1561
Italy 14F1560
New Zealand 14F1558
South America, India 14F1557
U.K./Denmark 14F1555
USA 14F1553
External Power Cord Option - 6 Ft. 07H0094
17 Left/Right Side Panel 76H0374
18 Caster 76H3626
19 NetBAY Rack Power Distribution Unit 09N9668
19 NetBAY Front-end Power Distribution Unit 09N9670
3-phase NEMA L21-30P line cord (200-250 Vac) for NetBAY Front-end PDU 00N7720
3-phase IEC 309-3P+N+Gnd line cord (380-415 Vac) for NetBAY Front-end PDU O00N7721
1-phase NEMA L5-30P line cord (100-127 Vac) for NetBAY Front-end PDU 00N7722
1-phase NEMA L6-30P line cord (200-240 Vac) for NetBAY Front-end PDU O0ON7723
1-phase IEC 309-2P+Gnd line cord (200-240 Vac) for NetBAY Front-end PDU OON7724
19 NetBAY Server Dual-cord Power Distribution Unit 09N9669
Hardware Kit for NetBAY Power Distribution Units 09N9671
Power Distribution Unit 07H0424
19 250 V Slow Blow Fuse 0303549
20 Keyboard Slides, (one pair) 07H0038
21 Leveling Foot (Qty. 1) 76H0390
22 Stabilizing Bar 76H0375
23 Keyboard Tray, 19-Inch 76H0381
24 Slide Rails, Server Tray (one pair) 07H0083
24 Slide Rails, Dual Tray (one pair) 76H0383
25 19-inch Front Compartment Door (19-Inch by 26-Inch) Includes Hinge Set and Screws 76H0371
26 Door Hinge Set 76H0372
27 Door Valance (9QX, 9TX, Expansion units only) 76H0380
28 Mouse Table 07H0079

Type 9306 Models 4QS, 4QX, 9QS, 9QX, 9TS, 9TX 49



Index  19-Inch Rack Enclosure (Type 9306)

29 Dual Server Tray

29 Dual Server Shelf

30 Single Server Tray
19-Inch Single Slide Shelf for an Industry Standard 19-Inch Rack.
Cable, SVGA-Video (15 Feet) Option
Monitor Power Cable (connects from monitor to Power Distribution Unit)
Rack Keyboard Cable (connects from Keyboard Drawer to Server Selector Unit)
Rack Mouse Cable (connects from Keyboard Drawer to Server Selector Unit)

Rack Enclosure Kits (Type 9306)

Bolt-Together Kit (19-Inch to 24-Inch, 24-Inch to 19-Inch)
* 19-Inch Attachment Bracket (2 each)

» Screw 1/4-20 x 1/2 Button Head Socket Cap Allen (8 each)
» Screw 1/4-20 x 1-1/4 Socket Cap (4 each)

» Flanged Nut 1/4-20 (12 each)

* 24-Inch Attachment Bracket (4 each)

Cable Kit Shelf Server (12- foot cables)

* Monitor Cable

» Keyboard Cable

* Mouse Cable

* Internal Power Cable

Cable Kit Top Shelf Server (7-foot cables)

* Monitor Cable

» Keyboard Cable

* Mouse Cable

* Internal Power Cable

Miscellaneous Parts Kit

» Rack Nut/Holder 10-32 (8 each)

» Keeper Nut 8-32 Zinc (8 each)

» Keeper Nut 10-32 (6 each)

» Screw 6-32 x 5/16 (2 each)

» Screw 6-32 x 1/4 Button Head Socket Cap Allen (8 each)
» Screw 10-32 x 3/8 Button Head Socket Cap (8 each)
» Screw 6-32 x 3/8 Button Head Socket Cap (2 each)

» Screw 1/4-20 x 1/2 Button Head Socket Cap (2 each)
» Screw 8-32 x 1/4 Button Head Socket Cap Allen (4 each)
» Screw 10-32 x 1/4 Button Head Socket Cap (2 each)
» Screw 8-32 x 1/4 Button Head Socket Cap (8 each)

* Pull-ring, 3-Inch (2 each)

» Shoulder Screw 8-32 x 3/8 (2 each)

» Standoff,.25 Hex, 6-32 FF,.5-Inch (2 each)

« Screw 8-32 x 3/8 Button Head Socket cap (2 each)

» Screw 10-24 x 1/4 Button Head Socket Allen (2 each)
» Screw 10-24 x 5/16 Button head Socket Allen (2 each)
» Keeper Nut 8-32 (2 each)

* Nut 8-32 (2 each)

» Captive Weld Nut (2 each)

» Whiz-Lock Flange Nut 1/4-20 (2 each)

» Keeper Nut 10-32 (2 each)

* Bumpers (2 each)

» Cable Ties (8 each)

Server Tray Interlock Kit

» Cam (1 each)
* Spring (1 each)

50 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308

FRU
76H0382
76H0385
76H0384
76H3628
76H3736
07H0075
07H0067
07H0069

FRU
76G3627

06P6007

06P6006

07H0057

07HO0091



Parts listing (Type 9306 — 24-inch) Models 4QS, 4QX
This parts listing is for Models 4QS and 4QX.

10 44

12
13

=

14

15

Type 9306 Models 4QS, 4QX, 9QS, 9QX, 9TS, 9TX 51



52

Index 24-Inch Rack Enclosure (Type 9306)
1 Adapter Plate Options:
PS/2 Server 85/95
Model 300
Model 500, 700

2 Monitor Stand
3 Server Selector Cable
4 Blank Bezel (4QX Only)
5 Monitor Housing (24-Inch)
6 Server Selector Keypad
7 Rack Frame
8 Spacer (see Spacer Kit, right side at end of this FRU list)
9 Server Selector Unit Electronics See "Safety Notice (Multi-lingual Translations) See
|‘Safety notices (multilingual translations)” on page 198}
10 Internal Cables (see Cable Kit Top Shelf Server and Cable Kit Bottom Shelf Server)
11 Cable Management Arm
12 Pin, Cable Management Arm
13 Fan 220 V ac with Power Cord
14 Rear Door Latch/Lock with Key and Bracket
15 Rear Door (24-Inch)
16 External Power Cord:
Australia
Europe
Israel
Italy
New Zealand
South America, India
U.K./Denmark
USA
External Power Cord Option - 6 Ft.
17 Left/Right Side Panel
18 NetBAY Rack Power Distribution Unit
18 NetBAY Front-end Power Distribution Unit
18 NetBAY Server Dual-cord Power Distribution Unit
Hardware Kit for NetBAY Power Distribution Units
18 Power Distribution Unit
250 V Slow Blow Fuse
19 Keyboard Slides, 24-Inch (one pair)
20 Leveling Feet (Qty. 4)
21 Stabilizing Leg
22 Keyboard Drawer, 24-Inch (with Slides and Brackets)
23 Slide Rails, Server Tray (one pair)
24 24-Inch Front Compartment Door (24-Inch by 26-Inch)
25 Door Hinge Set
26 Door Valance (4QX Only)
27 Handle, Server/Keyboard Tray
28 Server Tray
29 Mouse Table
30 Shelf, Server Tray, 24-Inch

Cable, SVGA-Video (15 Feet)

Monitor Power Cable (connects from monitor to Power Distribution Unit)

Rack Keyboard Cable (connects from Keyboard Drawer to Server Selector Unit)
Rack Mouse Cable (connects from Keyboard Drawer to Server Selector Unit)

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308

FRU

76H3733
76H3734
76H3735
07H0061
07H0036
07H0066
07H0065
07H0097
N/A
07H0059
07H0034

07H0087
07H0089
07H0063
07HO0055
07H0047

14F1559
14F1554
14F1561
14F1560
14F1558
14F1557
14F1555
14F1553
07H0094
07H0049
09N9668
09N9670
09N9669
09N9671
07H0424
0303549
07H0038
07HO0053
07H0051
07HO077
07H0083
07H0058
07H0045
07H0068
07H0085
07HO0081
07HO0079
07H0093
76H3736
07HO075
07H0067
07H0069



Rack Enclosure Kits 24-inch (Type 9306) FRU
Bolt-Together Kit (19-Inch to 24-Inch, 24-Inch to 19-Inch) — includes: 19-Inch 76G3627
Attachment Bracket (2 each); Screw 1/4-20 x 1/2 Button Head Socket Cap; Allen (8

each); Screw 1/4-20 x 1-1/4 Socket Cap (4 each); Flanged Nut 1/4-20 (12 each);

24-Inch Attachment Bracket (4 each)

Cable Kit Shelf Server (12 foot cables) — includes: Monitor Cable; Keyboard Cable; 07H0073
Mouse Cable; Internal Power Cable
Cable Kit Top Shelf Server (7 foot cables) — includes: Monitor Cable; Keyboard Cable; 07H0071
Mouse Cable; Internal Power Cable
Miscellaneous Parts Kit — includes: Rack Nut/Holder 10-32 (8 each); Keeper Nut 8-32 07H0057

Zinc (8 each); Keeper Nut 10-32 (6 each); Screw 6-32 x 5/16 (2 each); Screw 6-32 x

1/4 Button Head Socket Cap; Allen (8 each); Screw 10-32 x 3/8 Button Head Socket

Cap; (8 each); Screw 6-32 x 3/8 Button Head Socket Cap; (2 each); Screw 1/4-20 x 1/2

Button Head Socket Cap; (2 each); Screw 8-32 x 1/4 Button Head Socket Cap; Allen (4

each); Screw 10-32 x 1/4 Button Head Socket Cap; (2 each); Screw 8-32 x 1/4 Button

Head Socket Cap; (8 each); Pull-ring, 3-Inch (2 each); Shoulder Screw 8-32 x 3/8 (2

each); Standoff, .25 Hex, 6-32 FF, .5-Inch (2 each); Screw 8-32 x 3/8 Button Head

Socket cap; (2 each); Screw 10-24 x 1/4 Button Head Socket Allen; (2 each); Screw

10-24 x 5/16 Button head Socket Allen; (2 each); Keeper Nut 8-32 (2 each); Nut 8-32 (2

each); Captive Weld Nut (2 each); Whiz-Lock Flange Nut 1/4-20 (2 each); Keeper Nut

10-32 (2 each); Bumpers (2 each); Cable Ties (8 each)

Server Tray Interlock Kit — includes: Cam (1 each); Spring (1 each) 07H0091
Spacer Kit, Right Side — includes: Rack Joiner (8 each); Spacer, Top and Bottom, 07H0059
34-Inch (1 each); Spacer, Body 70-Inch (2 each); Screw 10-32 x 3/8 Button Head

Socket cap; (8 each); Screw 1/4-20 x 1/2 Button Head Socket cap; (8 each); Whiz-Lock

Flange Nut 1/4-20 (8 each); Screw 6-32 x 3/8 Button Head Socket Cap; (6 each)

Type 9306 Models 4QS, 4QX, 9QS, 9QX, 9TS, 9TX 53



54  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



NetBAY 42 Enterprise Rack (Type 9308 Models 42P, 42X, 4SA,
4SB, 42S, 42E)

Features

The IBM NetBAY 42 Enterprise Rack (Type 9308 — Models 42P, 42X, 4SA, 4SB,
42S, 42E) enclosure is an industry-standard, 19-inch rack cabinet that houses
multiple IBM servers and related equipment.

© Copyright IBM Corp. 2001 55



56

Primary Rack (Model 42P)

/z\%\

-

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308

@ 1\




Extension Rack (Model 42X)

°

NetBAY 42 Enterprise Rack (Type 9308 Models 42P, 42X, 4SA, 4SB, 425, 42E) 57



Primary Rack (42S)

58 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Expansion Rack (42E)

L e e N A
| @ a ¢
a4q ¢
U 7%l
aa gl
Uy | §~f
S || ]
m I
O ==
Boy e r— d
— oooozggggga‘wg
—t
0 ]
! 9q ¢l
0 C
Uy g £
o : ¢
U o

Locations

The following sections contain information on specific equipment locations.

The primary rack cabinet comes with side panels installed. Remove the side panels
from a primary rack cabinet, or the outermost rack cabinets in a suite, before you
install or remove optional devices.

Note: You do not need to remove the top 6U side panels unless you are removing
the top 6U portion of the rack cabinet.

Removing and installing panels

Removing and installing the side panels
Use the following procedure to remove the rack side panels:

NetBAY 42 Enterprise Rack (Type 9308 Models 42P, 42X, 4SA, 4SB, 425, 42E) 59



Release latches

~§ 11| Side panel locking bar

[
Vo

!

o

|

|“1\'
—

|

OO0 00000000 Q

4=
ittt il el

i
I——="Fr

]
oo F——H

uuuuu

J\\\\\\\\\\\\\\Il\lII\II\7

Figure 19. Removing the rack side panels

1. From the inside of the rear of the rack cabinet, slide the side panel locking bar
toward the unlocked position.

2. Push down the release latches and tilt the side panel slightly toward you; then,
lift the side panel away from the tabs on the bottom of the rack cabinet.

3. Repeat this procedure to remove both side panels.

Reverse this procedure to install the rack side panels. Slide the locking bar to the
locked position to secure the side panel to the rack cabinet.

Removing and installing the top 6U side panels

Use the following procedure to remove the top 6U side panels from the rack
cabinet:

60 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Figure 20. Removing the top 6U side panels from the rack cabinet

1. On the top of the rack cabinet, loosen the four screws that hold each side panel
in place.

2. Tilt the side panel slightly toward you; then, remove it from the rack cabinet.

3. Repeat this procedure to remove both side panels.

Reverse this procedure to install the top 6U side panels on the rack cabinet.

Doors

The following instructions describe how to remove and install front and rear doors
on the NetBAY42 Enterprise Rack (Type 9308 Models 42P, 42X, 4SA, 4SB, 42S,
42E):

NetBAY 42 Enterprise Rack (Type 9308 Models 42P, 42X, 4SA, 4SB, 425, 42E) 61



Front and rear doors — Models 42P, 42X, 4SA, 4SB

To remove a door:
1. Unlock the door and open it fully.

2. Grasp the door firmly with both hands and lift it upwards until it is fully off of
the hinges H .

Notes:
1. Reverse this procedure to reinstall front and rear doors.

2. The top hinge pin is longer than the bottom; engage it first when you reinstall
doors.

62 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Rear door — Models 42S, 42E
Use the following procedure to remove a rear door from the rack cabinet:

Rear door

T
o
@

eeeee

%
Bottom M E—
hinge pin

Figure 21. Removing a rear door from the rack cabinet

1. Unlock and open the rear door.

2. Grasp the door firmly with both hands and lift it upward and away from the
hinges; then, set the door aside.

Reverse this procedure to install the rear door on the rack cabinet.
Attention: The bottom hinge pin on the rear door is longer than the top hinge

pin. Ensure that you engage the bottom hinge pin first when you install a rear door
on your rack cabinet.

Front door — Models 42S, 42E
Use the following procedure to remove a front door from the rack cabinet:

NetBAY 42 Enterprise Rack (Type 9308 Models 42P, 42X, 4SA, 4SB, 42S, 42E) 63



Front door

5000000000 00000
| | | I I

Hinge pin

IBM PC Server/Enterprise Racks Types 9306, 9308

Hinge pin

Figure 22. Removing a front door from the rack cabinet

Hardware Maintenance Manual:

64



1. Unlock and open the front door.

2. While supporting the door, lift the bottom hinge-pin latch and move it clockwise
to unlock the bottom hinge pin; then, unlock the top hinge pin.

3. Pull the door away from the rack cabinet; then, set the door aside.
Reverse this procedure to install the front door on the rack cabinet.

Attention:  When you install the front door, ensure that you align the hinge pins
with the hinges on the rack cabinet before you lock the hinge pins into place.

Removing and installing the top 6U portion of the rack
You can temporarily remove the top 6U portion (including the top cover) of the rack
cabinet while you move the rack cabinet through some nonstandard doorways. You
must first remove both doors according to ['Doors” on page 61|

You will need two people to remove and install the top 6U portion of the rack
cabinet according to the following procedure:

=™

Front support bar

Rear support bar

VoA A

NI %4
Figure 23. Removing the top 6U portion of the rack cabinet

1. Install support bars on the front and rear of the rack cabinet, using two screws
per support bar.

2. Remove the 16 screws (eight per side) that hold the top 6U portion of the rack
cabinet in place.

NetBAY 42 Enterprise Rack (Type 9308 Models 42P, 42X, 4SA, 4SB, 42S, 42E) 65



3. Relocate your rack cabinet; then, install the top 6U portion of the rack cabinet
using all 16 of the screws that you removed.

4. Remove both support bars from the rack cabinet.

Installing the stabilizer bracket
T

To lower the leveling feet and install the stabilizer bracket:
1. Lower each of the four feet just enough so that they touch the floor.

Note: The rack casters will support the weight of the 9308 rack. The feet
prevent the rack from rolling.

2. Secure the stabilizer bracket [ to the front of the rack with the screws that
come with the rack.

Attaching rack cabinets in a suite

Expansion rack cabinets come with all the hardware required for you to attach rack
cabinets together and form a suite. Use the following procedure to attach rack
cabinets together in a suite:

66 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



/)

I

|
I

o

He——
=@iemm! )-

|
=I1

R e e b b e I GG o000 CET 0 O]
[ A A

o
\
= 1ell—

Ty v v v Y 1 1 1 1T 1 T T T T T 1 T
2090000 9 Y

S SRR SN S SRS SR SN SRS el L e L e Lotk
X S S S S S W S S S S S I

Trim piece

Threaded standoff
Bolt and washer

Figure 24. Attaching two adjacent rack cabinets to each other to form a suite

1.

Remove both side panels (see|‘Removing and installing the side panels” on|

from the side of a primary rack cabinet that is adjacent to an

expansion rack in a suite.

Remove the front and rear doors (see [‘Doors” on page 61) from all rack

cabinets.

On the outside of two adjacent rack cabinets, install the four threaded standoffs

that come with the expansion rack cabinet:

a. Install two threaded standoffs on the rack cabinet to the left, one on the
top-front and one on the bottom-rear.

b. Install the other two threaded standoffs on the rack cabinet to the right, one
on the bottom-front and one on the top-rear.

Attach the rack cabinets together, using four bolts and washers that come with
the expansion rack cabinet.

Note: You must install the top-front and bottom-rear bolts from right-to-left;
then, install the bottom-front and top-rear bolts from left-to-right.

NetBAY 42 Enterprise Rack (Type 9308 Models 42P, 42X, 4SA, 4SB, 425, 42E) 67



8.

Snap the trim pieces into place between the adjacent rack cabinets. Install one
trim piece in the front and one in the rear.

Repeat step@ through stepfor all other adjacent rack cabinets in the suite.

On the outside of the outermost expansion rack cabinets in the suite, install the
side panels that you removed in step 1.

Install the front and rear doors on all rack cabinets.

Installing L-channel support rails to rack mounting brackets

1.

Use the following illustration of the front and rear rack mounting flanges to
determine the appropriate rack-mounting holes for installing cage nuts or clip
nuts to secure the rails. From left to right, the illustration shows the front and
rear flanges respectively.

1O O O
O OO0

g 1Ny W pmEn
HEHEHEHEEHE

Front Rear

68 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Note: Use clip nuts if your rack has circular holes. If your rack has square
holes, you can use the rack-insertion tool or a flat-blade screwdriver to
install cage nuts.

Cage
nut

Clip
nut

(@000@00@@00@@

On the rail marked R, loosen the four screws ﬂ

Hold the rail against the outside of the right rack-mounting flange, and loosely
insert the two front M6 screws Y.

Extend the rail outside of the rear rack-mounting flange; then, install and tighten
two rear M6 screws [J.

Tighten the two front screws [} ; then, tighten the four screws H .

Repeat step 2 through step 5 to install the rail marked L on the left side of the
rack.

NetBAY 42 Enterprise Rack (Type 9308 Models 42P, 42X, 4SA, 4SB, 425, 42E) 69



6. Loosely insert one M5 screw into each rail.

Statement 5

A

218 kg (37 Ibs) =32 kg (70.5 Ibs) =55 kg (121.2 Ibs)
CAUTION:
Use safe practices when lifting.

7. Slide the expansion unit into the rack, and insert the M6 screws [f. Do not
overtighten the M6 [ screws.

8. Tighten the rear screws H .

70  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Parts listing (Type 9308 Model 42P, 42X)

Index

Rack Enclosure (Type 9308 Model 42P, 42X, 4SA, 4SB, 42S, 42E)
Top Cover Assembly including cover standoffs and screws (All models)
Cabinet Frame (All models)

Front Door w/Lock (Models 42P, 42X)

Rear Door w/Lock (Models 42P, 42X)

Front Door w/Lock (Models 42S, 42E)

Rear Door w/Lock (Models 42S, 42E)

Front Door (Models 4SA, 4SB)

Rear Door (Models 4SA, 4SB)

Stabilizer Foot, Black (All models)

Door Hinges (50mm) (Models 42P, 42X)

Front Door Hinge (Models 42S, 42E)

Rear Door Hinges (20mm) (All models)

Door Hinge (Models 4SA, 4SB)

Lower Side Cover (Models 42P, 4SA, 42S)

Upper Side Cover (Models 42P, 4SA, 42S)

Caster, Fixed (1) w/mounting hardware (All models)

Caster, Swivel (1) w/mounting hardware (All models)

Door Latch w/Lock (All models)

Front Door Striker (2) w/mounting screws (Models 42P, 42X, 42S, 42E)
EIA Mounting Flange Label,1-42U, Decorative (All models)

EIA Mounting Flange Label, 1-36U, Plain (All models)

EIA Mounting Flange Label, 37-42U, Plain (All models)

Leveler Foot (4) w/jam nut (All models)

Miscellaneous Hardware Kit - Includes: clip nut (25); screw, M6 Hex Head (25); tie - soft
(15) (All models)

Rack to Rack Mounting Kit, Black (Models 42X, 4SB, 42E)

Leveling foot wrench (All models)

Rack Enclosure (Type 9308 Model 42P, 42X, 4SA, 4SB, 42S, 42E) Options
Monitor Housing

Side Panel Latch

Filler Panels: 1U, 3U, and 5U - with Hardware
Keyboard Tray

Keyboard Tray Il

Keyboard Tray Il filler block

Keyboard Slides (set) with Hardware

Fixed Shelf with Hardware

C13 - C14 Power Cable

C19 - C14 Power Cable

FRU
05N4896
05N4895
05N4897
05N4899
09N9694
06P6047
05N4899
05N4899
05N4920
05N4901
09N9695
05N4902
05N4902
05N4905
05N4906
05N4915
05N4916
05N4903
05N4904
05N4917
05N4918
05N4919
05N4914
05N4922

05N4908
05N4927

FRU
76H4947
12J4468
1244473
76H4958
28L0562
28L0567
76H4961
76H4963
07HO0075
76H4964

NetBAY 42 Enterprise Rack (Type 9308 Models 42P, 42X, 4SA, 4SB, 425, 42E) 71



Rack Enclosure (Type 9308 Model 42P, 42X, 4SA, 4SB, 42S, 42E) Options FRU

C13 - NEMA 5-15P Power Cable 76H4962
C19 - NEMA 5-15P Power Cable 1244479
Video, Mouse, Keyboard Cable (7 feet) 06P6006
Video, Mouse, Keyboard Cable (12 feet) 06P6007
Video, Mouse, Keyboard Power Cable (25 feet, non-locking) 12J4484
Mouse Extension Cable 07H0069
Keyboard Extension Cable 07H0067
Concentrator with Hardware (8 port) 76H4948
Concentrator with Hardware (4 port) 28L0543
1x4 switch 06P6003
2x8 switch 06P6004
NetBAY Rack Power Distribution Unit 09N9668
NetBAY Front-end Power Distribution Unit 09N9670
3-phase NEMA L21-30P line cord (200-250 Vac) for NetBAY Front-end PDU 24P6844
3-phase IEC 309-3P+N+Gnd line cord (380-415 Vac) for NetBAY Front-end PDU 24P6845
1-phase NEMA L5-30P line cord (100-127 Vac) for NetBAY Front-end PDU 24P6846
1-phase NEMA L6-30P line cord (200-240 Vac) for NetBAY Front-end PDU 24P6847
1-phase IEC 309-2P+Gnd line cord (200-240 Vac) for NetBAY Front-end PDU 24P6848
NetBAY Server Dual-cord Power Distribution Unit 09N9669
Hardware Kit for NetBAY Power Distribution Units 09N9671
Flat Panel Monitor Rack Mount Kit Il (Option) T540 - 9511 - AG4(15" Analog Monitor, 37L6888

Stealth Black), 9511 - AW4 (15" Analog Monitor, White) T54A- 9511 - AG1(15" Analog
Monitor, Stealth Black), 9511 - AW1 (15" Analog Monitor, White) T55A-9513 -AG1(15"
Analog Monitor, Stealth Black), 9513 - AW1 (15" Analog Monitor, White)

Flat Panel Adapter Hinge - R.H. & L.H., (T54A, T55) 09N9678
Flat Panel Adapter Misc. Hardware Kit — Includes: Hinge Cover (1); Power Supply Cover OON8693
(1); Mounting Stud (1); Bumper (2); Cable Access Cover (1); M4 X 12 Screw (4); M4 X 8

Screw (2); 14 inch Soft Tie Wrap (1); T54A power supply spacer (1)

Flat Panel Adapter Display Housing — Includes: Power Supply Cover (1); Base Housing (1); O0N8694
Cable Access Cover (1); Bottom Stand

72  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



NetBAY3 enclosure

Features

The IBM NetBAY3 enclosure provides a convenient 3-U high by 24-inch deep
storage cabinet for the installation of computer devices.

Note: Vertical measurements are given in rack units (U). One U is equal to 4.45
cm (1.75-inches).

Up to three NetBAY3 enclosures can be stacked under certain IBM servers.
Devices such as the IBM EXP10, an uninterruptable power supply (UPS), or various
telecommunications equipment can also be installed in a NetBAY3 enclosure.

Locations

The following sections contain information on specific equipment locations.

Important:
* The maximum server weight is 77 kg (170 Ib.).

* Refer to the latest IBM Server Hardware Maintenance Manual when
servicing the server.

» Assure all power and signal cables are routed properly and are not
pinched.

* Make sure NetBAY3 enclosures in a stack are securely fastened
together.

» Servers are lifted onto and off of the NetBAY3 enclosure. Make sure
you have help when lifting.

» Servers are lifted onto and off of the NetBAY3 enclosure. Make sure
you have help when lifting.

Casters

» Two fixed casters at the front of the NetBAY3 enclosure.
+ Two swivel casters [ at the rear of the NetBAY3 enclosure.

© Copyright IBM Corp. 2001 73



Foot pads

Front cover

74  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



eSS x

Note: Make sure empty NetBAY3 enclosures (no devices installed) have the rear
cover securely attached.

Rear panel

NetBAY3 enclosure 75



Device side rails

Stacking NetBAY3 enclosures

Note: Make sure NetBAY3 enclosures in a stack are securely fastened together.

76  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Note: The maximum server weight is 77 kg (170 Ib.).

NetBAY3 enclosure 77



Parts Listing (NetBAY3)

78

Index NetBAY3 Enclosure (NetBAY3)
1 3-U Enclosure Frame
Front Bezel Assembly with Lock and Keys
Foot Pads Qty. 4
Casters Fixed, Front, Qty. 2
Casters Swivel, Rear, Qty. 2
3-U Blank Panel
Miscellaneous Parts Kit - Includes:
* M6 Caged Nuts (2)
» M6X16 Combination Head Screw (2)
» M6X14 Flanged Hex Head Screw (2)

* M5 Flange Nut (2)

a b~ b oOND

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308

FRU
03K8797
03K8798
03K8800
1243279
1243283
03K8799
03K9056



NetBAY3E enclosure

Features

The IBM NetBAY3E enclosure provides a convenient 3-U high by 28-inch deep
storage cabinet for the installation of computer devices.

Note: Vertical measurements are given in rack units (U). One U is equal to 4.45
cm (1.75-inches).

Up to three NetBAY3E enclosures can be stacked under certain IBM servers.
Devices such as the IBM EXP10, an uninterruptable power supply (UPS), or various
telecommunications equipment can also be installed in a NetBAY3E enclosure.

Important:
* The maximum server weight is 77 kg (170 Ib.).

» Refer to the latest IBM Server Hardware Maintenance Manual when
servicing the server.

» Assure all power and signal cables are routed properly and are not
pinched.

* Make sure NetBAY3E enclosures in a stack are securely fastened
together.

* Make sure empty NetBAY3E enclosures (no devices installed) have
the rear cover securely attached.

» Servers are lifted onto and off of the NetBAY3E enclosure. Make
sure you have help when lifting.

Locations

The following sections contain information on specific equipment locations.

Casters

» Two fixed casters [} at the front of the NetBAY3E enclosure.
+ Two swivel casters [ at the rear of the NetBAY3E enclosure.

© Copyright IBM Corp. 2001 79



Front cover

Types 9306, 9308

IBM PC Server/Enterprise Racks

80



Rear panel

Note: Make sure empty NetBAY3E enclosures (no devices installed) have the rear
cover securely attached.

Device side rails

Stacking NetBAY3E enclosures

Notes:
1. Make sure NetBAY3E enclosures in a stack are securely fastened together.

2. When stacking an enclosure on top of another, you must attach them together
before you install any device in the upper enclosure.

NetBAY3E enclosure 81



Important:

» Always lock the casters with the caster stabilizer bar before removing
or installing any devices in or on the enclosure.

« Always use the caster stabilizer when multiple NetBAY3E enclosures
are stacked under a server.

Notes:
1. The maximum server weight is 77 kg (170 Ib.).
2. Always install a server on the top enclosure in a stack.

Carefully lift the server by its handles and align its mounting holes with the
NetBAY3E enclosure mounting studs H .

82 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Parts listing (NetBAY3E)

Index

AW WD

NetBAY3E Enclosure (NetBAY3E)

3-U Enclosure Frame

Front Bezel Assembly with Lock and Keys
Casters Fixed, Front, Qty. 2

Casters Swivel, Rear, Qty. 2

3-U Blank Panel

Caster Stabilizer

Miscellaneous Parts Kit - Includes:

Hotswap Planar Clamp (1)

M6 Caged Nut (2)

M6X16 Combination Head Screw (2)
M4X6 Slotted Pan Head Screw (2)
M6X10 Flanged Hex Head Screw (2)
Cage Nut Insertion Tool (1)

M5 Flange Nut (1)

M3.5X7 Flanged Hex Head Screw (1)

FRU
28L0571
03K8798
1243279
1243283
03K8799
09N7417
28L0574

NetBAY3E enclosure

83



84  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



1U Flat Panel Monitor Console Kit

The IBM NetBAY Flat Panel Monitor Console Kit is a flat panel monitor and
keyboard tray in one solution. An optional space-saver keyboard fits inside the front
of the keyboard tray. The monitor and keyboard tray occupy only 1U of rack
mounting space inside of a rack cabinet. You can also install a console switch
behind the tray to attach more than one server to the flat panel monitor and
keyboard.

Note: There is no room to store a mouse in the keyboard tray. A mouse is not
required, because the space-saver keyboard has a built-in pointing device.

The Flat Panel Monitor Console Kit comes with the following items:
* One keyboard tray with built-in flat panel monitor

* One left-side console switch mounting bracket

S

* One right-side console switch mounting bracket

» Two keyboard or mouse extension cable

* One 2.8 m (9 ft.) power cord

© Copyright IBM Corp. 2001 85



» Miscellaneous hardware kit (for attaching console switch brackets and installing
the keyboard tray in a rack cabinet)

* Two self-adhesive hook-and-loop fastener strips
» Cable straps

* One CD containing monitor drivers

* Monitor documentation

* IBM NetBAY Rack Safety Information book

* This documentation

Note: Some kits come with an optional space-saver keyboard, keyboard
documentation and CD containing keyboard and mouse drivers.

You will need the following tools to install the Flat Panel Monitor Console Kit:
* One utility knife or scissors
* One number 2 Phillips screwdriver

Refer to the documentation that comes with your rack cabinet or console switch for
further information about those products.

Note: The illustration in this documentation might be slightly different from your
hardware.

86 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Installing the Flat Panel Monitor Console Kit

The Flat Panel Monitor Console Kit occupies 1U of rack mounting space in a rack
cabinet. You can install an optional console switch, using the brackets that come
with this kit, in the same 1U of rack mounting space.

Attention: The Flat Panel Monitor Console Kit comes already assembled. You
must have at least 3U of rack mounting space available in your rack cabinet to
install the kit. After you install the Flat Panel Monitor Console kit, you can install
other devices in your rack cabinet above or below the Kit.

Installing the flat panel monitor and keyboard tray

Two people are required to install the flat panel monitor and keyboard tray. Use the
following procedure to install the kit in a rack cabinet:

Statement 4:

A A

DANGER

Electrical current from power, telephone, and communication cables is
hazardous.

To avoid a shock hazard:

* Do not connect or disconnect any cables or perform installation,
maintenance, or reconfiguration of this product during an electrical
storm.

» Connect all power cords to a properly wired and grounded electrical
outlet.

» Connect to properly wired outlets any equipment that will be attached to
this product.

* When possible, use one hand only to connect or disconnect signal
cables.

* Never turn on any equipment when there is evidence of fire, water, or
structural damage.

» Disconnect the attached power cords, telecommunications systems,
networks, and modems before you open the device covers, unless
instructed otherwise in the installation and configuration procedures.

« Connect and disconnect cables as described in the following table when
installing, moving, or opening covers on this product or attached
devices.

To Connect: To Disconnect:

Turn everything OFF. Turn everything OFF.
First, attach all cables to devices.
Attach signal cables to connectors.
Attach power cords to outlet.

Turn device ON.

First, remove power cords from outlet.
Remove signal cables from connectors.

>N~

Remove all cables from devices.

A A

1U Flat Panel Monitor Console Kit 87



1. Refer to the documentation that comes with your rack cabinet for additional
information.

Notes:
a. Removing rack doors and side panels might make installation easier.

b. Use cage nuts for rack cabinets with square holes, or clip nuts for rack
cabinets with round holes.

COOOOOTOOOOO OO

88  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



2. Place the tray on a stable flat surface; then, carefully cut the cable straps on
the cable-management arm and slide rail to release the bundled cables. Move
the power cords out of the way, but keep them nearby for later in the
installation procedure.

Attention: The video cable is already connected to the flat panel monitor. Be
careful as you install the tray in the rack cabinet that you do not pinch or cut
the video cable.

Cables

Cable tie

3. Fully extend the tray; then, carefully lift the rear of the flat panel monitor and
raise the monitor to the full upright position.

4. To remove the cable cover from the tray, remove the cable-cover screw; then,
slide the cover toward the front of the tray until the tab on the tray can fit
through the slot on the cover. Lift the cable cover from the tray and set it aside

1U Flat Panel Monitor Console Kit 89



to install later in this procedure.

Cable cover

Tab

5. Ensure that the keyboard and mouse cable is routed through the slots on the
bottom of the keyboard.

6. Peel the protective strip from the hook-and-loop fastener strip inside the
keyboard storage area; then, route the keyboard and mouse connectors
through the small round opening on the right side of the tray.

Note: Pull the full length of the cable through the opening.

7. To install the keyboard in the tray, align the top slot on the rear of the keyboard
with the back edge of the large rectangular opening in the front of the tray;
then, carefully rotate the front of the keyboard down and into the tray.

90 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



8.

10.

Note: When the keyboard is installed correctly, it will sit flat inside of the tray
and not extend above or below the 1U height of the tray.

Route the keyboard and mouse cable beside the video cable and towards the
cable-management arm. Route both cables through the cable clamp.

Secure the keyboard and mouse cable to the cable-management arm using
the existing cable straps; then, install the cable cover that you removed earlier.

Carefully push the flat panel monitor down to the storage position; then, slide
the tray halfway inward.

1U Flat Panel Monitor Console Kit 91



11. Loosen the four rail-adjustment screws on both rear slide-rail brackets; then,
extend the brackets to their maximum outward adjustment.

Note: You must remove the screw that attaches the cable-management arm to
the left-rear bracket in order to adjust the left slide rail.
Right-rear

adjustment
screws

Left-rear

adjustment
screws Cable-management arm

12. Use the following illustration to guide you as you install either cage nuts or clip
nuts for the 1U location that you chose to install your flat panel monitor and
keyboard tray. Use the cage nuts or clip nuts from the miscellaneous hardware
kit.

Note: The miscellaneous hardware kit is shipped with the 1U Flat Panel
Monitor Console kit.

L] L] L] L]
vl ] Lo u[] Ju
0 _L O _ L

L] L] L] L]
ul ] [Ju ul ] [Ju
U L _L L
vill [ I vill [

Front Rear

13. Slide the tray all the way inward; then, with one person at the front of the rack
cabinet, and one person at the rear of the rack cabinet, carefully tilt the flat
panel monitor and keyboard tray at an angle and slide it into the rack cabinet.

Note: Ensure that the rear slide-rail brackets extend outside of the rear rack
cabinet mounting flanges, and the front slide-rail brackets are outside of
the front rack cabinet mounting flanges.

000
000

000
000

100

00

92  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



14. Adjust the rear slide-rail brackets to fit the depth of your rack cabinet; then,
attach the brackets to the rack cabinet using four screws from the
miscellaneous hardware Kkit.

Note: Do not install screws in the slide-rail middle holes. These holes are for
the optional console switch mounting bracket.

Y]
S

Elaf=fetayof=taf=ferfalel=lalulal=l==]=]=t=l=F=t=l=t=l==lal=]=T=/=]=F= =]
Doooooooouooooo 000 oo

f
e ]
]DE\DDDDDDDDDDV/ I\

e

15. Install the screw that attaches the cable-management arm to the left slide-rail
bracket; then, tighten all four slide-rail-adjustment screws.

Right-rear
adjustment
screws

ODD0 00 @UE000 000000000000 000000

Left-rear Cable-management arm
adjustment

screws

1U Flat Panel Monitor Console Kit 93



16. To attach the front of the tray to the rack cabinet, pull the tray halfway out of
the rack cabinet so that you can access the front of the rails; then, use four of
the screws from the miscellaneous hardware kit to secure the slide-rail
brackets to the rack cabinet.

Note: Do not install screws in the slide-rail middle holes. These holes are for
the security screws on the front of the tray.

U o
. 3]
U 3]
0 g

Lo a
: :
0

= O o
0 0]

g
g 0
0 d 0
/g )
E o
O
7 = =
/[%
E;
o
ES

\\g
0
O

M 0
8]

]
0
0
0
]
8]
o ° o .

17. Connect the keyboard and mouse connectors to the extension cables that
come with this kit; then, connect a power cord to the power supply.

18. Connect the keyboard, video, and mouse connectors to either a server or a
console switch in your rack cabinet; then, connect the power cord to a properly
grounded electrical outlet. Neatly route cables within your rack cabinet and
secure them with cables straps along the way.

19. Refer to the flat panel monitor documentation that comes with this kit for
information about operating your monitor. Refer to the space-saver keyboard
documentation for information about operating your keyboard.

Note: When the monitor and keyboard are not in use, or if your rack cabinet is in a
vibration-prone area, tighten the security screws on the front of the tray to
secure the tray inside the rack cabinet.

P%%%%Q

Security screw

RSN TN S 3

If you are installing an optional console switch continue to |“Instal|ing an optional|
lconsole switch” on page 95|

94  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Installing an optional console switch

You can use a console switch to attach more than one server to a single monitor
and space-saver keyboard. The console switch option is available separately, but
custom mounting brackets come with this kit. You can use the brackets and
instructions that come with the console switch for other installation options.

Installing the console switch behind the Flat Panel Monitor Console Kit is an
alternative that allows you to store the console switch in the same 1U space as the
flat panel monitor and keyboard tray. You must use the brackets that come with this
kit to install the console switch behind the tray.

Attention: The console switch will extend beyond the rear rack mounting flanges
when you install the switch behind the tray. You must have a NetBAY25, NetBAY42,
NetBAY42 Enterprise, NetBAY22 with Rack Extension Kit, Netfinity 9306 Model 900
with Rack Extension Kit, or similar rack cabinet.

Use the following procedure to install a console switch behind the tray:

1. Attach the left-side bracket to the left side of the console switch using two 8-32
screws; then, attach the right-side bracket to the right side of the console
switch. Ensure that the brackets are installed as shown in the following
illustration.

Note: The left-side bracket has a channel for you to route the keyboard, video,
and mouse cables. Ensure that you attach the brackets to the console
switch so that the channel on the left-side bracket faces upward.

Console switch

Right-side bracket

Left-side bracket

2. Lift the power supply from the power supply storage bracket; then, use one of
the self-adhesive hook-and-loop fastener strips to attach the power supply to
your rack cabinet.

Note: The power supply cable is already connected to the flat panel monitor
and routed through the cable-management arm. There is extra cable so

1U Flat Panel Monitor Console Kit 95



that you can move the power supply over a short distance.

| CO—

5000000 60SEI0 000000006 R 60N0 000 BOB 00 6

?DDE\DDDDDDDD ooooo.

(

Power supply

\
Soooooooooof@uEo

Power supply
storage bracket

3. To remove the power supply storage bracket from the cable-management arm,
remove the two screws and pull the bracket away from the arm. Store the parts
in a safe place for possible future use.

96 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



4. Install the console switch behind the flat panel monitor and keyboard tray using
two screws from the miscellaneous hardware kit.

il

[

Console
switch screw

Njooooocooooooooooooooo

Console
switch screw

oo iSEBloo poonooooonnon ooooooooooo

Dooooo

5. Route the keyboard, video, and mouse cables through the slot in the left-side
bracket on the console switch; then, connect the keyboard, video, and mouse
connectors to the console switch.

6. Refer to the documentation that comes with your console switch for information
about connecting your flat panel monitor, space-saver keyboard, and servers to
the console switch.

1U Flat Panel Monitor Console Kit 97



98 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Parts listing (Type 9306 Model OPT)

1U Flat Panel Monitor Console Kit 99



Index Rack Enclosure (Type 9306 Model OPT) FRU

1 1U Rack Mount Monitor without Keyboard (Optional) 32P1098
2 Slides, with Mounting Bracket (Optional) 32P1099
3 Cable Management Bracket (Optional) 32P1601

100 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Installing Optional Devices

There are many servers and optional devices that you can install in your NetBAY25
or NetBAY42 Rack cabinet. Always read the documentation that comes with your
server or optional device for detailed installation instructions.

Note: You can install many optional devices using the general instructions provided
in this chapter. All illustrations in this chapter are of NetBAY42 Rack
cabinets, but the same procedures apply to NetBAY25 Rack cabinets. Some
devices might require more detailed information contained in the
documentation that comes with the optional device.

/=

Console switch

L ¥ — i Fibre Channel RAID

controller unit
SP switch

— Blank filler panel

T
000

T

Monitor shelf

[0}

[0}

9lal

)

SO

Fibre Channel hub

s

Small server

Keyboard tray
Storage expansion unit

Large server

Figure 25. Installing optional devices in the NetBAY42 Rack cabinet

© Copyright IBM Corp. 2001 101



Installing devices on the rack cabinet mounting flanges

When you install optional devices in the rack cabinet, secure the device on rack
mounting flanges. Some devices come with threaded rails or threaded bars for the
rails. Other devices require that you use cage nuts to install the device in your rack
cabinet.

When you install optional devices in the rack cabinet, use the following standards:

Statement 2:

A

DANGER

« Always lower the leveling pads on the rack cabinet.
* Always install stabilizer brackets on the rack cabinet.

* Always install servers and optional devices starting from the bottom of
the rack cabinet.

* Always install the heaviest devices in the bottom of the rack cabinet.

Statement 3:

A

DANGER

* Do not extend more than one sliding device at a time.

* The maximum allowable weight for devices on slide rails is 80 kg
(176 Ib). Do not install sliding devices that exceed this weight.

Statement 4:

A A

102 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



DANGER

Electrical current from power, telephone, and communication cables is
hazardous.

To avoid a shock hazard:

* Do not connect or disconnect any cables or perform installation,
maintenance, or reconfiguration of this product during an electrical
storm.

» Connect all power cords to a properly wired and grounded electrical
outlet.

+ Connect to properly wired outlets any equipment that will be attached to
this product.

* When possible, use one hand only to connect or disconnect signal
cables.

* Never turn on any equipment when there is evidence of fire, water, or
structural damage.

» Disconnect the attached power cords, telecommunications systems,
networks, and modems before you open the device covers, unless
instructed otherwise in the installation and configuration procedures.

« Connect and disconnect cables as described in the following table when
installing, moving, or opening covers on this product or attached
devices.

To Connect: To Disconnect:

Turn everything OFF.
First, attach all cables to devices.
Attach signal cables to connectors.

Turn everything OFF.
First, remove power cords from outlet.
Remove signal cables from connectors.

P wbd =

Attach power cords to outlet. Remove all cables from devices.

Turn device ON.

AN

Statement 5:

A

= 18 kg (39.7 Ib) = 32 kg (70.5 Ib) = 55 kg (121.2 Ib)

CAUTION:
Use safe practices when lifting.

Installing Optional Devices 103



Statement 6:

A

CAUTION:
Do not place any object on top of a rack-mounted device unless that
rack-mounted device is intended for use as a shelf.

Installing threaded rails or bars

You must install devices that have threaded holes or devices rails that have
threaded holes on the inside of the rack mounting flanges. You can, however, install
devices or device rails that come with threaded bars on the inside or the outside of
the rack mounting flanges. See the device documentation for detailed information
on how to use threaded rails or bars.

Installing cage nuts

You must use cage nuts for all optional devices that do not have threaded holes.
Cage nuts install on the inside of the rack mounting flanges with either the
cage-nut-insertion tool or a flat-blade screwdriver. The cage-nut-insertion tool comes
with the rack cabinet and some optional devices.

Note: The rack cabinet comes with a supply of cage nuts that you can use to
install optional devices. Most devices that require them will come with cage
nuts.

Some devices might require that you install clip nuts on the rail instead of cage nuts
on the rack mounting flanges. See the device documentation for information on
when you must install the clip nuts.

Using the cage-nut-insertion tool
Use the following procedure to install a cage nut with the cage-nut-insertion tool:

\
\
\
\

a

o

\
\
Y et

\

Cage-nut-insertion tool

Rack mounting
flange

\
\
a

e

\
VooooIo

\

Figure 26. Installing cage nuts with the cage-nut-insertion tool

1. Determine the hole in which you want to install the cage nut.

104 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



2. From the inside of the rack mounting flange, insert one edge of the cage nut

into the hole.
3. Push the tool through the hole and hook the other edge of the cage nut.

4. Pull the tool and the cage nut back through the hole to complete the installation

of the cage nut.

Using a flat-blade screwdriver

Clip Nuts

Use the following procedure to install a cage nut with a flat-blade screwdriver:

Figure 27. Installing cage nuts with a flat-blade screwdriver

1. Determine the hole in which you want to install the cage nut.

2. Hold the cage nut in one hand and compress the cage nut clip with a flat-blade
screwdriver.

3. With the clip compressed, push the edge of the cage nut fully into the hole from
the inside of the rack mounting flange.

4. Release the screwdriver pressure on the clip to lock the cage nut into place.

Use clip nuts if your rack has circular holes. If your rack has square holes, you can
use the rack-insertion tool or a flat-blade screwdriver to install cage nuts.

Cage
nut

Clip
nut

(0@@@@@@000@0@

Installing Optional Devices 105



Installing an uninterruptible power supply

106

The uninterruptible power supply (UPS) comes with standard rack mounting
brackets installed and can occupy either 3U or 5U of space in your rack cabinet,
depending upon the UPS model. Support rails also come with some UPS models.
See the documentation that comes with the UPS for detailed installation
instructions.

Attention:  The batteries inside of the UPS are disconnected before packaging
the UPS. In some UPS models, the batteries are also not installed. See the
documentation that comes with your UPS for detailed instructions on how to install

and connect the batteries before you turn on or install the UPS in your rack cabinet.

Use the following general procedure to install a UPS in your rack cabinet:

Statement 8:

A A

DANGER

* Plug power cords from devices in the rack cabinet into electrical outlets
that are located near the rack cabinet and are easily accessible.

» Each rack cabinet might have more than one power cord. Be sure to
disconnect all power cords in the rack cabinet before servicing any
device in the rack cabinet.

 Install an emergency-power-off switch if more than one power device
(power distribution unit or uninterruptible power supply) is installed in
the same rack cabinet.

» Connect all devices installed in a rack cabinet to power devices installed
in the same rack cabinet. Do not plug a power cord from a device
installed in one rack cabinet into a power device installed in a different
rack cabinet.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308




[ET=I=l=(=|=f=l='=Y={='=Y=t=laful=le]=}ale]

oooooooao

nnnnn

Rear of rail

Front of rail

Figure 28. Installing a UPS

107

Installing Optional Devices



1. Use the template that comes with the UPS to determine where to install clip
nuts that come with the UPS.

2. If you are installing rails, do the following:
a. Adjust the length of the rails to fit the depth of the rack cabinet.
b. Install clip nuts on the rail instead of the rack mounting flanges.

c. Install the rails on each side of the rack cabinet, using the screws and
washers that come with the UPS.
3. Slide the UPS into the bottom of your rack cabinet; then, attach the UPS to the
rack mounting flanges using clip nuts and M6 screws.

4. See the UPS and other optional device documentation for information on how to
connect cables.

Installing a power distribution unit

The power distribution unit (PDU) comes with mounting brackets so that you can
install it vertically in the side of your rack cabinet, or horizontally in 1U of rack
mounting space. When choosing an installation location, ensure that power cables
from other devices can reach the PDU. See the documentation that comes with the
PDU for detailed installation instructions.

Statement 8:

A A

DANGER

* Plug power cords from devices in the rack cabinet into electrical outlets
that are located near the rack cabinet and are easily accessible.

« Each rack cabinet might have more than one power cord. Be sure to
disconnect all power cords in the rack cabinet before servicing any
device in the rack cabinet.

 Install an emergency-power-off switch if more than one power device
(power distribution unit or uninterruptible power supply) is installed in
the same rack cabinet.

» Connect all devices installed in a rack cabinet to power devices installed
in the same rack cabinet. Do not plug a power cord from a device
installed in one rack cabinet into a power device installed in a different
rack cabinet.

108 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Power Distribution Unit

Note: For information and installation instructions for the IBM NetBAY Rack Power
Distribution Units, see [‘Installing Optional Devices” on page 101}

o e e e s e e e e e e e s e e

@@ o\ =\ e

FRONT

Figure 29. Power Distribution vertical installation

Installing Optional Devices 109



DDUUDDE

%
E
E
@‘

i
|
|

Figure 30. Power distribution horizontal installation

Note: There are two types of Power distribution units available:
* High voltage
* Low voltage

Installing a PDU vertically

Use the following general procedure to install a PDU vertically in the side of your
rack cabinet:

Vertical mounting plate
with PDUs

cooo
[—]
| S—

0O00O00OOOoeSS00000000000000000

=
=

Seoo

=
D

[
f

" .n/.

)
® Sk gseae
{3

Cable-management bracket

/

SoDoooooan
c

Figure 31. Installing a PDU vertically in a rack cabinet

1. See the PDU documentation for detailed installation information.

Note: If the PDU has a circuit breaker switch, verify that the switch is in the Off
position before you install the PDU in your rack cabinet.

110 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



5.

Attach PDUs to the vertical mounting plate that comes with the PDU.

Install the vertical mounting plate in the side of your rack cabinet with the M6
screws and nuts that come with the PDU.

If the PDU comes with a cable-management bracket, install the bracket beside
the vertical mounting plate with the M6 screws that come with the PDU.

See the PDU documentation for information on how to connect cables.

Installing a PDU horizontally

Use the following general procedure to install a PDU horizontally in a rack cabinet:

PDUs

\

Blank filler panel

o
LN
Sy
oo
o
N

SNEGOG 000 G0 TNONOOBEEA0YaY » PRBG0BEDNOR0 D BUE 60

0DCODCONOONCOoOguCOooNNood § RPOOC00OC0OO0CO0CO000n0 000000000

See the PDU documentation for detailed installation information.

Note: If the PDU has a circuit breaker switch, verify that the switch is in the Off
position before you install the PDU in your rack cabinet.

Attach PDUs to the horizontal mounting brackets that come with the PDU.

Install the horizontal bracket and PDU assembly in your rack cabinet with the
M6 screws and cage nuts that come with the PDU.

If the PDU comes with a blank filler panel, install the filler panel on the front of
the rack cabinet with the M6 screws that come with the PDU.

See the PDU documentation for information on how to connect cables.

Installing a server

A small server can occupy up to 5U of rack mounting space. A large server can
occupy 8U or more of rack mounting space. Most servers also come with
cable-management arms so that you can neatly route any cables that you attach to
your server. See the documentation that comes with your server for detailed
installation instructions.

Installing Optional Devices 111



Installing a large server
Use the following general procedure to install a PDU horizontally in a rack cabinet:

Cable-management arm

Rear of rail

Front of rail

Server handles

1. See the server documentation for detailed installation information.

2. Use the template and rack mounting instructions that come with your server to
determine where to install cage nuts.

3. Install the slide rails and cable-management arm that come with your server,
using the provided screws and cage nuts.

Note: If required, adjust the length of the rails to fit the depth of your rack
cabinet.

4. Install the server handles; then, lift the server and place it on the extended rails.

5. Attach the server to the slide rails with the provided screws; then, remove the
server handles and slide the server into the rack cabinet.

6. See your server documentation for information on how to connect cables.

Installing a small server
Use the following general procedure to install a small server in your rack cabinet:

112  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



jum
\ \

\

\

Rluiateu ainwin)

Server screws

Figure 32. Installing a small server

1. See the server documentation for detailed installation information.

2. Use the template and rack mounting instructions that come with your server to
determine where to install cage nuts.

3. Install the slide rails and cable-management arm that come with your server,
using the provided screws and cage nuts.

Note: If required, adjust the length of the rails to fit the depth of your rack
cabinet.

4. Lift the server and place it on the extended rails; then, attach the server to the
slide rails with the provided screws.

5. See your server documentation for information on how to connect cables.

Installing Optional Devices 113



Installing a storage expansion unit

Storage expansion units install on fixed rails in your rack cabinet and occupy 3U of
rack mounting space. See the documentation that comes with your expansion unit
for detailed installation instructions. Use the following general procedure to install a
storage expansion unit in your rack cabinet:

Rail adjustment screws
- /

Rear of rail

Figure 33. Installing a storage expansion unit

1. See the expansion unit documentation for detailed installation information.

2. Attach the rails to the front and rear of the rack cabinet, adjusting the length of
the rails to fit the depth of your rack cabinet, if required.

Note: You might need to install rails for some expansion units on the inside of
the rack mounting flanges.

3. Slide the expansion unit onto the rails; then, attach the front of the expansion
unit to the rack mounting flanges with cage nuts and M6 screws.

Note: Some expansion units have a separate front bezel that you must install
before attaching the front of the expansion unit to the rack cabinet.

4. Attach the rear of the expansion unit to the rails, using the screws that come
with the expansion unit.

5. See your expansion unit documentation for information on how to connect
cables.

114  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Installing a Fibre Channel RAID controller unit

The Fibre Channel RAID controller unit installs on fixed rails in the rack cabinet and
occupies 4U of rack mounting space. See the documentation that comes with your
controller for detailed installation instructions. Use the following general procedure
to install a Fibre Channel RAID controller unit in your rack cabinet:

Rear of rail

Controller unit

Controller unit
Screws

\

\

\
S\

\@.

\

4 54 @

\

jninjulauiz{unjuiun]nieuie]

Front of rail

Figure 34. Installing a Fibre Channel RAID controller unit

6.
7.

See the controller unit documentation for detailed installation information.

Attach the rails to the front and rear of the rack cabinet, adjusting the length of
the rails to fit the depth of your rack cabinet, if required.

Note: You might need to install rails for some controller units on the inside of
the rack mounting flanges.

Remove the front bezel from the controller unit.

Remove all drives, fans, and power supplies to reduce the weight of the
controller unit; then, slide the empty controller unit onto the rails.

Attach the controller unit to the rack mounting flanges using cage nuts and M6
screws; then, reinstall the drives, fans, and power supplies.

Snap the front bezel back into place on the controller unit.
See the controller unit documentation for information on how to connect cables.

Installing a Fibre Channel hub

The Fibre Channel hub and fixed mounting tray occupies 1U of space in your rack
cabinet. See the documentation that comes with your hub for detailed installation
instructions. Use the following general procedure to install a Fibre Channel hub in
your rack cabinet:

Installing Optional Devices 115



Hub

Filler panel

Sooooo

e

Rear of shelf

77— Filler panel screws
Shelf screws

Soooooooooodp

fa— |
J
C0R00000000800508000800000000000000000 000000000 800000000
e

Figure 35. Installing a Fibre Channel hub

1. See the hub documentation for detailed installation information.
2. Attach the hub to its mounting tray with the four screws provided.

3. Install the tray and hub in the rear of the rack cabinet, using M6 screws and
cage nuts that come with the hub.

4. Attach the filler panel to the front of the rack cabinet, using M6 screws and cage
nuts that come with the hub.

5. See the hub documentation for information on how to connect cables.

Installing an SP switch

116

The SP™ switch installs on fixed rails in your rack cabinet and occupies 2U of rack
mounting space. See the documentation that comes with the switch for detailed
installation instructions. Use the following general procedure to install an SP switch
in a rack cabinet:

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



i
)
{Y

g
=l
8 -
0 = 8
i ||| ¢
g 8
0| o
. L ——|
Rear of rail J— B——.coooccooc® ok
0 E/ :
- )i :
o 9 3 SP switch
_gr g 5
o 0 i
B & LR
o =
? T
[x]
E oooooo g
o El E Screws’
9 N
ol 0|
; i
E
E
5] O
g :
g '
o ol
gl
8|
|
gl
8|
9

Front of rail

Figure 36. Installing an SP switch

1. See the switch documentation for detailed installation information.

2. Attach the rails to the front and rear of the rack, adjusting the length of the rails
to fit the depth of your rack cabinet if required.

3. Slide the switch onto the rails and attach the switch to the rack mounting
flanges, using the M6 screws and cage nuts that come with the switch.

4. See the switch documentation for information on how to connect cables.

Installing a fixed shelf

You can install a fixed shelf inside of your rack cabinet to hold some devices. A
fixed shelf can support a device that weighs up to 45 kg (100 Ib), and occupies only
1/2U of space in your rack cabinet.

Note: The actual amount of space you use in your rack cabinet depends on the
height of the optional device that you put on the shelf, in addition to the
space taken by the shelf itself.

Use the following general procedure to install a fixed shelf in your rack cabinet:

Installing Optional Devices 117



Shelf bracket

conoooooooooooo oo

Goooo0o00
——
{
0

o0
©o6 g
nnnnn
0.
LY

> 45 kg (100 Ib)

OJ
=
A
=
g
0.
O
O
O
]

ooqjjoooosaonoo

DDDTDDmDDD
c
7
7
/
/
/
/
| V

D0 0ONO0N000NDNNACO0O00000000000000000000000000000000 000000

Figure 37. Installing a fixed shelf

1. Determine the location for the fixed shelf within the rack cabinet.

2. Attach the shelf brackets that come with the rack cabinet to the rear of the shelf
(one on the left-side, and one on the right-side); then, attach the brackets to the
rear of the rack cabinet using two screws per bracket.

3. Attach the front of the shelf to the rack mounting flanges using M6 screws and
cage nuts.

4. See the documentation that comes with the optional device that you want to put
on the shelf to ensure that it does not exceed the 45 kg (100 Ib) weight limit for
this shelf.

118 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Installing a keyboard tray

The keyboard tray can hold a standard keyboard or a space-saver keyboard, and
occupies 1U of space in your rack cabinet. With a space-saver keyboard, there is
also room for a flat panel monitor and the optional flat panel monitor rack mount kit
as shown in ['Installing a flat panel monitor rack mount kit’}

The keyboard tray can support up to 11 kg (24 Ib). See the documentation that
comes with your keyboard tray for detailed installation instructions. Use the
following general procedure to install a keyboard tray and keyboard in your rack
cabinet:

coocooo ococoooooo

=P

Figure 38. Installing a keyboard tray and keyboard

1. Determine the location for the keyboard tray within the rack cabinet.

2. Attach the rails to the front and rear of the rack cabinet, adjusting the length of
the rails to fit the depth of the rack cabinet if required.

3. Slide the keyboard tray onto the rails; then, store the keyboard in the area
provided.

4. See the keyboard documentation for information on how to connect it to a
server or console switch.

Installing a flat panel monitor rack mount kit

You can store a T540, T54, or T55 Flat Panel Monitor in a keyboard tray with the
flat panel monitor rack mount kit. This kit requires an additional 2U of space above
an installed keyboard tray in your rack cabinet. See the documentation that comes
with the flat panel monitor rack mount kit for detailed installation instructions. Use
the following general procedure to install a flat panel monitor in your rack cabinet:

Installing Optional Devices 119



Rear screws

Keyboard tray

o
o,
o
© o
o
o
© o
o
o
o

00000000000 0NDO00000000000000000000000000000000000000000

Figure 39. Installing a flat panel monitor rack mount kit

1.

Ensure that a keyboard tray is properly installed in your rack cabinet (see
[Installing a keyboard tray” on page 119) with at least 2U of clearance above the
keyboard tray.

Install the flat panel monitor base on the flat panel monitor. See the
documentation that comes with your flat panel monitor rack mount kit for
detailed installation instructions.

Install the mounting studs and bumpers on the keyboard tray.

Attach the monitor base to the inside of the keyboard tray using the screws that
come with the rack mount kit.

Fold the monitor all the way down against the bumpers; then, slide the keyboard
tray into the rack cabinet to ensure that there is proper clearance.

See the flat panel monitor documentation for information on how to connect
power, and how to connect the monitor to a server or console switch.

Installing a monitor shelf

The monitor shelf can support a monitor that weighs up to 34 kg (75 Ib), and
occupies 4U of space in your rack cabinet. Space is provided in the rear of the
monitor shelf so that you can install a console switch according to ['IBM NetBA

[Console Switch” on page 121|

Note: The actual amount of space used in your rack cabinet depends on the height

of the monitor that you put on the shelf, in addition to the space taken by the
shelf itself. Some monitors might require up to 10U of space in your rack
cabinet.

120 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



See the documentation that comes with your monitor shelf for detailed installation
instructions. Use the following general procedure to install a monitor shelf in your
rack cabinet:

oooooooooooooooooooo

)

o cooood

>34 kg (75 Ib)

[l -1 - =0
ol -1 =0

of - |- =0

Rear shelf
bracket

Monitor shelf

J

\

000000000 ooo ooo né[m

DX

7000 600 ooo000 000 006 Oog

Soooooooooooo

\
\

\
\

\
\

{jujujnujujnujuizujuiuuie)

\

jujnujnisuiuinnieiuu)

t

b

Front of shelf

Figure 40. Installing a monitor shelf

1. Determine the location for the monitor shelf in your rack cabinet.

2. Attach the rear shelf bracket to the rear of the rack cabinet using two M6
screws and cage nuts per side.

3. Place the monitor shelf inside the rack cabinet resting on the rear shelf bracket;
then, attach the front of the monitor shelf to the front of the rack cabinet using
three M6 screws and cage nuts per side.

4. Place a monitor inside the monitor shelf.

5. See the monitor documentation for information on how to connect power, and
how to connect the monitor to a server or console switch.

IBM NetBAY Console Switch

The IBM NetBAY 1x4 Console Switch allows you to connect up to four servers to a
single monitor, mouse, and keyboard.

The IBM NetBAY 1x4 Console Switch allows you to connect up to four servers to a
single monitor, mouse, and keyboard.

The IBM NetBAY 2x8 Console Switch allows you to connect up to eight servers to a
primary and secondary monitor, mouse, and keyboard.

You can also connect multiple console switches to each other in a tiered

configuration. The Apex User Guide CD contains configuration information about
your console switch.

Installing Optional Devices 121



Figure 41. 1x4 console switch

Figure 42. 2x8 console switch

You can install a console switch inside the rear storage compartment NetBAY
monitor shelf, vertically in the side of your rack cabinet, or horizontally within 1U of
EIA mounting space in your rack cabinet.

Note: If you install a 2x8 Console Switch inside the monitor shelf, you will not be
able to use the B port on the console switch to connect a second monitor,
keyboard, and mouse.

The following parts come with the console switch:

1x4 Console Switch 2x8 Console Switch

Two vertical mounting brackets Two vertical mounting brackets

Miscellaneous hardware kit (for attaching | Two horizontal mounting brackets, marked 'L’
brackets and installing the console switch |and 'R’ (Left and Right)
in a rack cabinet)

One 1.8 m (6 ft) power cord Miscellaneous hardware kit (for attaching
brackets and installing the console switch in a
rack cabinet)

One 1.5 m (4.9 ft) IEC connector power One 1.8 m (6 ft) power cord
cable

Apex User Guide CD One 1.5 m (4.9 ft) IEC connector power cable

IBM NetBAY Console Switch Installation Apex User Guide CD
Instructions Manual

IBM NetBAY Console Switch Installation
Instructions Manual

Note: A NetBAY Console Cable Set is required for each server that you will
connect to a console switch, or for each console switch you will connect to

122 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



another console switch in a tiered configuration. Console cable sets are
available in different lengths, and are color-coded the same as the ports on
the console switch.

Features

The 1x4 Console Switch allows you to connect up to four servers to a single
monitor, keyboard, and mouse. Port A is located on the rear of the console switch
and is where you connect the monitor, mouse, and keyboard. Ports 1 through 4 are
where you connect each of your servers.

Server monitor ports 1-4

Primary monitor Power connector

BT o - ¢ | o || W

= [EREREE

ETel

@

7o [©

Primary keyboard

Primary mouse Power switch

Server keyboard

and mouse ports 1-4
The 2x8 Console Switch allows you to connect up to eight servers to a primary and
secondary monitor, mouse, and keyboard. Port A is located on the rear of the
console switch and is where you connect your primary monitor, mouse, and
keyboard. Port B is located on the front of the console switch and is where you
connect your secondary monitor, mouse, and keyboard. Ports 1 through 8 are
where you connect each of your servers.

Secondary monitor

Secondary keyboard
Secondary mouse

Server monitor ports 1-8

Primary monitor

Server keyboard
and mouse ports 1-8

You can connect multiple console switches to each other in a tiered configuration. If
you use a 1x4 Console Switch as the primary switch, you can connect up to four
additional console switches and 32 servers. If you use a 2x8 Console Switch as the
primary switch, you can connect up to eight console switches and 64 servers. The
user interface of the primary switch will control all of the console switches in the tier.

Installing Optional Devices 123



The NetBAY Console Cable Set is available separately to connect servers to your
console switch. The console cables are available in different lengths, and are
color-coded in the same manner as the ports on the console switch.

The locking keyboard and mouse connectors automatically lock when you connect
them to prevent accidental disconnection. To disconnect one of these cables, grasp
the color-coded housing on the connector; then, pull the housing away from the
console switch to unlock the connector and disconnect the cable.

Locking
housing

il

Connector

Tool requirements

You will need the following tools to install the console switch:

* A Phillips screwdriver

* A 10mm nut driver or 10mm open-end or box wrench

Specifications

124

The following table contains the product specifications for the 1x4 Console Switch

and the 2x8 Console Switch:

1x4 Console Switch

2x8 Console Switch

Height 4.3cm (1.7 in.) 4.3cm (1.7 in.)

Depth 20.3 cm (8.0 in.) 20.3 cm (8.0 in.)
Width 43.2cm (17 in.) 43.2cm (17 in.)
Weight 2.38 kg (5.25 Ibs) 2.59 kg (5.7 Ibs)

Rated voltage

100 240 V ac

100 240 V ac

Rated frequency

50 60 Hz

50 60 Hz

Rated input current

1.0 A maximum

1.0 A maximum

Operating temperature at 0914
m (03000 ft)

10° 35°C (50° 95°F)

10° 35°C (50° 95°F)

Operating temperature at
914-2133 m (3000-7000 ft)

10° 32°C (50° 90°F)

10° 32°C (50° 90°F)

Operating humidity
(non-condensing)

8% 80%

8% 80%

Video modes supported

VGA, SVGA, XGA

VGA, SVGA, XGA

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308




Installation overview

Use the following general steps to install your console switch:
1. Install the console switch in your rack cabinet:

¢ Install a console switch inside the rear storage compartment of a NetBAY
monitor shelf, r‘lnstalling a console switch horizontally in a rack” on page 128|
OR

» Install a console switch vertically in the side of your rack cabinet according to
['Installing a console switch vertically in a rack’} OR

 Install a console switch horizontally in 1U of EIA rack mounting space in your
rack cabinet.

2. If you have more than one console switch to install in your rack cabinet repeat
step 1 for each console switch see, [‘Installation overview” on page 146}

3. Refer to the Apex User Guide CD for operation and configuration information.

Installing a console switch vertically in a rack

Use the following procedure to install the console switch vertically in the side of
your rack cabinet:

Note: The mounting holes on upper and lower side braces in a rack side
compartment must be between 50.8 cm (20.0 in.) and 57.3 cm (22.6 in.)
apart. If your rack cabinet has movable side braces, refer to your rack
documentation for information about relocating your side braces if they are
not already spaced for this installation.

1. Refer to the documentation that comes with your rack cabinet for additional
information.

Note: Removing the rack doors and side panels might make your console
switch installation easier.

2. Attach one vertical mounting bracket to each side of the console switch using
two 8-32 screws per bracket.

Console switch

Vertical mounting bracket

3. Hold the console switch against the side braces, with the rear of the console
switch facing the back of your rack cabinet; then, use four M6 screws and nuts

Installing Optional Devices 125



to attach the console switch to the side braces.

NI %

Continue with the rest of the procedure to cable your console switch.

Note: Refer to the Apex User Guide CD for additional information if you are
configuring a tiered installation.

4. Verify that the power switch on the rear of the console switch is in the Off
position before connecting any cables.

126 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



5.

10.

11.

12.

13.

14.

15.

Route your mouse cable neatly toward the rear of the console switch; then,
connect it to the appropriate mouse connector on Port A of the console switch.

Connect the monitor signal cable from your monitor to the blue monitor
connector on Port A of the console switch; then, tighten the screws on the
monitor signal cable.

Route your keyboard cable neatly toward the rear of the console switch; then,
connect it to the appropriate keyboard connector on Port A of the console
switch.

If you have a 2x8 Console Switch, repeat step 5 to step 7 and connect a
second monitor, mouse, and keyboard to Port B on the front of your console
switch.

Connect one end of a console cable set to one of the numbered ports on the
rear of the console switch.

Route the console cable set toward the rear of your rack cabinet, and up or
down toward your server. Use the cable straps that come with this option to
secure the console cable set along the way.

Connect the other end of the console cable set to the appropriate monitor,
mouse, and keyboard connectors on your server.

Repeat step 9 to 11 for all servers that you need to connect to your console
switch.

Connect the power cord that comes with the console switch to the power
connector on the rear of the console switch.

Route the power cord toward the rear of your rack cabinet, and either up or
down toward a properly wired and grounded power source such as an
uninterruptable power supply (UPS), a power distribution unit (PDU), or an
electrical outlet. Use the cable straps that come with this option to secure the
power cord along the way, and use the openings in your rack cabinet if you
must exit the rack to connect to your power source.

Refer to the Apex User Guide CD for configuration and operation information
about your console switch.

Installing Optional Devices 127



Installing a console switch horizontally in a rack
Use the following procedure to install the console switch horizontally in 1U of EIA
rack mounting space in your rack cabinet:
1. Refer to the documentation that comes with your rack cabinet for additional
information.

Notes:

a. Removing the rack doors and side panels might make your console switch
installation easier.

b. Use cage nuts for rack cabinets with square holes, or clip nuts for rack
cabinets with round holes.

OO0 DTOTCOTCC

2. Attach one horizontal mounting bracket to each side of the console switch
using two 8-32 screws per bracket. Make sure that the notched hole on the
bracket is toward the bottom of the console switch.

Note: There are two sets of mounting holes on the brackets. You can install
the console switch even with the EIA mounting flanges of the rack
cabinet or recessed, depending on how you install the brackets.

Console switch

Horizontal mounting bracket

Horizontal mounting bracket

3. Determine the appropriate U level within the EIA mounting space; then, install
the console switch in the rear of your rack cabinet using four M6 screws and

128 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



either cage nuts or clip nuts.

Continue with the rest of the procedure to cable your console switch.

Note: Refer to the Apex User Guide CD for additional information if you are
configuring a tiered installation.

Verify that the power switch on the rear of the console switch is in the Off
position before connecting any cables.

Route your mouse cable neatly toward the rear of the console switch; then,
connect it to the appropriate mouse connector on Port A of the console switch.

Connect the monitor signal cable from your monitor to the blue monitor
connector on Port A of the console switch; then, tighten the screws on the
monitor signal cable.

Route your keyboard cable neatly toward the rear of the console switch; then,
connect it to the appropriate keyboard connector on Port A of the console
switch.

If you have a 2x8 Console Switch, repeat step 5 to 7 and connect a second
monitor, mouse, and keyboard to Port B on the front of your console switch.

Installing Optional Devices 129



9. Connect one end of a console cable set to one of the numbered ports on the
rear of the console switch.

10. Route the console cable set toward the rear of your rack cabinet, and up or
down toward your server. Use the cable straps that come with this option to
secure the console cable set along the way.

11. Connect the other end of the console cable set to the appropriate monitor,
mouse, and keyboard connectors on your server.

12. Repeat step 9 to 11 for all servers that you need to connect to your console
switch.

13. Connect the power cord that comes with the console switch to the power
connector on the rear of the console switch.

14. Route the power cord toward the rear of your rack cabinet, and either up or
down toward a properly wired and grounded power source such as an
uninterruptable power supply (UPS), a power distribution unit (PDU), or an
electrical outlet. Use the cable straps that come with this option to secure the
power cord along the way, and use the openings in your rack cabinet if you
must exit the rack to connect to your power source.

15. Refer to the Apex User Guide CD for configuration and operation information
about your console switch.

Parts listing (NetBAY Console Switch)

NetBAY (Console Switch) FRU

1x4 switch 06P6003
2x8 switch 06P6004
7-foot locking console cable 06P6006
12-foot locking console cable 06P6007

NetBAY Power Distribution Units

The IBM NetBAY Rack Power Distribution Units are part of the Rack Modular Power
Distribution Unit (M/PDU) family.

These Rack PDUs are used in all models of the IBM 9306 and 9308 racks.

The Rack PDUs come in three types:

* NetBAY Rack Power Distribution Unit

* NetBAY Front-end Power Distribution Unit

* NetBAY Server Dual-cord Power Distribution Unit

NetBAY rack Power Distribution Unit introduction

The IBM NetBAY Rack Power Distribution Unit is part of the Rack Modular Power
Distribution Unit (M/PDU) family and enables you to connect up to seven devices to
a single dedicated power source, such as an electrical outlet or an uninterruptable
power supply (UPS). The Rack PDU has one power inlet and seven IEC standard

130 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



power outlets.

Notes:

Power cables for devices that you will connect to the Rack PDU do not come
with the Rack PDU.

You will have some unused parts depending upon how you install the Rack
PDU.

When you install two Rack PDUs you will need some parts from both devices.

You can install other M/PDU family devices next to your Rack PDU using
mounting hardware from both devices.

You can install the Rack PDU vertically in the side of your rack cabinet, or
horizontally within 1U of EIA mounting space in your rack cabinet. The mounting
hardware that comes with this option enables you to install one Rack PDU next to
another in the same mounting space within your rack cabinet.

The following parts come with the Rack PDU:

One Rack PDU

One line cord (Some models include both a high voltage and a low voltage line
cord)

One vertical mounting plate

One vertical-mounting cable-management bracket

One horizontal mounting bracket

One single-device attachment bracket (for horizontal-mount installations)
One dual-device attachment bracket (for horizontal-mount installations)
One 1U blank filler panel (for horizontal-mount installations)

Miscellaneous hardware kit (for attaching brackets and installing the device in a
rack cabinet)

Cable straps
Installation documentation

Note: The illustrations in this documentation might be slightly different from your

hardware.

Tool requirements
You will need the following tools to install the Rack PDU:

A Phillips screwdriver
A 10-mm nut driver or 10-mm open-end or box wrench

Installation overview
Use the following general steps to install your Rack PDU:

1.

Install one or two devices in your rack cabinet

Installing Optional Devices 131



 Install devices vertically in the side of your rack cabinet according to
[‘Installing devices vertically” on page 156, OR

 Install a single device horizontally in your rack cabinet in 1U of available EIA

mounting space according to [“Installing a single device horizontally” on|
page 158, OR

« |nstall two devices horizontally in your rack cabinet in 1U of available EIA
mounting space according to |“Insta|ling two devices horizontally” on|
page 160,

2. Connect line cords and cables according to r‘Cainng your PDUs” on page 1371

Installing devices vertically

Use the following procedure to mount the Rack PDU in the side of your rack
cabinet:

Note: The mounting holes on the upper and lower side braces in a rack side

1.

compartment must be between 48.6 cm (19.1 in.) and 56.9 cm (22.4 in.)
apart. If your rack cabinet has movable side braces, refer to your rack
documentation for information about relocating your side braces if they are
not already spaced for this installation.

Refer to the documentation that comes with your rack cabinet for additional
information.

Note: Removing the rack doors and side panels might make your Rack PDU
installation easier.

Verify that the circuit breaker switch is in the Off position before installing your
Rack PDU.

Install the Rack PDU [F] to the vertical mounting plate [ with four M3x5
screws that come with this option. Make sure that the countersink holes in
the vertical mounting plate are facing away from the device.

Note: Align the Rack PDU to one end or the other of the vertical mounting
plate to leave room for a second device.

Figure 43. Installing the Rack PDU on the vertical mounting plate

132 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



4. If you have a second M/PDU device to install, install it on the vertical mounting
plate with four M3x5 screws that come with the second device.

Figure 44. Installing a second Rack PDU

5. Install the vertical mounting plate [ in the side of your rack cabinet with four
M6 screws and nuts that come with this option. Make sure that the
seven-connector side of the Rack PDU is facing the rear of your rack cabinet,
and leave room between the vertical mounting plate and the rear EIA mounting
flanges for the cable-management bracket | .

oooo
o © 0o

253888332350y
,,,,,,,,,,,

O\OB\

\

oe23888¢8

=

N

T

N

anl|||7°1|t\\\|\
N

fl e

\

00000000000000800000

)

5558885555 53535553 8853 Bl

L W S W W T

LS S S S S O A S S

Figure 45. Installing the vertical mounting plate and cable-management bracket

6. Install the cable-management bracket beside the vertical mounting plate
with four M6 screws and nuts that come with this option.

Proceed to[‘Cabling your PDUs” on page 137|for instructions on how to cable
your Rack PDU.

Installing a single device horizontally
Use the following procedure to mount a single Rack PDU horizontally in your rack

cabinet:
1. Refer to the documentation that comes with your rack cabinet for additional
information.

Installing Optional Devices 133



Notes:

a. Removing the rack doors and side panels might make your Rack PDU
installation easier.

b. Use clip nuts for rack cabinets with round holes; use cage nuts for rack
cabinets with square holes.

OO TLCOOOOTOOOTOCOOC

2. Verify that the circuit breaker switch is in the Off position before installing your
Rack PDU.

3. Install the horizontal mounting bracket [EJ on one side of the Rack PDU B with
M3x5 screws .

Note: There are two sets of mounting holes on the bracket. You can align the
Rack PDU to be even with the back of the rack cabinet or recessed
inside, depending on how you install the bracket.

Figure 46. Installing the mounting brackets for a single device

4. Install the single-device attachment bracket on the other side of the Rack
PDU B with two M3x5 screws . Make sure that you use the same set of
mounting holes on this bracket as you used on the bracket in the previous step.

5. Determine the U level within your rack cabinet where you are going to install the
Rack PDU; then, install the Flat Panel Monitor Rack Mount Kit and bracket
assembly B in the rear of the rack cabinet with four M6 screws and clip nuts
or cage nuts (two screws and nuts per bracket).

134 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Figure 47. Installing the Rack PDU and the blank filler panel

6. Install the 1U blank filler panel on the front of the rack cabinet at the same
U level as the Rack PDU. Use two M6 screws that come with this option.
Proceed to |“Cab|ing your PDUs” on page 162| for instructions on how to cable
your Rack PDU.

Installing two devices horizontally
Use the following procedure to mount two Rack PDUs horizontally in your rack

cabinet:

1. Refer to the documentation that comes with your rack cabinet for additional
information.
Notes:

a. Removing the rack doors and side panels might make your Rack PDU
installation easier.

b. Use clip nuts for rack cabinets with round holes; use cage nuts for rack
cabinets with square holes.

P
e

S

Clip

nuts

OO0 C

Installing Optional Devices 135



136

Verify that the circuit breaker switch is in the Off position before installing your
Rack PDU.
Attach a dual-device attachment bracket [ to the right side of one of the Rack

PDUs with two M3x5 screws; then, attach another dual-device attachment
bracket [ to the left side of the other Rack PDU with two M3x5 screws.

Notes:

a. When you install two Rack PDUs next to each other, you will need some
parts from both options.

b. Turn the second dual-device attachment bracket [ so that the threaded
holes are on the opposite side of the device as the holes on the other
attachment bracket [J.

Figure 48. Installing the mounting brackets for two devices

4.

Push the two Rack PDUs together, aligning the holes on the dual-device
attachment brackets; then, use four M6 screws to secure the front and rear
H of the brackets to each other.

Install a horizontal mounting bracket ] on the Rack PDU on the right with two
M3x5 screws [ ; then, install the other horizontal mounting bracket on the
Rack PDU on the left with two M3x5 screws .

Note: There are two sets of mounting holes on the brackets. You can align the
Rack PDU to be even with the back of the rack cabinet or recessed
inside, depending on how you install the brackets.

Determine the U level within your rack cabinet where you are going to install the
Rack PDUs; then, install both Flat Panel Monitor Rack Mount Kits ﬂ in the

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



rear of the rack cabinet with four M6 screws and clip nuts or cage nuts (two
screws and nuts per bracket).

Figure 49. Installing two Rack PDUs and the blank filler panel

7. Install the 1U blank filler panel [ on the front of the rack cabinet at the same U
level as the Rack PDU. Use two M6 screws that come with this option.
Proceed to[“Cabling your PDUs” on page 162 for instructions on how to cable
your Rack PDU.

Cabling your PDUs
Cable routing differs between horizontal and vertical Rack PDU installations. Refer

to[q
Cabling instructions for vertical-mount PDUs” on page 164|or[‘Cabling instructions|
for horizontal-mount PDUs” on page 165 as appropriate for your installation.

Installing Optional Devices 137



Statement 1:

A

CAUTION:

To ensure safety, all configurations of the rack cabinet must be certified by a
nationally recognized testing laboratory in order to verify compliance with
country-specific safety regulations. This process ensures that the end
product remains safe for the operator and service personnel under normal
and forseeable misuse conditions.

Statement 13:

A A

DANGER

Overloading a branch circuit is potentially a fire hazard and a shock
hazard under certain conditions. To avoid these hazards, ensure that your
system electrical requirements do not exceed branch circuit protection
requirements. Refer to the information that is provided with your IBM
device for electrical specifiacations. Also adhere to the following
statements:

1. If you are connecting to a 120-127 V ac power source, connect each
power cord to a separate branch circuit.

2. If you are connecting to a 200-240 V ac power source and the branch
circuit rating is:
a. 13 amps or less, connect each power cord to a separate branch
circuit.

b. 14 amps to 19 amps, do not connect more than two power cords to
the same branch circuit.

c. 20 amps or greater, you may connect up to three power cords to the
same branch circuit.

Cabling instructions for vertical-mount PDUs
If your Rack PDU came with more than one line cord, select either the high-voltage

cord or the low-voltage cord for your installation. Use the following procedure to
connect and route cables for Rack PDUs that you mounted vertically in the side of
your rack cabinet:

1. Connect the line cord that comes with this option to the inlet on the Rack PDU;
then, remove the screw on the cable clamp and route the line cord through
the clamp.

138 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



=

N
S555555555585555585558 88
s3]

PooeS TGO OPT TOTT O 008 S0 GO0 05T T0% a8 GI6 006G 00000 500G O00 R
L S N S S S S ¥ S U i i i S E S W

LR s s s s s Mo B BT e ot Ao neson ot s Moss mpsos s e
dnedgad 2 oo agpodod

\
\
\
\
\
\
\

Figure 50. Connecting and routing the line cord

2.

Reinstall the screw on the cable clamp and repeat step 1 for the other
device if you installed two devices.

Route the line cords down and toward the rack side braces; then, route the line
cords along the side brace towards the back of the rack cabinet and secure
them with the cable straps that come with this option.

Route the line cords toward a dedicated power source, such as a UPS or
electrical outlet. Use the provided cable straps to secure the line cords along
the way. Use the openings in your rack cabinet, if you must exit the rack cabinet
to connect to your power source.

After you connect the line cords to properly wired and grounded dedicated
power sources, you can turn on the circuit breaker; then, connect other devices
in your rack cabinet to the seven power outlets on the Rack PDU. Route all
other power cables neatly, and use the cable-management bracket to secure
the cables that you plug into the outlets on the Rack PDU.

Installing Optional Devices 139



\

\
o5\
\

Figure 51. Connecting and routing other power cables to the outlets

Cabling instructions for horizontal-mount PDUs

If your Rack PDU came with more than one line cord, select either the high-voltage

cord or the low-voltage cord for your installation. Use the following procedure to

connect and route cables for Rack PDUs that you mounted in the horizontal EIA

space of your rack cabinet:

1. Connect the line cord that comes with this option to the inlet on a Rack PDU;
then, remove the screw on the cable clamp and route the line cord through the
clamp.

140 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Figure 52. Connecting and routing the line cord

Reinstall the screw on the cable clamp and repeat this step for the other device,
if you installed two devices.

Route the line cords left or right, toward the side of the rack cabinet; then, route
the line cords along the side brace towards the back of the rack cabinet and
secure them with the cable straps that come with this option.

Route the line cords toward a dedicated power source, such as a UPS or
electrical outlet. Use the provided cable straps to secure the line cords along
the way. Use the openings in your rack cabinet, if you must exit the rack cabinet
to connect to your power source.

After you connect the line cords to properly wired and grounded dedicated
power sources, you can turn on the circuit breaker; then, connect other devices
in your rack cabinet to the seven power outlets on the Rack PDU. Route all
other power cables neatly, and use cable straps to secure the cables that you
plug into the outlets on the Rack PDU.

Installing Optional Devices 141



Figure 53. Connecting and routing other power cables to the outlets

142 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Rack PDU specifications

When connected to a dedicated power source, the Rack PDU conforms to UL950,
CSA 22.0-950, EN-60950, and IEC-950 standards. The following table contains the
product specifications for the Rack PDU:

Height 43 mm (1.7 in.)
Width 192 mm (7.5 in.)
Depth 221 mm (8.7 in.)
Weight 1.5 kg (3.2 Ibs)

Operating temperatures

10°C—-35°C (50°F-95°F) at 0-914 m (0-3000 ft)
10°C-32 °C (50°F-90°F°) at 9142133 m (3000-7000 ft)

Operating humidity

8-80% (non-condensing)

Rated voltage

100-240 V ac, 15 A, single-phase

Rated frequency

50-60 Hz

Maximum power rating

3600 VA

Circuit breaker

Two-pole, 15 A with time-delay protection for up to 600 A
input current without nuisance tripping.

Power inlet

IEC 320-C20 inlet rated at 16 A (VDE) / 20 A (UL/CSA)

Power outlets

Seven |IEC 320-C13 outlets rated at 10 A (VDE) / 15 A
(UL/CSA)

Installing Optional Devices 143



144

Power cables

Power cables that you use to connect a system, storage expansion unit, and other
devices to the Rack PDU usually come with those devices. The following table
contains a list of power cables that you can use with the Rack PDU:

Length Cable rating |Plug type Cable part #
2.8 m (9.2 ft) 250V, 10 A |IEC 320-C13 to IEC 320-C14 36L8886
4.3 m (14 ft) 250V, 10A IEC 320-C13 to IEC 320-C14 94G7448

Power cables that you use to connect your Rack PDU to a UPS or Front-end PDU

come with those devices as indicated in the following table:

320-C20

Cable Cable
Length |rating Plug type part # Comes with:
2m (6.6 ft) [ 250 V, 16 A |IEC 320-C19 to IEC OON7700 |APC SU-5000 RMB
320-C20 UPS
(2 cables)
1m(3.3f)|250V, 16 A |IEC 320-C19 to IEC OON7698 |Front-end PDU (3

cables)

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308




Line cords

A 4.3 m (14 ft) country-specific line cord that you use to connect your Rack PDU to
a properly wired, grounded, and dedicated power source comes with the Rack
PDU. The following table contains a list of line cords that you can use with the Rack

PDU:

Line cord Line cord
Power Source rating Plug type part #
100-127 V ac, 20 | 127 V ac, 18 A |IEC 320-C19 to NEMA L5-20P 12J5117
A
200-240 V ac, 20 | 250 V ac, 18 A |IEC 320-C19 to NEMA L6-20P 14F1553
A
220-240 V ac, 16 250 V ac, 16 A |IEC 320-C19 to CEE7-VII 14F1554
A
220-240 V ac, 16 | 250 V ac, 16 A |IEC 320-C19 to IEC 309-2P + Gnd 36L8823
A
220-240 V ac, 16 | 250 V ac, 16 A |IEC 320-C19 to SII 32 14F1561
A
220-240 V ac, 16 | 250 V ac, 16 A |IEC 320-C19 to CEI 23-16 14F1560
A
220-240 V ac, 16 250 V ac, 16 A | IEC 320-C19 to SABS 164 14F1557
A
220-240 V ac, 13 | 250 V ac, 13 A |IEC 320-C19 to BS 1363/A 12J5988
A
220-240 V ac, 15 | 250 V ac, 15 A |IEC 320-C19 to AS/NZ 3112 14F1559
A
220-240 V ac, 15 | 250 V ac, 15 A |IEC 320-C19 to GB 2099.1 01K9852
A
220-240 V ac, 15 | 250 V ac, 15 A |IEC 320-C19 to IRAM 2063 36L8885

A

NetBAY front-end Power Distribution Unit introduction

The IBM NetBAY Single-phase and Three-phase Front-end Power Distribution Units
are part of the Rack Modular Power Distribution Unit (M/PDU) family and enable
you to connect a single-phase or three-phase dedicated power source to three
different single-phase PDUs in the M/PDU family. The Rack PDU has one power
source inlet and three IEC standard power outlets.

Notes:

1. You will have some unused parts depending upon how you install the Rack

PDU.

2. You can install other M/PDU family devices next to your Rack PDU using
mounting hardware from both devices.

Installing Optional Devices 145



You must install the Rack PDU vertically in the side of your rack cabinet with the
provided mounting hardware. The following parts come with the Rack PDU:

The following parts come with the Rack PDU:

One 1P Rack PDU with a fixed line cord or one 3P Flat Panel Monitor Rack
Mount Kit with a fixed line cord

Three power cables (for connecting other M/PDU family devices)
One vertical mounting plate
One vertical-mounting cable-management bracket

Miscellaneous hardware kit (for attaching brackets and installing the device in a
rack cabinet)

Cable straps
Installation documentation

Note: The illustrations in this documentation might be slightly different from your

hardware.

Tool requirements
You will need the following tools to install the Rack PDU:

A Phillips screwdriver
A 10-mm nut driver or 10-mm open-end or box wrench

Installation overview
Use the following general steps to install your Rack PDU:

1.

Install one or two devices in your rack cabinet:

» Install a single device vertically in the side of your rack cabinet according to
[‘Installing a single device horizontally” on page 133 OR

« Install two devices vertically in the side of your rack cabinet according to
[‘Installing two devices vertically” on page 149|

2. Connect line cords and cables as appropriate for your installation.

Installing a single device vertically

Use the following procedure to mount a single Rack PDU in the side of your rack
cabinet:

Note: The mounting holes on the upper and lower side braces in a rack side

compartment must be between 48.6 cm (19.1 in.) and 56.9 cm (22.4 in.)
apart. If your rack cabinet has movable side braces, refer to your rack
documentation for information about relocating your side braces if they are
not already spaced for this installation.

146 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Statement 1:

A A

DANGER

Electrical current from power, telephone, and communication cables is
hazardous. To avoid a shock hazard:

* Do not connect or disconnect any cables or perform installation,
maintenance, or reconfiguration of this product during an electrical
storm.

» Connect all power cords to a properly wired and grounded electrical
outlet.

* Connect to properly wired outlets any equipment that will be attached to
this product.

* When possible, use one hand only to connect or disconnect signal
cables.

* Never turn on any equipment when there is evidence of fire, water, or
structural damage.
» Disconnect the attached power cords, telecommunications systems,

networks, and modems before you open the device covers, unless
instructed otherwise in the installation and configuration procedures.

« Connect and disconnect cables as described in the following table when
installing, moving, or opening covers on this product or attached

devices.
To connect: To disconnect:
1. Turn everything OFF. 1. Turn everything OFF.
2. First, attach all cables to devices. 2. First, remove power cords from outlet.
3. Attach signal cables to connectors. 3. Remove signal cables from connectors.
4. Attach power cords to outlet. 4. Remove all cables from devices.
5. Turn device ON.

1. Refer to the documentation that comes with your rack cabinet for additional
information.

Note: Removing the rack doors and side panels might make your Rack PDU
installation easier.

2. Install the Rack PDU on the center of the vertical mounting plate @ with four
M3x5 screws that come with this option. Make sure that the countersink
holes in the vertical mounting plate are facing away from the device.

Installing Optional Devices 147



Figure 54. Installing the Rack PDU on the vertical mounting plate

3. Install the vertical mounting plate in the side of your rack cabinet with four M6
screws and nuts that come with this option. Make sure that the three-connector
side of the Rack PDU is facing up.

q|
g
4 q
of
&
o
o

LS S S A O i S

Figure 55. Installing the vertical mounting plate

4. Route the fixed line cord down, towards the rack side braces; then, route the
line cord along the side brace towards the back of the rack cabinet and secure
it with the cable straps that come with this option.

148 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Figure 56. Routing the fixed line cord and power cables

5. Route the line cord towards a dedicated power source. Use the provided cable
straps to secure the line cord along the way. Use the openings in your rack
cabinet, if you must exit the rack cabinet to connect to your power source.

6. After you connect the line cord to a properly wired and grounded dedicated
power source, you can connect up to three other M/PDU family devices to the
three power outlets on the Rack PDU. Route all other power cables neatly, and
use the provided cable straps to secure the cables that you plug into the outlets
on the Rack PDU.

Installing two devices vertically

Use the following procedure to mount two Rack PDUs in the side of your rack
cabinet:

Note: The mounting holes on the upper and lower side braces in a rack side
compartment must be between 48.6 cm (19.1 in.) and 56.9 cm (22.4 in.)
apart. If your rack cabinet has movable side braces, refer to your rack
documentation for information about relocating your side braces if they are
not already spaced for this installation.

Installing Optional Devices 149



Statement 1:

A A

DANGER

Electrical current from power, telephone, and communication cables is

hazardous. To avoid a shock hazard:

Do not connect or disconnect any cables or perform installation,
maintenance, or reconfiguration of this product during an electrical
storm.

Connect all power cords to a properly wired and grounded electrical
outlet.

Connect to properly wired outlets any equipment that will be attached to
this product.

When possible, use one hand only to connect or disconnect signal
cables.

Never turn on any equipment when there is evidence of fire, water, or
structural damage.

Disconnect the attached power cords, telecommunications systems,
networks, and modems before you open the device covers, unless
instructed otherwise in the installation and configuration procedures.

Connect and disconnect cables as described in the following table when
installing, moving, or opening covers on this product or attached
devices.

To connect: To disconnect:

1. Turn everything OFF. 1. Turn everything OFF.

2. First, attach all cables to devices. 2. First, remove power cords from outlet.
3. Attach signal cables to connectors. 3. Remove signal cables from connectors.
4. Attach power cords to outlet. 4. Remove all cables from devices.

5. Turn device ON.

Refer to the documentation that comes with your rack cabinet for additional
information.

Note: Removing the rack doors and side panels might make your Rack PDU
installation easier.

Install the Rack PDU on the vertical mounting plate B with four M3x5

screws that come with this option. Make sure that the countersink holes in

the vertical mounting plate are facing away from the device.

Note: Align the Rack PDU to one end or the other of the vertical mounting
plate to leave room for a second device.

150 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308




Figure 57. Installing the Rack PDU on the vertical mounting plate

3. If you have a second M/PDU device to install, install it on the vertical mounting
plate with four M3x5 screws that come with the second device.

Figure 58. Installing a second Rack PDU

4. |Install the vertical mounting plate A in the side of your rack cabinet with four
M6 screws and nuts that come with this option. Make sure that the
three-connector side of the Rack PDU is facing the rear of your rack cabinet,
and leave room between the vertical mounting plate and the rear EIA mounting
flanges for the cable-management bracket | .

Installing Optional Devices 151



o008 odod

\
0600000800000909000002090000000000000000000000.660000800BQ0000

°°°°°

o500
2005
$°0060585859%2

T

T

T

T

\

T

v

NS EEBEs8E8TEB ek~

T

T

T

T
1
L S S S S S S S S S S | r\ L S S S S B B N

T

\mﬁi

Figure 59. Installing the vertical mounting plate and cable-management bracket

5. Install the cable-management bracket beside the vertical mounting plate
with four M6 screws and nuts that come with this option.

6. Route the fixed line cords down, towards the rack side braces; then, route the
line cords along the side brace towards the back of the rack cabinet and secure
them with the cable straps that come with this option.

152 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Figure 60. Routing the fixed line cords

7. Route each line cord towards a dedicated power source. Use the provided cable
straps to secure the line cords along the way. Use the openings in your rack
cabinet, if you must exit the rack cabinet to connect to your power source.

8. After you connect both line cords to properly wired and grounded dedicated
power sources, you can connect up to three other M/PDU family devices to the
three power outlets on each Rack PDU. Route all other power cables neatly,
and use the cable-management bracket to secure the cables that you plug into
the outlets on the Rack PDU.

Installing Optional Devices 153



ks
£ S N VN VAN S WY

Figure 61. Connecting and routing other power cables to the outlets

Rack PDU specifications

When connected to a properly wired, grounded, and dedicated power source, the
Rack PDU conforms to UL950, CSA 22.0-950, EN-60950, and IEC-950 standards.
The following table contains the product specifications for the Rack PDU:

Height 43 mm (1.7 in.)
Width 192 mm (7.5 in.)
Depth 221 mm (8.7 in.)
Weight 1.6 kg (3.5 Ibs)

Operating temperatures

10°C-35°C (50°F-95°F) at 0-914 m (0-3000 ft)
10°C-32 °C (50°F-90°F°) at 9142133 m (3000-7000 ft)

Operating humidity

8-80% (non-condensing)

Rated voltage

100-120 V ac, 30 A, single-phase
200—240 V ac, 30 A, single-phase
200240 V ac, 32 A, single-phase
200240 V ac, 30 A, single-phase

380—415 V ac, 32 A, single-phase

Rated frequency

50-60 Hz

Maximum power rating

4800-6000 VA

Power inlet

One fixed line cord

Power outlets

Three IEC 320-C19 outlets rated at 16 A (VDE) / 20 A
(UL/CSA)

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308




Line cords

The 2.5 m (8.2 ft) fixed line cord on the Rack PDU determines the connectivity of
the Rack PDU. The following table contains a list of the line cords that you can use

with the Rack PDU:

Line cord
Power Source Line cord rating |Plug type part #
100-127 V ac, 30 A, 127 V, 30 A NEMA L5-30P 24P6846
single-phase
200-240 V ac, 30 A, 250V, 30 A NEMA L6-30P 24P6847
single-phase
200-240 V ac, 32 A, 250V, 32 A IEC 309-2P + Gnd 24P6848
single-phase
200-240 V ac, 30 A, 250V, 30 A NEMA L21-30P 24P6844
three-phase
380-415 V ac, 32 A, 415V, 32 A IEC 309-3P + N + Gnd 24P6845
three-phase

Power cables

The Rack PDU comes with three power cables, that you use to connect to other
M/PDU family devices, as listed in the following table:

Length

Cable rating |Plug type

Cable part #

1 m (3.3 ft)

250 V, 16 A |IEC 320-C19 to IEC 320-C20

OON7698

NetBAY server dual-cord Power Distribution Unit introduction

The IBM NetBAY Server Dual-cord Power Distribution Unit is part of the Rack
Modular Power Distribution Unit (M/PDU) family and enables you to connect one
server to two dedicated, independent, and redundant power sources, such as an
electrical outlet and an uninterruptable power supply (UPS). The Rack PDU has two
power inlets, for Main and Backup power connections, and four IEC standard power
outlets.

Notes:

1. You will have some unused parts depending upon how you install the Rack

PDU.

2. When you install two Rack PDUs you will need some parts from both options.

3. You can install other M/PDU family devices next to your Rack PDU using
mounting hardware from both devices.

Installing Optional Devices 155



You can install the Rack PDU vertically in the side of your rack cabinet, or
horizontally within 1U of EIA mounting space in your rack cabinet. The mounting
hardware that comes with this option enables you to install one Rack PDU next to
another in the same mounting space within your rack cabinet.

The following parts come with the Rack PDU:
* One Rack PDU

» Two line cord (some models come with two high voltage and two low voltage line
cords)

* One vertical mounting plate

» One vertical-mounting cable-management bracket

* One horizontal mounting bracket

* One single-device attachment bracket (for horizontal-mount installations)
* One dual-device attachment bracket (for horizontal-mount installations)

* One 1U blank filler panel (for horizontal-mount installations)

» Miscellaneous hardware kit (for attaching brackets and installing the device in a
rack cabinet)

» Cable straps
¢ [nstallation documentation

Note: The illustrations in this documentation might be slightly different from your
hardware.

Tool requirements
You will need the following tools to install the Rack PDU:
* A Phillips screwdriver
* A 10-mm nut driver or 10-mm open-end or box wrench

Installation overview
Use the following general steps to install your Rack PDU:
1. Install one or two devices in your rack cabinet:

+ Install devices vertically in your rack cabinet according to [‘Installing a single|
[device vertically” on page 146, OR

 Install a single device horizontally in your rack cabinet in 1U of available EIA
mounting space according to [Installing a single device horizontally” on|

page 133, OR

¢ [Install two devices horizontally in your rack cabinet in 1U of available EIA

mounting space according to[“Installing two devices horizontally” on|
page 160

2. Connect line cords and cables according to r‘Cainng your PDUS” on page 16Zl

Installing devices vertically

Use the following procedure to mount the Rack PDU in the side of your rack
cabinet:

Note: The mounting holes on the upper and lower side braces in a rack side
compartment must be between 48.6 cm (19.1 in.) and 56.9 cm (22.4 in.)
apart. If your rack cabinet has movable side braces, refer to your rack
documentation for information about relocating your side braces if they are
not already spaced for this installation.

156 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Refer to the documentation that comes with your rack cabinet for additional
information.

Note: Removing the rack doors and side panels might make your Rack PDU
installation easier.

Install the Rack PDU [ on the vertical mounting plate [ with four M3x5

screws that come with this option. Make sure that the countersink holes in

the mounting plate are facing away from the device.

Note: Align the Rack PDU to one end or the other of the vertical mounting
plate to leave room for a second device.

Figure 62. Installing the Rack PDU on the vertical mounting plate

3.

If you have a second M/PDU device to install, install it on the vertical mounting
plate with four M3x5 screws that come with the second device.

Figure 63. Installing a second Rack PDU

4.

Install the vertical mounting plate B in the side of your rack cabinet with four
M6 screws and nuts that come with this option. Make sure that the
four-connector side of the Rack PDU is facing the rear of your rack cabinet, and
leave room between the vertical mounting plate and the rear EIA mounting
flanges for the cable-management bracket | .

Installing Optional Devices 157



oooo

) 200
ooooogogggg
,,,,,,,,,,

\

\

T T

T

0000000000006800000

s,

\

b |
) &E]i | )
By, 5

LS S S A S S

Figure 64. Installing the vertical mounting plate and cable-management bracket

5. Install the cable-management bracket 1 beside the vertical mounting plate with
four M6 screws and nuts that come with this option.

Proceed to |“Cab|ing your PDUs” on page 162| for instructions on how to cable
your Rack PDU.

Installing a single device horizontally
Use the following procedure to mount a single Rack PDU horizontally in your rack

cabinet:

1. Refer to the documentation that comes with your rack cabinet for additional
information.
Notes:

a. Removing the rack doors and side panels might make your Rack PDU
installation easier.

b. Use clip nuts for rack cabinets with round holes; use cage nuts for rack
cabinets with square holes.

OO TOCOOC

158 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



2.

Install the horizontal mounting bracket on one side of the Rack PDU B
with M3x5 screws [ .

Note: There are two sets of mounting holes on the bracket. You can align the
Rack PDU to be even with the back of the rack cabinet or recessed
inside, depending on how you install the bracket.

Figure 65. Installing the mounting brackets for a single device

3.

Install the single-device attachment bracket on the other side of the Rack
PDU B with two M3x5 screws . Make sure that you use the same set of
mounting holes on this bracket as you used on the bracket in the previous step.
Determine the U level within your rack cabinet where you are going to install the
Rack PDU; then, install the Flat Panel Monitor Rack Mount Kit and bracket
assembly B in the rear of the rack cabinet with four M6 screws and clip nuts
or cage nuts (two screws and nuts per bracket).

Figure 66. Installing the Rack PDU and blank filler panel

Installing Optional Devices 159



5. Install the 1U blank filler panel on the front of the rack cabinet at the same
U level as the Rack PDU. Use two M6 screws that come with this option.

Installing two devices horizontally
Use the following procedure to mount two Rack PDUs horizontally in your rack

cabinet:

1. Refer to the documentation that comes with your rack cabinet for additional
information.
Notes:

a. Removing the rack doors and side panels might make your Rack PDU
installation easier.

b. Use clip nuts for rack cabinets with round holes; use cage nuts for rack
cabinets with square holes.

OO TCOC

2. Attach a dual-device attachment bracket 6 to the right side of one of the Rack
PDUs with two M3x5 screws; then, attach another dual-device attachment
bracket 5 to the left side of the other Rack PDU with two M3x5 screws.

Notes:

a. When you install two Rack PDUs next to each other, you will need some
parts from both options.

b. Turn the second dual-device attachment bracket [J so that the threaded
holes are on the opposite side of the device as the holes on the other
attachment bracket [ .

160 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Figure 67. Installing the mounting brackets for two devices

3. Push the two Rack PDUs together, aligning the holes on the dual-device
attachment brackets; then, use four M6 screws to secure the front and rear
H of the brackets to each other.

4. Install a horizontal mounting bracket ] on the Rack PDU on the right with two
M3x5 screws [J; then, install the other horizontal mounting bracket on the
Rack PDU on the left with two M3x5 screws .

Note: There are two sets of mounting holes on the brackets. You can align the
Rack PDU to be even with the back of the rack cabinet or recessed
inside, depending on how you install the brackets.

5. Determine the U level within your rack cabinet where you are going to install the
Rack PDUs; then, install both Flat Panel Monitor Rack Mount Kits E in the
rear of the rack cabinet with four M6 screws and clip nuts or cage nuts (two
screws and nuts per bracket).

Installing Optional Devices 161



Figure 68. Installing the Rack PDUs and the blank filler panel

6. Install the 1U blank filler panel on the front of the rack cabinet at the same
U level as the Rack PDU. Use two M6 screws that come with this option.

Cabling your PDUs

Call_tl)le routing differs between horizontal and vertical Rack PDU installations. Refer
to "

Cabling instructions for vertical-mount PDUs” on page 164 or [‘Cabling instructions|
for horizontal-mount PDUS” on page 140| as appropriate for your installation.

162 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Statement 1:

A A

DANGER

Electrical current from power, telephone, and communication cables is
hazardous. To avoid a shock hazard:

* Do not connect or disconnect any cables or perform installation,
maintenance, or reconfiguration of this product during an electrical
storm.

» Connect all power cords to a properly wired and grounded electrical
outlet.

* Connect to properly wired outlets any equipment that will be attached to
this product.

* When possible, use one hand only to connect or disconnect signal
cables.

* Never turn on any equipment when there is evidence of fire, water, or
structural damage.

» Disconnect the attached power cords, telecommunications systems,
networks, and modems before you open the device covers, unless
instructed otherwise in the installation and configuration procedures.

« Connect and disconnect cables as described in the following table when
installing, moving, or opening covers on this product or attached

devices.
To connect: To disconnect:
1. Turn everything OFF. 1. Turn everything OFF.
2. First, attach all cables to devices. 2. First, remove power cords from outlet.
3. Attach signal cables to connectors. 3. Remove signal cables from connectors.
4. Attach power cords to outlet. 4. Remove all cables from devices.
5. Turn device ON.

Statement 5

CAUTION:

A A

Installing Optional Devices 163



164

The power control button on the device and the power switch on the power
supply do not turn off the electrical current supplied to the device. The device
also might have more than one power cord. To remove all electrical current
from the device, ensure that all power cords are disconnected from the power
source.

VAN

2 [{) mp —mm—
1 ([{) mp =m—

Cabling instructions for vertical-mount PDUs
If your Rack PDU came with more than two line cords, select either the high-voltage

cords or the low-voltage cords for your installation. Use the following procedure to
connect and route cables for Rack PDUs that you mounted vertically in the side of
your rack cabinet:

1. Connect one of the line cords to the main inlet on the Rack PDU. Use the line
cord that you will connect to your primary power source.

I

ol\S5 8885538258 5353 525353 53 oo

U3GO0 T O0P o T 0T BUTE 0 T0 GO0 50 T0T G0 T/00 008 G5 00 G 00 500 500G 05000 030 507
L S S S S N S A N N S S T E R B

502
5©

Figure 69. Connecting and routing the line cords

2. Connect the other line cord to the Backup inlet on the Rack PDU. Use the line
cord that you will connect to your backup power source.

3. Remove the screws on the cable clamps and route the line cords through
the clamps; then, reinstall the screws on the cable clamps and repeat step
[1]and step [2] for the other device if you installed two devices.

4. Route the line cords down and toward the rack side braces; then, route the line

cords along the side brace towards the back of the rack cabinet and secure
them with the cable straps that come with this option.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



5. Route each line cord towards a dedicated independent power source, such as a
UPS or electrical outlet. Use the provided cable straps to secure the line cords
along the way. Use the openings in your rack cabinet, if you must exit the rack
cabinet to connect to your power source.

6. After you connect both line cords to properly wired and grounded dedicated
independent power sources, you can connect one server (having up to four line
cords) to the four power outlets on the Rack PDU. Route all other power cables
neatly, and use the cable-management bracket to secure the cables that you
plug into the outlets on the Rack PDU.

\
|\\\\

55064848555 5550068 00000 00T EE 0S50 TS 08 § T OO
S W W M WMl

oo
\

1

ol

g
T

3
G
033°%
oo

o3
ooo

YeERE® T

3
A\

oo ¥ o0/
gosTs oS B e e e STTTETETT:
RN A R N b S R

TS, )
» "
* »
12
A
\ B WY

(Y2 :
ISIRG s
"

Figure 70. Connecting and routing other power cables to the outlets

Cabling instructions for horizontal-mount PDUs

If your Rack PDU came with more than two line cords, select either the high-voltage
cords or the low-voltage cords for your installation. Use the following procedure to
connect and route cables for Rack PDUs that you mounted in the horizontal EIA
space of your rack cabinet:

1. Connect one of the line cords to the Main inlet on the Rack PDU. Use the line
cord that you will connect to your primary power source.

Installing Optional Devices 165



Figure 71. Connecting and routing the line cords

2.

Connect the other line cord to the Backup inlet on the Rack PDU. Use the line
cord that you will connect to your backup power source.

Remove the screws on the cable clamps and route the line cords through the
clamps; then, reinstall the screws on the cable clamps and repeat step 1 and
step 2 for the other device, if you installed two devices.

Route the line cords left or right, toward the side of the rack cabinet; then, route
the line cords along the side brace towards the back of the rack cabinet and
secure them with the cable straps that come with this option.

Route each line cord toward a dedicated independent power source, such as a
UPS or electrical outlet. Use the provided cable straps to secure the line cords
along the way. Use the openings in your rack cabinet, if you must exit the rack
cabinet to connect to your power source.

After you connect both line cords to properly wired and grounded dedicated
independent power sources, you can connect one server (having up to four line
cords) to the four power outlets on the Rack PDU. Route all other power cables
neatly, and use cable straps to secure the cables that you plug into the outlets
on the Rack PDU.

166 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Figure 72. Connecting and routing other power cables to the outlets

Installing Optional Devices 167



Rack PDU specifications

When connected to a dedicated power source, the Rack PDU conforms to UL950,
CSA 22.0-950, EN-60950, and IEC-950 standards. The following table contains the
product specifications for the Rack PDU:

Height 43 mm (1.7 in.)

Width 192 mm (7.5 in.)

Depth 221 mm (8.7 in.)

Weight 2.4 kg (5.4 Ibs)

Operating temperatures 10°C-35°C (50°F—95°F) at 0—-914 m (0-3000 ft)
10°C-32 °C (50°F-90°F°) at 914-2133 m (3000-7000 ft)

Operating humidity 8-80% (non-condensing)

Rated voltage 100-127 V ac, 15 A, single-phase

200-240 V ac, 10 A, single-phase

Rated frequency 50-60 Hz

Maximum power rating 2400 VA

Power inlet Two IEC 320-C20 inlets rated at 16 A (VDE) / 20 A
(UL/CSA)

Transfer time <35 ms from main to backup power

Power outlets Four IEC 320-C13 outlets rated at 10 A (VDE) / 15 A
(UL/CSA)

168 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Power cables

Power cables that you use to connect a server (with more than one power supply)
to the Rack PDU usually come with the server. The following table contains a list of
power cables that you can use with the Rack PDU:

Length Cable rating |Plug type Cable part #
2.8 m (9.2 ft) 250V, 10 A |IEC 320-C13 to IEC 320-C14 36L8886
4.3 m (14 ft) 250V, 10 A |IEC 320-C13 to IEC 320-C14 94G7448

Power cables that you use to connect your Rack PDU to a UPS or Front-end PDU

come with those devices as indicated in the following table:

Cable Cable
Length rating Plug type part # Comes with:
2m (6.6 ft) |250 V, 16 A | IEC 320-C19 to IEC O0ON7700 |APC SU-5000 RMB
320-C20 UPS
(2 cables)
1m (3.3 ft) 250V, 16 A |IEC 320-C19 to IEC OON7698 | Front-end PDU (3
320-C20 cables)

Installing Optional Devices 169



Line cords

Two 4.3 m (14 ft) country-specific line cords that you use to connect your Rack
PDU to properly wired, grounded, and dedicated power sources come with the
Rack PDU. One line cord is for the Main inlet (primary power source), and the other
line cord is for the Backup inlet (backup power source). The following table contains
a list of line cords that you can use with the Rack PDU:

Line cord Line cord
Power Source rating Plug type part #
100-127 V ac, 20 127 V ac, 18 A | IEC 320-C19 to NEMA L5-20P 1245117
A
200240 V ac, 20 | 250 V ac, 18 A |IEC 320-C19 to NEMA L6-20P 14F1553
A
220-240 V ac, 16 | 250 V ac, 16 A |IEC 320-C19 to CEE7-VII 14F1554
A
220-240 V ac, 16 | 250 V ac, 16 A |IEC 320-C19 to IEC 309-2P + Gnd 36L8823
A
220-240 V ac, 16 | 250 V ac, 16 A |IEC 320-C19 to SlI 32 14F1561
A
220-240 V ac, 16 | 250 V ac, 16 A |IEC 320-C19 to CEl 23-16 14F1560
A
220-240 V ac, 16 | 250 V ac, 16 A |IEC 320-C19 to SABS 164 14F1557
A
220-240 V ac, 13 | 250 V ac, 13 A |IEC 320-C19 to BS 1363/A 12J5988
A
220-240 V ac, 15 250 V ac, 15 A |IEC 320-C19 to AS/NZ 3112 14F1559
A
220-240 V ac, 15 | 250 V ac, 15 A |IEC 320-C19 to GB 2099.1 01K9852
A
220-240 V ac, 15 | 250 V ac, 15 A |IEC 320-C19 to IRAM 2063 36L8885
A

Parts listing (Power Distribution Units)

Power Distribution Unit FRU
Rack PDU 09N9668
Server PDU 09N9669
Front End PDU 09N9670
Common Mounting Hardware Kit 09N9671
3-Phase NEMA L21-30P Line Cord (200-250 V ac) 24P6844
3-Phase IEC 309-3P+N+Gnd Line Cord (380-415 V ac) 24P6845
1-Phase NEMA L5-30P Line Cord (100-127 V ac) 24P6846
1-Phase NEMA L6-30P Line Cord (200-240 V ac) 24P6847
1-Phase |IEC 309-2P+Gnd Line Cord (200-240 V ac) 24P6848

Selector switch locations

Note: For information about the IBM NetBAY Console Switch, see [IBM NetBAY

[Console Switch” on page 121}

170 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308




i

|
T |
;ﬂﬂﬂﬂﬂﬂﬂ@ﬂﬂ/
T

[cosonpgoocoooooogoonoog

—_———

Figure 73. Selector switch in monitor compartment

®

@Q @ @Q
© LTREReerRrRR R RERRORE °
o \a AN AN AN AN D AN AN AN IR =\ o
° /; %/;y@@@@y@%%%ﬂ :
=4 @ Y e

)

° | — | —
m&ﬂﬂﬂﬂﬂﬂﬂ

e s s s e s e s e s s s

REAR

Figure 74. Selector switch between side panels

171

Installing Optional Devices



Figure 75. Selector switch rear of rack with blank panel front of rack

Selector switch cable connections

Computer 3 Power Cord
Monitor Monitor Connector
] Reset One Two - B
oo "% oo oFes ) o So g8
tE
e Q Q 2
Keyboard Mouse Computer 3 Computer 3 Power
Keyboard Mouse Switch

Tiered switch configuration

Monitor

Keyboard

Mouse

Connectors System 1t0 8

Three

Reset

so | o

One eight-port primary selector switch can accommodate up to eight secondary
selector switches which can then support up to 64 servers.

Note: There are two types of selector switches available:
* 4 port
* 8 port

172 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308




Selector switch environment

. Keyboard Mouse
) g ﬁﬂ

Selector Switch

L Server 1

[=—]

Console Server2
Cable

Set Server 3

Server 4

Figure 76. Single selector switch

. Keyboard Mouse
| O Eﬁ

Primary Selector Switch

L Server 1 =
Console

Cable = |
Server 3

Secondary Selector Switch

L Server 4

Server 5

Figure 77. Multiple selector switch

Resetting the selector switch

The selector switch can be reset by depressing the Reset button on the back panel
of the selector switch.

Note: Pressing the reset button might recover the device settings without having to
power-off, then power-on all the servers.

Installing Optional Devices 173



Blank bezel

Fixed shelf

oog

174  Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Keyboard tray

To remove the tray from the side rails, pull up on the left rail tab and push down on
the right rail tab.

Removing the existing flat panel monitor stand

Use the following steps to remove the existing flat panel monitor stand from your

monitor:

1. Unplug the flat panel monitor and disconnect the power cord from the flat panel
monitor power supply.

2. Carefully use a flat-blade screwdriver to pry the bottom of the cable cover
up and remove it. Save the cable cover for later reinstallation.

Figure 78. Removing the cable cover, hinge cover, and stand cover

3. Squeeze the sides of the hinge cover B and remove it.

Installing Optional Devices 175



Note: Even though this hinge cover is not used with the Flat Panel Monitor
Rack Mount Kit, do not discard it. Store it with the other monitor stand
parts you remove for possible future use.

4. Gently push the stand cover ] and slide it backwards until it is completely off

the stand.

5. Disconnect the signal cable and power cord from the flat panel monitor.
Carefully remove and save the plastic cable clamp to free the power cord.

Note: The plastic cable clamp is reusable and is needed to secure the power
cord after installing the Flat Panel Monitor Rack Mount Kit on the flat
panel monitor.

\ 4

S

-

=

t

Figure 79. Removing the plastic cable clamp

6. Lay the monitor facedown on a cushioned surface and remove the six screws
that secure the hinges to the flat panel monitor.

Figure 80. Removing the existing monitor stand from the monitor

7. Lift off the hinge and monitor stand assembly. Store this assembly in a safe
place for possible future use.

Installing the new monitor stand

Refer to [‘Removing the existing flat panel monitor stand” on page 175| for

instructions on how to remove the existing stand from the flat panel monitor. Before
installing the new stand, install the keyboard tray in the rack according to the
instructions that come with the rack or the keyboard tray option.

176 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Note: The Flat Panel Monitor Rack Mount Kit and keyboard tray require 3U of rack
mounting space. If the keyboard tray does not have at least 2U of clearance
above it, relocate the keyboard tray within the rack.

Use the following steps to install the Flat Panel Monitor Rack Mount Kit:

1. Remove the cable cover from the new monitor stand; then, remove the
four screws (two per hinge) that secure the hinges B to the stand.

Figure 81. Removing the hinges from the new monitor stand

2. Install the hinges on the flat panel monitor, using the six screws that you
removed from the old monitor stand.

Figure 82. Installing the hinges on the flat panel monitor

Note: Be sure to slide each hinge into place on the back of the monitor and
align the holes in the hinges with holes on the monitor.

3. Lower the flat panel monitor onto the new monitor stand, making sure that you
align the holes in the stand with holes in the hinges; then, secure the flat panel
monitor to the monitor stand with the four screws that you removed earlier.

Installing Optional Devices 177



178

Figure 83. Installing the monitor on the new monitor stand

You have now finished attaching the flat panel monitor to its stand. The rest of
the installation process involves preparing the keyboard tray for storage and
routing cables.

Notes:

a. You must remove any keyboard or mouse that is already in the keyboard
tray before continuing.

b. You will not be able to store a mouse in the keyboard tray after installing
the Flat Panel Monitor Rack Mount Kit.

c. You can only store a space-saver keyboard in the keyboard tray.

4. Install the mounting studs B and bumpers that come in the monitor
mounting hardware package.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Figure 84. Installing the flat panel monitor in the keyboard tray

Note: Clean the installation area on the keyboard tray with a suitable cleaning
agent, such as alcohol, before installing the rubber bumpers on the front
of the keyboard tray.

5. Open the flat panel monitor ] to its full upright position and align the grooves
in the stand with the mounting studs B in the keyboard tray. When the
monitor stand is sitting inside the keyboard tray, slide it towards the back until
it stops.

Note: Install or remove the flat panel monitor only when the display is in its
upright position.
6. Secure the monitor stand in the back of the keyboard tray with the two
provided screws [.

7. Place the flat panel monitor power supply, which came with your flat panel
monitor, inside the monitor stand. If necessary, insert the power supply spacer
behind the power supply and over the cable to keep the power supply in
place.

Installing Optional Devices 179



Figure 85. Storing the power supply and routing cables

8. Connect the power supply to the monitor and route the cable under the tab
near the top of the monitor stand [ ; then, secure the power cable with the
cable clamp you removed from the original stand and coil excess cable inside
the monitor stand.

9. Connect the monitor signal cable to the monitor and route it under the tab in
the bottom of the monitor stand [ and out the back of the stand through the
hole provided.

10. Replace the monitor stand cover .

Figure 86. Installing the cable cover, hinge cover, and stand cover

11. Snap the new hinge cover ] into place over the hinge assembly.

Note: Be sure to use the new hinge cover that comes with the Flat Panel
Monitor Rack Mount Kit because it has deeper grooves to
accommodate the new hinge assembly.

L

New hinge cover Old hinge cover

12. Snap the cable cover [ into place on the back of the flat panel monitor.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



13. Fold the flat panel monitor down until it rests on the rubber bumpers; then,
gently push back and remove the small cable exit cover on the monitor
stand.

Figure 87. Routing the keyboard cable

14. Route the space-saver keyboard cable through the hole in the front of the base
and out the opening in the back where you removed the small cover; then,
place the keyboard (with its adjustable feet fully down) inside the keyboard
tray.

Note: You must open the flat panel monitor to its full upright position so that
you can install the keyboard and route its cable.

15. Fold the flat panel monitor down again until it rests on the rubber bumpers;
then, reinstall the small cable exit cover .

16. Slide the keyboard tray into the rack; then, neatly route and secure all cables
in the rack using the provided cable straps.
You can now connect the power cord to the flat panel monitor and connect the
display to a server.

Starting the system

Start the system by:

1. Power-on the selector switch(s).
2. Power-on the monitor.

3. Power-on the servers.

Note: The selector switch must be powered on first, then the servers. This is to
assure that the device drivers for the servers send device settings to the
selector switch.

When the selector switch is powered on, it:
* |dentifies the mouse and keyboard and puts them into default status.

» Switches to port 1 by default, and displays the number '1’ in the status flag field
on the monitor.

Installing Optional Devices 181



Configuring the selector switch

Note: For information about the IBM NetBAY Console Switch, see ['IBM NetBAY
{Console Switch” on page 121}

Note: Some selector switch units have different functions and displays. Refer to the
Apex PC Solutions® Outlook™ Concentrator User Guide. This guide is
shipped with the Selector Switch Unit.

No configuration is necessary for normal switch operation.

Switch configuration can be performed to:
* Assign unique names to servers.
» Display servers by their assigned port names and port numbers.

Switching among servers

To switch among servers:

* Press the Print Screen key.

* Type the port number of the server to be switched.
* Press Enter.

Note: One depression of the Print Screen key starts the switching process. To
print a screen, depress the Print Screen key twice.

Name

Magic +
CentralOfc +
Sales-C +
Sales-B
Sales-A +
Downtown
Foreign +

o
o
ONOoOOT P WN =
o+

F1 Help F2 Advanced
N

4 N\

Port Name

CentralOfc 2
Downtown 6
Foreign 7
Magic 1
Sales-A 5+
Sales-B 4
Sales-C 3

8

F1 Help F2 Advanced
o J

* Using the Up Arrow (1) and Down Arrow (i), select the server you want to
switch to, or press the numeric key that corresponds to the server’s port number
and then press Enter.

The symbols after the Port or Name columns on the menu show the status of the
port as follows:

182 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Type of Symbol Symbol Meaning

Plus + Server connected and running

Asterisk * Secondary selector switch connected and running

Advanced selector switch functions

System configuration is performed through the keyboard and menus to include
these Advanced selector switch functions:

Scanning the servers

Displaying server BIOS versions and settings

Saving the Hardware Configuration

Resetting the mouse and keyboard

Setting a scan pattern

Assigning unique names to the servers

Listing servers by name or port number (Changing Menu Attributes)

Changing the position and color of the operation menus and windows (Changing
Flag Attributes)

Assigning a specific monitor type to a certain port (server)

Scanning the servers
To place the selector switch in scan mode:

Press the Print Screen key
Press the F2 key to display the Advanced Menu screen.

Using the Up Arrow (1) and Down Arrow (V) keys, move the highlighting to
Scan and press Enter. The selector switch enters the scan mode and the display
returns to the status flag. To cancel the operation, press Esc any time before you
press Enter.

To cancel the scan mode, press any key or move the mouse. The scan stops at
the currently connected server.

Displaying version information and device settings

The selector switch BIOS version number along with keyboard and mouse
information can be displayed for the currently selected server.

Press the Print Screen key.
Press the F2 key to display the Advanced Menu screen.

Using the Up Arrow (%) and Down Arrow (V) keys, move the highlighting to
Version and press Enter.

4 N
Version
BIOS X. XX
Hardware X X
Port 1 Magic 1
Keyboard Mouse
Enabled EnabTed
Rate 2C Rate 100
LEDs 2 Res 2
Mode 2
Type 101 Type Gen
o %

Keyboard information includes:

Installing Optional Devices 183



— Enabled or disabled

— Typematic rate

— LED settings

— Port mode

— Keyboard type.
* Mouse information includes:
Enabled or disabled
Sample rate
Resolution
Mouse type
* Press Esc to remove the Version menu.

Saving Hardware Configuration

Whenever servers are added to or removed from the configuration, or whenever
there is a change in the mouse or monitor, save the hardware configuration setting
by:

1. Press the Print Screen key.

2. Press the F2 key to display the Advanced Menu screen.

3. Using the Up Arrow (1) and Down Arrow ({) keys, move the highlighting to
Snapshot and press the Enter key. The hardware settings are saved to
memory.

Important: If the settings are not saved and the selector switch power is lost, it
might be necessary to restart each server in the configuration to
reestablish keyboard and mouse communications.

Resetting the mouse and keyboard

Resetting the mouse and keyboard restores the default setting for the selected
server.

* Press the Print Screen key.
* Press the F2 key to display the Advanced Menu screen.

* Using the Up Arrow (%) and Down Arrow (i) keys, move the highlighting to
Reset and press the Enter key. The mouse and keyboard are now reset.

Setting a scan pattern

184

The selector switch has a standard scan routine for sequentially connecting each
server to the monitor, keyboard, and mouse. The scan routine can be configured to
scan all or any of the servers in a particular pattern. To create a scan pattern, do
the following.

1. Press the Print Screen key.

2. Press the F2 key to display the Advanced Menu screen. Press the Right Arrow
(») key to move the highlight to the Setup Menu.

3. Using the Up Arrow (1) and Down Arrow ({) keys, move the highlighting to
Scan and press the Enter key. The Scan Pattern Setup menu appears with the
first port position or server name highlighted. The following example screen
displays when the port order mode is selected.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



8.

Scan Pattern Setup

Port/Sec Name
6/20 Downtown
5/20 Sales-A
4/10 Sales-B
1/10 Match

F2 for defaults
o

If Name order was selected, the Port and Name columns will be reversed.

Using the keyboard keys, select the port number of the first server to be
included in the scan. Note that the server name, if any is assigned, appears in
the far right column on the menu.

Press the Tab key or Right Arrow (») key to move the highlighting to the Sec
column. Then, use the keyboard keys to enter a time value, in seconds, for the
length of time you want this server to be connected to the monitor and
keyboard, before switching to the next server in the scan.

Press the Down Arrow (V) key to move the highlighting to the next port in the
Port column and repeat step 5. To delete unwanted ports from the scan list in
the Scan Pattern Setup window, place the highlighting on the top-most port to
be removed and press the Delete key (not the Del key on the numeric
keypad).

When you have finished setting the scan pattern, press the Enter key. Press
Esc at any time before pressing Enter to retain the previous scan pattern.

Note: Pressing the F2 key will return all Port and Sec values to the factory
defaults.

To exit, press Esc.

Assigning Unique Names to Servers

Unique names can be given to servers and secondary selector switches. To assign
names:

1.
2.

3.

Press the Print Screen key

Press the F2 key to display the Advanced Menu screen. Press the Right Arrow
() key to move the highlight to the Setup Menu.

Using the Up Arrow (1) and Down Arrow (V) keys, move the highlighting to

Names and press the Enter key. The Port Naming menu appears, as shown
below.

Port Naming

Port Name

1 MAGIC

2 CENTRALOFC
3 SALES-C

4 SALES-B

5 SALES-A

6 DOWNTOWN

7 FOREIGN

8

- v

Move the highlighting to the Port entry for which the server name is to be
entered or changed. Type in the name of the server using up to 12
alphanumeric characters.

Installing Optional Devices 185



7.

Note: Legal characters are A-Z, 0-9, and the dash character. Lowercase letters
are converted to uppercase. Press the Backspace key to delete an
incorrect entry.

If necessary, repeat step 4 for each of the servers that are to be named.

Press the Enter key to save the server names in nonvolatile RAM. Press Esc at
any time before pressing Enter to cancel the operation.

To exit, press Esc.

Changing menu attributes

The menus displayed on the monitor can be altered in visual appearance to suit the
particular use of the system. You can:

Position the menu in a convenient location on the display.

List servers by port or by name, whichever is desired, in the appropriate menus.
Adjust character height.

Change colors.

Display the selection menu for a certain period.

To change the menu attributes, do the following:

Press the Print Screen key.

Press the F2 key to display the Advanced Menu screen. Press the Right Arrow
(») key to move the highlighting to the Setup list.

Using the Up Arrow (1) and Down Arrow (V) keys, move the highlighting to
OSCAR™. (On Screen Configuration and Activity Reporting) and press the Enter
key. The following Attribute menu appears.

4 N
O0SCAR Attributes
Resolution 640
Height 16
Horizontal 12
Vertical 7
Background 1
Highlight 4
Text 7
Delay Time 0
Order Port
o J

Highlight the settings you want to change and use the + or - keys to change the
values. As you select different values, the effect of the changes is reflected
immediately on the display.

When all changes are completed, press the Enter key to save the changes to
nonvolatile RAM. Press Esc at any time before pressing Enter to cancel the
operation and retain the previous settings.

Note: It is possible, while changing the attributes, to garble the menu and
windows, making it difficult to correct. If this occurs, reset the selector
switch to its default values by pressing the following keys in this order:

1. Esc

2. Esc

3. Print Screen
4. F10

5. Y

186 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



6. Enter

Available menu attributes:

Setting
Resolution

Height

Horizontal/Vertical
Background
Highlight

Text

Delay Time

Order

Effect on Menu or Window Appearance

Affects the size of the menu and windows as they appear on the
display. Choose from values of 320, 480, and 640. The lower the
value, the larger the size.

Affects the size of the text in the menu and windows. The larger the
value, the larger the text.

Determines the position of the menu or window on the screen.
Determines the menu or window background color.

Determines the menu or window highlight bar color.

Determines the menu or window text color.

Sets the time in seconds that the OSCAR selection window is
delayed before appearing after the Print Screen key is pressed. This
delay may be increased so that the menu is not a distraction when
performing simple server switching operations at the keyboard.
Determines the order which the servers are listed, numerically by port
or alphabetically by assigned name.

Changing the status flag attributes

The status flag shows the currently connected server and can be set to appear on
the screen whenever the system is operating. You can alter how and where the flag
appears on the screen by changing one or more of the following attributes:

» Appearance on the screen: none, timed, or constant
» Position on the screen
» Color and opaqueness

To change the flag attributes, do the following:
1. Press the Print Screen key.

2. Press theF2 key to display the Advanced Menu screen. Press the Right Arrow
(») key to move the highlighting to the Setup menu.

3. Using the Up Arrow (1) and Down Arrow ({) keys, move the highlight to Flag
and press the Enter key.

Flag Attributes

EnabTed  Names on

Row 14
Column 1
Color 2
Text 0
Mode Transparent

4. Highlight the setting to be changed and use the + and - keys to adjust the
values. The following table describes each of the available menu attributes:

Installing Optional Devices 187



Setting Values and Effect on Flag Appearance

Enabled Flags Off = Flag does not appear

Ports On = Flag shows the connected port number
Names On = Flag shows the connected server by name
Ports Timed = Port number displays for five seconds after connection

Names Timed = Name displays for five seconds after connection

Row Select values from 0—14 to position the flag vertically on the screen

Column Select values from 0-25 to position the flag horizontally on the screen

Color Select values from 0-7 for the flag color.

Text Select values from 0-7 for the flag text color

Mode Choose between Opaque and Transparent

5. Press the Enter key to save the settings. Press Esc at anytime before pressing

6.

Enter to cancel the operation and save the previous settings.
Press Esc to exit.

Assigning specific device types
In situations where one or more servers need a special type of monitor device, it

might be necessary to assign that device type to the port number associated with
the server.

188

Note: When tiering, you must make the primary selector switch aware of the

secondaries through the assignment.

Assign a device type as follows:

1.
2.

Press the Print Screen key.

Press the F2 key to display the Advanced Menu screen. Press the Right Arrow
(») key to move the highlighting to the Setup menu.

Using the Up Arrow (1) and Down Arrow ({) keys, move the highlighting to
Devices and press the Enter key. The following menu appears:

Device Settings

Port Monitor
1 SVGA
2 SVGA
3 8515
4 SVGA
5 Default
6 Default
7 Default
8

L 8port )

To assign a monitor type, highlight the port you want and use the + or - keys to
select the value that corresponds to the particular monitor.

To assign a secondary selector switch to a port, highlight the port and use the +
or - keys to obtain the appropriate port value.

Press the Enter key to save the settings. Press Esc at any time before pressing
Enter to cancel the operation.

Press Esc to remove the Advanced Menu from the screen.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308




Making connections under power

Additional servers, can be connected to the selector switch while the selector switch
is running.

Failed devices such as a keyboard or mouse can be connected to a running
selector switch.

Note: When new devices are connected, the selector switch recognizes it and
configures it to the settings of the currently selected server.

Installing Optional Devices 189



190 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Related service information

These procedures are written with the assumption that you have model-specific
training on all computers, or that are familiar with the computers, functions,
terminology, and service information provided in this manual.

Safety information

The following section contains the safety information that you need to know before
servicing an IBM server or IBM supporting equipment such as the Type 9306 IBM
PC Server Rack Enclosure and Type 9306 IBM Rack.

1.

© Copyright IBM Corp. 2001

A

DANGER

* The maximum allowable weight for devices mounted on slides is 80 Kg
(176 Ibs). Do not install sliding devices exceeding this weight.

* The center of gravity for an extended unit cannot exceed 362 mm (14.25
in.) from the face of the rack. If an extended device exceeds this
distance, the configured rack might be unstable.

A

DANGER

* Always install servers and power devices in the rack from the bottom to
the top.

« Always install the heaviest equipment in the bottom of the rack.

« Always install the UPS (uninterruptible power supply) in the bottom of
the rack.

» Always install the stabilizer bracket.
* Do not extend more than one sliding device at a time.

£

DANGER
Plug rack power cords into electrical outlets that are located near the rack
and are easily accessible.

£

DANGER

Connect all devices installed in a rack to power devices installed in the
same rack. Do not plug the power cord from a device installed in one rack
into a power device installed in a different rack.

191



192

A

PERIGO

* O peso maximo permitido para dispositivos montados em trilhos é de
80 kg (176 Ibs). Nao instale dispositivos em trilhos que excedam este
peso.

* O centro de gravidade para uma unidade estendida ndo pode exceder
362 mm (14.25 in.) da frente do rack. Se um dispositivo estendido
exceder esta distancia, o rack configurado pode se tornar instﬁUY—|—éveI.

A

PERIGO

* Instale sempre os servidores e dispositivos de alimentacédo no rack de
baixo para cima.

« Sempre instale o equipamento mais pesado na parte inferior do rack.

* Sempre instale a fonte de alimentacao continua (UPS) na parte inferior
do rack.

* Sempre instale o suporte do estabilizador.
* Nao estenda mais de um dispositivo com trilho de uma vez.

£

PERIGO

Conecte os cabos de alimentacao do rack em saidas elétricas localizadas
perto do rack e de facil acesso.

£

PERIGO

Conecte todos os dispositivos de um rack aos dispositivos de energia
instalados no mesmo rack. Nao conecte um cabo de alimentacao de um
dispositivo instalado em um rack a um dispositivo de energia instalado
em um rack diferente.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



DANGER
e
o EREIEENBELZAAKREERSTE (17688) , Bit#
Ly S * =
o —NEFHEAELECMNERT AT BEL3620m (14, 253k )
B A RIS IR, CHR AL R A
DANGER
R

o BSCENRPE T ERRESFBMRFRE.
ESCENREBRREEENRE.
EHVENRERRE UPS (FEERIR .
BEHFLREEERELR.
—REZERF—NEIEE.

£

DANGER
ek

TSR e R AR SR P AR N\ PR RIEE .

£

DANGER

BB
VR P B A T A 5 B — AR 2 1 R
éigaﬁﬁ%M~%mmm§ﬁﬁﬁﬁﬂﬁﬁﬁ§¢gﬁ@@

Related service information 193



194

A

DANGER

* Le poids maximal d’'une unité montée sur glissiéres est de 80 kg ;
n’installez pas d’unités dont le poids est supérieur.

* Le centre de gravité d’une unité tirée hors de son logement ne doit pas
étre éloigné de plus de 362 mm de la face avant de I’armoire. Sinon,
I’armoire configurée risque de ne pas étre stable.

A

DANGER

- Commencez toujours par installer les serveurs et les blocs
d’alimentation dans la partie inférieure de I’'armoire.

* Installez toujours les composants les plus lourds dans la partie
inférieure de I'armoire.

* Installez toujours les blocs d’alimentation (UPS) dans la partie inférieure
de I’'armoire.

» Installez toujours les stabilisateurs.

« Certaines unités sont installées sur des tiroirs coulissants. N'ouvrez
pas plusieurs de ces tiroirs a la fois.

£\

Danger

Branchez les cordons d’alimentation sur des socles de prises de courant
proches de I'armoire et facilement accessibles.

£

DANGER

Toutes les unités installées dans une armoire doivent étre reliées a des
unités d’alimentation situées dans la méme armoire. Ne branchez jamais le
cordon d’alimentation d’une unité installée dans une armoire sur une unité
d’alimentation installée dans une autre armoire.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



A

VORSICHT

» Das zuldssige Hochstgewicht fiir auf Schienen montierte Einheiten
betrédgt 80 kg. Keine Einheiten mit héheren Gewicht einbauen.

« Der Schwerpunkt einer ausgefahrenen Einheit darf nicht mehr als 362
mm von der Frontseite des Gehéduse entfernt liegen. Liegt der
Schwerpunkt weiter entfernt, kann das konfigurierte Gehause instabil
werden.

A

VORSICHT

¢ Server und Netzeinheiten immer von unten nach oben im Gehause
installieren.

¢ Die schwersten Einheiten unten installieren.

* Die USV (Unterbrechungsfreie Stromversorgung) immer unten
installieren.

* Immer die Kippsicherung anbringen.
* Nie mehr als jeweils eine Einschubeinheit herausziehen.

£

VORSICHT
Die Netzkabel des Gehauses an Steckdosen anschliefen, die sich in der
Nédhe des Gehéuses befinden und gut zuganglich sind.

£

VORSICHT

Alle in einem Gehéause installierten Einheiten an Netzeinheiten in einem
Gehéause anschliepen. Nicht das Netzkabel einer in einem Gehause
befindlichen Einheit an eine Netzeinheit in einem anderen Gehause
anschliepen.

Related service information 195



196

A

PERICOLO

* |l peso massimo consentito per i dispositivi montati su slitte & di 80 kg.
Non installare dispositivi scorrevoli che hanno un peso superiore a
quello sopra citato.

* |l centro di gravita di un’unita estratta non puosuperare i 362 mm dalla
superficie del rack. In caso contrario, il rack configurato potrebbe
essere instabile.

A

PERICOLO

» Installare sempre i serventi e gli alimentatori nel rack dal basso verso
I’alto.

* Installare sempre il componente piu pesante nella parte inferiore del
rack.

* Installare sempre I’'UPS (uninterruptible power supply) nella parte
inferiore del rack.

» Installare sempre il supporto stabilizzatore.
* Non aprire piu di un’unita scorrevole alla volta.

I

PERICOLO
Inserire i cavi di alimentazione del rack in prese elettriche situate vicino al
rack e di facile accesso.

£

PERICOLO

Collegare tutte le unita installate nel rack ai dispositivi di alimentazione
installati nello stesso rack. Non collegare il cavo di alimentazione di
un’unita installata in un rack al dispositivo di alimentazione di un
differente rack.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



80 kg(176 lbs) LIt}

A
A
[e]
.

e

e

14 v

S

I

RACK®] ¢t 0 2 H B 362 mm(14.25 in)E

s

op

k=

o

gl

| BIS S IR M 2t

o)

<0
100

o)

on

100

10)

RACK 249 9031 4071 428 % 9)

171 2184, RACK Sl A %]

K

& 24

RACK®l A9 44
3 RACKO] A ] &

)]

= o
o

&

=

il

EEEEE

el

197

Related service information



A

PELIGRO

* El peso maximo permitido para los dispositivos montados en correderas es
de 80 Kg (176 Ibs). No instale dispositivos deslizantes que excedan este
peso.

» El centro de gravedad de una unidad extendida no puede exceder los 362
mm (14,25 pgda.) desde la parte frontal del bastidor. Si un dispositivo
extendido excede esta distancia, el bastidor que lo contuviese podria ser
poco estable.

A

PELIGRO

* Instale siempre los servidores y dispositivos de alimentacion en el bastidor
de abajo a arriba.

* Instale siempre el equipo mas pesado en la parte baja del bastidor.

* Instale siempre los UPS (fuentes de alimentacién ininterrumpible) en la parte
baja del bastidor.

* Instale siempre la pestafna estabilizadora.

* No extienda mas de un dispositivo deslizante a la vez.

£

PELIGRO

¢ Enchufe los cables de alimentacion del bastidor en tomas eléctricas
que estén situadas cerca de éste y a las que se pueda acceder
facilmente.

£\

PELIGRO

« Conecte todos los dispositivos instalados en un bastidor a los
dispositivos de alimentacion instalados en dicho bastidor. No enchufe
el cable de alimentaciéon de un dispositivo instalado en un bastidor en
un dispositivo de alimentacion instalado en un bastidor diferente.

Safety notices (multilingual translations)

The caution and danger safety notices in this section are provided in the following
languages:

* English

» Brazilian/Portuguese

* Chinese

* French

* German

 ltalian

198 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



» Japanese

Korean

* Spanish

Important: All caution and danger statements in this IBM documentation begin with

a number. This number is used to cross reference an English caution or
danger statement with translated versions of the caution or danger
statement in this section.

For example, if a caution statement begins with a number 1,
translations for that caution statement appear in this section under
statement 1.

Be sure to read all caution and danger statements before performing
any of the instructions.

Statement 1

JAN

DANGER

Electrical current from power, telephone and communication cables is hazardous.

To avoid a shock hazard:

Do not connect or disconnect any cables or perform installation, maintenance, or
reconfiguration of this product during an electrical storm.

Connect all power cords to a properly wired and grounded electrical outlet.
Connect to properly wired outlets any equipment that will be attached to this
product.

When possible, use one hand only to connect or disconnect signal cables.

Never turn on any equipment when there is evidence of fire, water, or structural
damage.

Disconnect the attached power cords, telecommunications systems, networks, and
modems before you open the device covers, unless instructed otherwise in the
installation and configuration procedures.

Connect and disconnect cables as described in the following table when installing,
moving, or opening covers on this product or attached devices.

To Connect To Disconnect

1. Turn everything OFF. 1. Turn everything OFF.

2. First, attach all cables to devices. 2. First, remove power cords from outlet.
3. Attach signal cables to connectors. 3. Remove signal cables from connectors.
4. Attach power cords to outlet. 4. Remove all cables from devices.

5. Turn device ON.

Related service information 199



» Statement 2

A

CAUTION:

When replacing the lithium battery, use only IBM Part Number 33F8354 or an
equivalent type battery recommended by the manufacturer. If your system has a
module containing a lithium battery, replace it only with the same module type made
by the same manufacturer. The battery contains lithium and can explode if not
properly used, handled, or disposed of.

Do not:

* Throw or immerse into water

* Heat to more than 100°C (212°F)
* Repair or disassemble

Dispose of the battery as required by local ordinances or regulations.

» Statement 3

A

CAUTION:

When laser products (such as CD-ROMs, DVD-ROM drives, fiber optic devices, or

transmitters) are installed, note the following:

* Do not remove the covers. Removing the covers of the laser product could result
in exposure to hazardous laser radiation. There are no serviceable parts inside the
device.

» Use of controls or adjustments or performance of procedures other than those
specified herein might result in hazardous radiation exposure.

A

DANGER: Some laser products contain an embedded Class 3A or Class 3B laser
diode. Note the following:

Laser radiation when open. Do not stare into the beam, do not view directly with
optical instruments, and avoid direct exposure to the beam.

» Statement 4

A

=18 kg (37 Ibs) 232 kg (70.5 Ibs) =55 kg (121.2 Ibs)
CAUTION:
Use safe practices when lifting.

200 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



« Statement 5

A A\

CAUTION:

The power control button on the device and the power switch on the power supply do
not turn off the electrical current supplied to the device. The device also might have
more than one power cord. To remove all electrical current from the device, ensure
that all power cords are disconnected from the power source.

YA

2 [ mp =mm—
1 [{) mp =mm—

¢ Statement 10
CAUTION:

Do not place any object weighing more than 82 kg (180 Ibs.) on top of rack-mounted
devices.

Related service information 201



Importante:

Todas as instrugdes de cuidado e perigo da IBM documentation comegam com um
numero. Este numero é utilizado para fazer referéncia cruzada de uma instrugéo de
cuidado ou perigo no idioma inglés com as versOes traduzidas das instru¢des de
cuidado ou perigo encontradas nesta secao.

Por exemplo, se uma instrugao de cuidado é iniciada com o ndmero 1, as
traducbes para aquela instrugcao de cuidado aparecem nesta secédo sob a instrucédo
1.

Certifique-se de ler todas as instrugdes de cuidado e perigo antes de executar
qualquer operacgao.

* Instrugcéo 1

A\ A

PERIGO

A corrente elétrica proveniente de cabos de alimentacéo, de telefone e de comunicacoes é
perigosa.

Para evitar risco de choque:

» Nao conecte ou desconecte cabos e ndo realize instalacdo, manutencdo ou
reconfiguracao deste produto durante uma tempestade com raios.

» Conecte todos os cabos de alimentacdo a tomadas elétricas corretamente instaladas e
aterradas.

» Conecte todos os equipamentos ao qual esse produto sera conectado a tomadas
corretamente instaladas.

» Sempre que possivel, utilize apenas uma das maos para conectar ou desconectar cabos
de sinal.

* Nunca ligue qualquer equipamento quando existir evidéncia de danos por fogo, agua ou
na estrutura.

» Desconecte cabos de alimentacao, sistemas de telecomunicacéo, redes e modems antes
de abrir as tampas dos dispositivos, a menos que especificado de maneira diferente nos
procedimentos de instalacéo e configuragéo.

» Conecte e desconecte cabos conforme descrito na seguinte tabela, ao instalar ou
movimentar este produto ou os dispositivos conectados, ou ao abrir suas tampas.

Para Conectar: Para Desconectar:

1. DESLIGUE Tudo. 1. DESLIGUE Tudo.

2. Primeiramente, conecte todos os cabos |2. Primeiramente, remova os cabos de
aos dispositivos. alimentac@o das tomadas.

3. Conecte os cabos de sinal aos 3. Remova os cabos de sinal dos
conectores. conectores.

4. Conecte os cabos de alimentacédo as 4. Remova todos os cabos dos dispositivos.
tomadas.

5. LIGUE os dispositivos.

202 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



* Instrugédo 2

A

CUIDADO:

Ao substituir a bateria de litio, utilize apenas uma bateria IBM, Numero de Peca 33F8354
ou uma bateria de tipo equivalente, recomendada pelo fabricante. Se o seu sistema possui
um moidulo com uma bateria de litio, substitua-o apenas pelo mesmo tipo de midulo, do
mesmo fabricante. A bateria contém litio e pode explodir se nao for utilizada, manuseada e
descartada de maneira correta.

Nao:

» Jogue ou coloque na agua

* Aqueca a mais de 100°C (212°F)
» Conserte nem desmonte

Para descartar a bateria, entre em contato com a area de atendimento a clientes IBM, pelo
telefone (011) 889-8986, para obter informagdes sobre como enviar a bateria pelo correio
para a IBM.

e Instrugdo 3

A

PRECAUCION:

Quando produtos a laser (unidades de CD-ROM, unidades de DVD, dispositivos de fibra

itica, transmissores, etc.) estiverem instalados, observe o seguinte:

* Nao remova as tampas. A remocao das tampas de um produto a laser pode resultar em
exposicado prejudicial a radiagdo de laser. Nenhuma peca localizada no interior do
dispositivo pode ser consertada.

» A utilizagdo de controles ou ajustes ou a execucao de procedimentos diferentes dos
especificados aqui pode resultar em exposi¢éo prejudicial a radiagéo.

PERIGO

Alguns produtos a laser contém um diodo laser da Classe 3A ou Classe 3B embutido.
Observe o seguinte:

Radiacéo de laser quando aberto. Nao olhe diretamente para o raio a olho nu ou com
instrumentos iticos, e evite exposicéo direta ao raio.

Related service information 203



204

* Instrugéao 4

A

218 kg (37 Ibs) 232 kg (70.5 Ibs) =55 kg (121.2 Ibs)
CUIDADO:

Ao levantar a maquina, faga-o com seguranca.

* Instrugéo 5

A A

CUIDADO:

Os botdes Liga/Desliga localizados no dispositivo e na fonte de alimentagao nao desligam a
corrente elétrica fornecida ao dispositivo. O dispositivo também pode ter mais de um cabo
de alimentacé@o. Para remover toda a corrente elétrica do dispositivo, assegure que todos
os cabos de alimentagéo estejam desconectados da fonte de energia elétrica.

A A

2 [ mp =—
1 [ mp =m—

* Instrugéo 10
CUIDADO:

Nao coloque nenhum objeto com peso superior a 82 kg (180 Ibs.) sobre dispositivos
montados em rack.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



BE.
Server Library A[KIFTEE @ﬁfﬁé@%{

BAE AR BEEREAREIX G %
SCRTRBEAIC IS &k A2 B -5 20 2 O e
A EXTFHRENER K.
Mw,m%—A%E§%mmﬁ$ﬁl NAHR S AR
MHBECRFERS 1

EWATEMIERRRELR, BFRHRECERE TN
RERER .

> ¢
>

ar
[

BiR. BENBEEERRHEERRER.
popid b
TR EFEREEANRE. EERERLER~R.

RAAERREERZEMBRACRSBRIBMRIRAEL.
W SAF-RERNAE REEREERFROMBEL.
REREAEFRIZESHLE.

AR RBREMRIFERE, EDFTFHEMRE.

BEREREIRPEMBIET, B, FTFRENSEN
RiScWiFF S miRsk. WRIBERA. WM RIEBMAT

AEHE.
ﬁﬁégﬁggggfﬁﬁimﬁﬁéﬂm%ﬁyE&Ti
ps2:3:H i FF S :

1. XEFERE. 1. XAMRBRE.

2. HEBAAREEETERE. 2 HEMNIEFREAES.
3. BESRAERERDO. 3. NEO LR TES R,

4. BRERERERE.

Related service information 205



B
Bl
N

L
b

SEIEE, AHER IBM RS 33F8354 AR HRENER
R

MRAGRRDEHEER, WARERR— HHlE0E—I R A0H
%ﬁghi?&. BHRSEE, MREH. EHFLERY, TREKE

B ST TR
DNGRNKE
A& 100 (212F)
ETEENE
BRAE BRI b,

B
=2
w

B>

L

.
=H

REIEWAEF~R (W1 CD-ROM. DVD Bk, RAGEREERD B, MiE
ELUTSm:

RERINE. RREKFRONETESIBMAESOER, F&EH
RAHR PSR,

=

TR o

FURAMERERR T WD SRR KOG ESHARNE

>

ek

FEREFRP AR 3A K3 3B M _RE. HEEUTHER.

NHANSEEREES . FTEEMAR, FEERAXEUREENELR,
BRERRBETARZT.

206 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



R 4

A

218kg (37 B) 232kg(70.5%)  255kg (121.25)

FE
R IERARSRIESE.

RS

EROFE

IR TR AT T AR LR
L. MEHFLE L
TTEET o

RO BRI, 1HW

Egg&ﬁ%m—ﬁ-ﬁ%‘:’@%mﬂk% G LR B 55 — SRR E

Related service information 207



b}
B2
~

%
of

BN, MFER B HAEIE & TS KRR E =

WG ET
RERARGE. SMIXERTRENES.

LU

B
HBEARGE, FERRE L HRE TR & T AAEE MR 8.

B

10

=
A

L

.

HUIEREHRE F A ENEET 82kg (180 &) H¥M.

@

>82 kg (180 )

208 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



FEER 1

g
I ‘9

THMRERAKEAER L. Aok,
%‘% \
R 12

A

&

THMRERAKIEA SHRE.

£\

>

Related service information 209



b
e
=
.

1,

Server Library ¥ 77 "2 & | &2 " Al é‘]’éﬂﬂi’w}\ﬁi%ﬁﬁ

o —RFETARMELERESEZIR wx NEE 3(“ VA3
%W&$ﬁ¢ﬁﬁﬁ@ﬁ5%rﬁﬁjﬁri%JﬁW%§i°

flde o A — T R AEMREFE B B3 T AR AR eE U
HB Ry TR 1P

PATEATAG T2 87 > F3Fi A T, & T Ek ) %W -

*‘k
k-1

A

B~ BB BRE T LA A TRIAH LR -

ar

53

ES TR A YA N

— e H R R R KA S BT B R R R AENR
y: 3

— A TR AR E BRI AR TR -

— SR e 8 S S B R UE ARG 4 R

— BT ReAR A F Rk 4k XM 1E B AR

aﬁﬁxmtﬂ*w&ﬁ iﬁ“ﬁm

3 sr%i ’fondiéuwiNMﬂi{i KMALE T HRETRY Tk, R
Ui, EELHAF BT

XN g -

L. B AT B < 1. LB P AT B <

2. RAFFTA BALARE LEE - 2. b B & AR EHIR E AR -
3R EAE B - 3RS LTS SREAE -
4 B E R TR o A AR E Loy AT B AL o
S HARENTR -

AR 2

ST > 2T M IBM EiR43% 33F8354 09 Eik 0 KRRk
EMA T o 2% A5 P LA QAT AL £ LI - Sk 48 )
%gii%ﬂmﬁaﬁm=%*m$&m~@&ﬂ%§eﬁm%@m%~w%ﬁ

- ﬁvﬁktxﬂ 100 C (212 °F)
— 153 AT

HEBE AL R ERLEET -

A3

F4tA S (o CD-ROM » DVD eafi » s B SO 4t %) 0 > kit & F 71

#5 P ’Lﬁ% BMERAEDGET  ETRERTGALCRGFHEHZT -
VR E RS G Lt -
M PR T a4 H] - A RE LT R ETHRERTEACRGIBHZT -

A A T4 E S 2 Mk X Class 3A & Class 3B F4f — 424 - i &
FHIFR

B & 8 A TAH A o AL R R R RS E Bk
o HRBEAERTELRT ©

210 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



2 18 A K (37 ) 2 32K (705 8) 2 55 A (1212 &)

N S
R -

HARKER  FEELAHE -

A5

EE
';éiiéﬁ%%ﬁ#&%ﬂ#ﬁeﬁa&’-&%ﬁiﬁil@%iéﬂ'&‘ZﬁﬁﬁIééilﬁﬁikl%éiﬁﬂ%iiiéﬁ’é‘
ARETHRA AL ERE - W BBREE LOHABR > FHERN
AERSCHE R

A\ A

2 [ mp m—
1 [0 mp =mm—

A 10

AFAEAT EF A 82 AT (180 #%) ey B T EMBWEE LT -

>82 At (180 #%)

Related service information 211



Important:

Toutes les consignes Attention et Danger indiquées dans la bibliotheque IBM
documentation sont précédées d’'un numéro. Ce dernier permet de mettre en
correspondance la consigne en anglais avec ses versions traduites dans la
présente section.

Par exemple, si une consigne de type Attention est précédée du chiffre 1, ses
traductions sont également précédées du chiffre 1 dans la présente section.

Prenez connaissance de toutes les consignes de type Attention et Danger avant de
procéder aux opérations décrites par les instructions.

* Notice n° 1

A\ A

DANGER

Le courant électrique passant dans les cables de communication, ou les cordons
téléphoniques et d’alimentation peut étre dangereux.

Pour éviter tout risque de choc électrique:

* Ne manipulez aucun céable et n’effectuez aucune opération d’'installation, d’entretien ou de
reconfiguration de ce produit au cours d’un orage.

* Branchez tous les cordons d’alimentation sur un socle de prise de courant correctement
cablé et mis a la terre.

» Branchez sur des socles de prise de courant correctement cablés tout équipement
connecté a ce produit.

» Lorsque cela est possible, n’utilisez qu'une seule main pour connecter ou déconnecter les
cébles d’interface.

* Ne mettez jamais un équipement sous tension en cas d’incendie ou d’inondation, ou en
présence de dommages matériels.

* Avant de retirer les carters de I'unité, mettez celle-ci hors tension et déconnectez ses
cordons d’alimentation, ainsi que les cébles qui la relient aux réseaux, aux systéemes de
télécommunication et aux modems (sauf instruction contraire mentionnée dans les
procédures d’installation et de configuration).

» Lorsque vous installez ou que vous déplacez le présent produit ou des périphériques qui
lui sont raccordés, reportez-vous aux instructions ci-dessous pour connecter et
déconnecter les différents cordons.

Connexion Déconnexion
Mettez les unités hors tension. 1. Mettez les unités hors tension.

2. Commencez par brancher tous les 2. Débranchez les cordons d’alimentation
cordons sur les unités. des prises.

3. Branchez les cébles d’interface sur des |3. Débranchez les cables d’interface des
connecteurs. connecteurs.

4. Branchez les cordons d’alimentation sur |4. Débranchez tous les cébles des unités.
des prises.

5. Mettez les unités sous tension.

212 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



¢ Notice n° 2

A

ATTENTION:

Remplacez la pile au lithium usagée par une pile de référence identique
exclusivement - voir la référence IBM - ou par une pile équivalente recommandée par
le fabricant. Si votre systéme est doté d’un module contenant une pile au lithium,
vous devez le remplacer uniquement par un module identique, produit par le méme
fabricant. La pile contient du lithium et présente donc un risque d’explosion en cas
de mauvaise manipulation ou utilisation.

* Ne la jetez pas a I’eau.
* Ne I’exposez pas a une température supérieure a 100 °C.
* Ne cherchez pas a la réparer ou a la démonter.

Pour la mise au rebut, reportez-vous a la réglementation en vigueur.

* Notice n° 3

A

ATTENTION:

Si des produits laser sont installés (tels que des unités de CD-ROM ou de DVD, des
périphériques contenant des fibres optiques ou des émetteurs-récepteurs), prenez
connaissance des informations suivantes:

* N’ouvrez pas ces produits pour éviter une exposition directe au rayon laser. Vous
ne pouvez effectuer aucune opération de maintenance a I’intérieur.

* Pour éviter tout risque d’exposition au rayon laser, respectez les consignes de
réglage et d’utilisation des commandes, ainsi que les procédures décrites dans le
présent document.

DANGER

Certains produits laser contiennent une diode laser de classe 3A ou 3B. Prenez
connaissance des informations suivantes:

Rayonnement laser lorsque le carter est ouvert. évitez de regarder fixement le
faisceau ou de I'observer a I'aide d’instruments optiques. évitez une exposition
directe au rayon.

Related service information 213



214

* Notice n° 4

A

218 kg (37 Ibs) 232 kg (70.5 Ibs) =55 kg (121.2 Ibs)
ATTENTION:

Faites-vous aider pour soulever ce produit.

* Notice n° 5

A\ A

ATTENTION:

Le bouton de mise sous tension/hors tension de I'unité et I'interrupteur d’alimentation
du bloc d’alimentation ne coupent pas I’arrivée de courant électrique a I'intérieur de
la machine. Il se peut que votre unité dispose de plusieurs cordons d’alimentation.
Pour isoler totalement I'unité du réseau électrique, débranchez tous les cordons
d’alimentation des socles de prise de courant.

VAN

2 [() mp =—
1 (1) mp =m—

* Notice n° 10
ATTENTION:

Ne posez pas d’objet dont le poids dépasse 82 kg sur les unités montées en armoire.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Wichtig:

Alle Sicherheitshinweise in dieser IBM documentation beginnen mit einer Nummer.
Diese Nummer verweist auf einen englischen Sicherheitshinweis mit den
Ubersetzten Versionen dieses Hinweises in diesem Abschnitt.

Wenn z. B. ein Sicherheitshinweis mit der Nummer 1 beginnt, so erscheint die
Ubersetzung fir diesen Sicherheitshinweis in diesem Abschnitt unter dem Hinweis
1.

Lesen Sie alle Sicherheitshinweise, bevor Sie eine Anweisung ausfihren.

¢ Hinweis 1

A\ A\

VORSICHT

Elektrische Spannungen von Netz-, Telefon- und Datentibertragungsleitungen sind
geféhrlich.

Aus Sicherheitsgriinden:

* Bei Gewitter an diesem Gerét keine Kabel anschlieBen oder 16sen. Ferner keine
Installations-, Wartungs- oder Rekonfigurationsarbeiten durchfiihren.

» Gerat nur an eine Schutzkontaktsteckdose mit ordnungsgeman geerdetem Schutzkontakt
anschlieBen.

» Alle angeschlossenen Gerate ebenfalls an Schutzkontaktsteckdosen mit ordnungsgeman
geerdetem Schutzkontakt anschlieBen.

» Signalkabel méglichst einhandig anschlieBen oder I6sen.

» Keine Geréte einschalten, wenn die Gefahr einer Beschadigung durch Feuer, Wasser
oder andere Einfllisse besteht.

* Die Verbindung zu den angeschlossenen Netzkabeln, Telekommunikationssystemen,
Netzwerken und Modems ist vor dem 6ffnen des Geh&uses zu unterbrechen. Es sei
denn, dies ist in den zugehorigen Installations- und Konfigurationsprozeduren anders
angegeben.

* Nur nach den nachfolgend aufgeflihrten Anweisungen arbeiten, die fur Installation,

Transport oder 6ffnen von Gehdusen von Personal Computern oder angeschlossenen
Einheiten gelten.

Kabel anschliegen: Kabel I6sen:

1. Alle Geréate ausschalten und 1. Alle Geréate ausschalten.
Netzstecker ziehen. 2. Zuerst Netzstecker von Steckdose I6sen.
2. Zuerztllalr;e Kabel an Einheiten 3. Signalkabel von AnschluBbuchsen lésen.
anschiiezen. 4. Alle Kabel von Einheiten l6sen.
3. Signalkabel an AnschluBbuchsen
anschlieBen.

4. Netzstecker an Steckdose anschlie3en.
5. Gerat einschalten.

Related service information 215



216

* Hinweis 2

A

ACHTUNG:

Eine verbrauchte Batterie nur durch eine Batterie mit der IBM Teilenummer 33F8354 oder
durch eine vom Hersteller empfohlene Batterie ersetzen. Wenn Ihr System ein Modul mit
einer Lithium-Batterie enthélt, ersetzen Sie es immer mit dem selben Modultyp vom selben
Hersteller. Die Batterie enthalt Lithium und kann bei unsachgeméBer Verwendung,
Handhabung oder Entsorgung explodieren.

Die Batterie nicht:

* mit Wasser in Berlhrung bringen.
 (Uber 100 C erhitzen.

* reparieren oder zerlegen.

Die 6rtlichen Bestimmungen fir die Entsorgung von Sondermdill beachten.

* Hinweis 3

A

ACHTUNG:

Wenn ein Laserprodukt (z. B. CD-ROM-Laufwerke, DVD-Laufwerke, Einheiten mit
Glasfaserkabeln oder Transmitter) installiert ist, beachten Sie folgendes.

» Das Entfernen der Abdeckungen des CD-ROM-Laufwerks kann zu gefahrlicher
Laserstrahlung fuhren. Es befinden sich keine Teile innerhalb des CD-ROM-Laufwerks,
die vom Benutzer gewartet werden missen. Die Verkleidung des CD-ROM-Laufwerks
nicht 6ffnen.

+ Steuer- und Einstellelemente sowie Verfahren nur entsprechend den Anweisungen im
vorliegenden Handbuch einsetzen. Andernfalls kann geféhrliche Laserstrahlung auftreten.

VORSICHT

Manche CD-ROM-Laufwerke enthalten eine eingebaute Laserdiode der Klasse 3A oder 3B.
Die nachfolgend aufgefiihrten Punkte beachten.

Laserstrahlung bei gedffneter Tur. Niemals direkt in den Laserstrahl sehen, nicht direkt mit
optischen Instrumenten betrachten und den Strahlungsbereich meiden.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



* Hinweis 4

A

=218 kg =232 kg =55 kg
ACHTUNG:

Beim Anheben der Maschine die vorgeschriebenen Sicherheitsbestimmungen beachten.

¢ Hinweis 5

A\ A\

ACHTUNG:

Mit dem Betriebsspannungsschalter an der Vorderseite des Servers und dem
Betriebsspannungsschalter am Netzteil wird die Stromversorgung flr den Server nicht
unterbrochen. Der Server kénnte auch mehr als ein Netzkabel aufweisen. Um die gesamte
Stromversorgung des Servers auszuschalten, muf3 sichergestellt werden, dai3 alle Netzkabel
aus den Netzsteckdosen herausgezogen wurden.

YA

2 [) mp =—
1 (1) mp =mm—

¢ Hinweis 10
ACHTUNG:

Keine Gegenstande, die mehr als 82 kg wiegen, auf Rack-Einheiten ablegen.

Related service information 217



Importante:

Tutti gli avvisi di attenzione e di pericolo riportati nella pubblicazione IBM
documentation iniziano con un numero. Questo numero viene utilizzato per
confrontare avvisi di attenzione o di pericolo in inglese con le versioni tradotte
riportate in questa sezione.

Ad esempio, se un avviso di attenzione inizia con il numero 1, la relativa versione
tradotta & presente in questa sezione con la stessa numerazione.

Prima di eseguire una qualsiasi istruzione, accertarsi di leggere tutti gli avvisi di
attenzione e di pericolo.

* Awviso 1

A\ A

PERICOLO

La corrente elettrica circolante nei cavi di alimentazione, del telefono e di segnale &
pericolosa.

Per evitare il pericolo di scosse elettriche:

» Non collegare o scollegare i cavi, non effettuare I'installazione, la manutenzione o la
riconfigurazione di questo prodotto durante i temporali.

» Collegare tutti i cavi di alimentazione ad una presa elettrica correttamente cablata e
munita di terra di sicurezza.

» Collegare qualsiasi apparecchiatura collegata a questo prodotto ad una presa elettrica
correttamente cablata e munita di terra di sicurezza.

» Quando possibile, collegare o scollegare i cavi di segnale con una sola mano.

» Non accendere qualsiasi apparecchiatura in presenza di fuoco, acqua o se sono presenti
danni all’apparecchiatura stessa.

» Scollegare i cavi di alimentazione, i sistemi di telecomunicazioni, le reti e i modem prima
di aprire i coperchi delle unita, se non diversamente indicato nelle procedure di
installazione e configurazione.

» Collegare e scollegare i cavi come descritto nella seguente tabella quando si effettuano
l'installazione, la rimozione o I'apertura dei coperchi di questo prodotto o delle unita

collegate.

Per collegare: Per scollegare:

1. SPEGNERE tutti i dispositivi. 1. SPEGNERE tutti i dispositivi.

2. Collegare prima tutti i cavi alle unita. 2. Rimuovere prima i cavi di alimentazione

3. Collegare i cavi di segnale ai connettori. dalle prese elettriche.

4. Collegare i cavi di alimentazione alle 3. Rimuovere i cavi di segnale dai connettori.
prese elettriche. 4. Rimuovere tutti i cavi dalle unita.

5. ACCENDERE Ie unita.

218 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



¢ Avviso 2

A

ATTENZIONE:

Quando si sostituisce la batteria al litio, utilizzare solo una batteria IBM con numero parte
33F8354 o batterie dello stesso tipo o di tipo equivalente consigliate dal produttore. Se il
sistema di cui si dispone € provvisto di un modulo contenente una batteria al litio, sostituire
tale batteria solo con un tipo di modulo uguale a quello fornito dal produttore. La batteria
contiene litio e pud esplodere se utilizzata, maneggiata o smaltita impropriamente.

Evitare di:

* Gettarla o immergerla in acqua

* Riscaldarla ad una temperatura superiore ai 100°C
e Cercare di ripararla o smontarla

Smaltire secondo la normativa in vigore (D.Lgs 22 del 5/2/9) e successive disposizioni
nazionali e locali.

¢ Avwviso 3

A

ATTENZIONE:

Quando si installano prodotti laser come, ad esempio, le unita DVD, CD-ROM, a fibre
ottiche o trasmettitori, prestare attenzione a quanto segue:

« Non rimuovere i coperchi. L’apertura dei coperchi di prodotti laser pud determinare
I'esposizione a radiazioni laser pericolose. All'interno delle unita non vi sono parti su cui
effettuare 'assistenza tecnica.

« Lutilizzo di controlli, regolazioni o I'esecuzione di procedure non descritti nel presente
manuale possono provocare I'esposizione a radiazioni pericolose.

PERICOLO

Alcuni prodotti laser contengono all'interno un diodo laser di Classe 3A o Classe 3B.
Prestare attenzione a quanto segue:

Aprendo l'unita vengono emesse radiazioni laser. Non fissare il fascio, non guardarlo
direttamente con strumenti ottici ed evitare 'esposizione diretta al fascio.

Related service information 219



220

e Avviso 4

A

=218 kg =232 kg =55 kg
ATTENZIONE:

Durante il sollevamento della macchina seguire delle norme di sicurezza.

* Awviso 5

A\ A

ATTENZIONE:

Il pulsante del controllo dell’alimentazione situato sull’'unita e l'interruttore di alimentazione
posto sull’'alimentatore non disattiva la corrente elettrica fornita all’'unita. L'unita potrebbe
disporre di piu di un cavo di alimentazione. Per disattivare la corrente elettrica dall’'unita,
accertarsi che tutti i cavi di alimentazione siano scollegati dalla sorgente di alimentazione.

A A

2 [ mp =—
1 [ mp =m—

* Awviso 10
ATTENZIONE:

Non poggiare oggetti che pesano piu di 82 kg sulla parte superiore delle unita montate in
rack.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



BE:
Sever T4 TS U—ITHBTRTOEES L URIRDERIE

HFTHEYET., CORFE. RBROTES LURRORR SRS
N-EFEBLURROTREEESRT 5-0IEALET.

BAIE & UFEORBHIEFO 1 THE->THHAEF. TOFEOHMRIE.
Bk OFIZHYET.

FIRERET 1. TRTOER

- Rk 1

A fEf&

JE AL IET D720, EORAEMITIZ, WhRES—T A0
Y AT EFIERY AL BTN TSN, E70E AL
TRSF, PR E OB ITDRNTLIZE N,

EEEPIET 2720 -

- IR o — RIZIE L < BEfis L OB T b T g
IR L TS,

- AU DR S5 TR TOLEE S F72IE L < B
SNEERITHER SN TV O RERDH Y 7,

TEIL, BT —7 VR AN EER0 A LD L &
BRI OFEORTITH LI LTSN, Zhitky,
BN D D ZDORMAD Z LIZ L DBEEF < Z L2
TEET,

W= — N, ERES — 7L, RS — T D OIS RIS
fabia RIFLET, i, BB, RO AN—ZHITEY
EAEH LTI TD L ST, UFOL I T —T OB |
WYL ET>TSIESNY,

fES T Yt & S TR el v

L. FRCOBREZYD 1. TRCOEREY S

2. EF, HEEICT~TO 2. FP, BRaEY RS
=T NEERT B, B = — K& 4

3. Wi, WES—7 % 3. WIC, WEr—7 vk
aR LIRS B Ay NN TR S

4. FO%, BFa Y MC 4. FO%., EENMLTRTO
HR = — FE T 5 ez VRS

5. EEOEWREAND,

Related service information

221



ik 2

AN GEE

AR, VAT A - R—FEICY F o LEMBEHRS
NWTWET, BHMOZHITTESCIR Y AR D & JEL
FK, WHOBENRHY £,
FEUMLOZIMTIE, B 3 5338354 D B E 721 A — 1 —
HER RS OBEMAMH LT EE0,

ML AR ORI DWW T, BBV RO DIRFER £ 721X
A D E Y F TBEWADbELL SN,

FEHITHHE DO FOEROFNIENTL 72 &0,

T ShIRPEMEERIGAA T & &3, B HBIZERRIHZ
LTL7Z2&En,

PLUFOFT 21352 LT 72 &0,

— Kzl bz &

—100C LA LD BEA]

—fROTE

—va—Fh

B ZRERET L25E. BEOREFETIHAIKET—T e &
THEF L T & W, ho& BB LIRSS & F K,
WAROFR & 7e 0 T4, BT R EROZE, £
BANCHE > THREL T E &, THEEL TS END
ZHDOHIZETARNTLEEN,

Lk 3

ANERE

L —4— 8 ( CD-ROM, DVD, E7ziEH7 7 A S—EE#E E 7213
HAFRR R L) BMAAENTHDHEIL, FRICEERZE0N,

Em

- iR STV D I R, TR, e A B 2 T
T L SEBRIRBER A TR DS ATRENED B Y £,

= RIATDOHNR—%T D L AR E RO THEMR H Y £,
K24 7 ONHIAEBL D 7 b2 Sl m g2 it 0 FA, I —%
BT 2T EEN,

A\ fEB&

- CD-ROM K7+ 71, Class 3A £72i% Class 3B L—H— -
FAA—=REMEALTOET, ROMEFL T ZEN,

CD-ROM R 7 A 7 DA =% [iF 5 L L—HF =R S E T,
A BB | HFGRA M - TEERZY LT
KEEW, FREEBEBREZBORNEIIC LTI ES N,

- @it 4

JANDE S -

18Kg LLE 32Kg LAk 55Kg LAE

ZEERLLIFHEEF. RRICHLELFEHRICH>TIEEL,

222 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



- &

A GEE A

H—N—OFEICH S ERFEARE V(& —_—cffaShiz
BEREERLEL A,

H—nN—I2lF. BEHOBERI— FREHRIATLEINhE LAERA,
Y= A= SBRERLIERT 37012, TXTOBWFI— S
BRODOMYNSA TSI EEERL TS,

VAV

2 [() mp =mm—
1 () mp =m—

5

&

o
o
=4

10
N =z
A II IE\

SS9 - ETILOY—/IR—DLIZ 82 Kg ULDHZEBMNEWNT
&L,

Related service information 223



2 Server Library(fl e 2 FO| & I N2 Hs=2
AZESLICH Ol Ms= 22 0| 52 & 20210 0l 20l s
HOE HAO =0 E2 g HNE2s M EXote O Ar=EL
S S0, Fol B120l HS 12 NG, HAE oS =0
ZN2s 2 8o 22 10M 20t2 = USLICH

PE XNAAES 80| M0l BtEA 2 0| 2 & BNES
IO/

EnER

2la

l0I22| HZ0ILt B, O HIZC
H&2 GHAl DAL,

ZXIHOF &L

o

0
fn
>
o
=]
In
L}
2
[
o
z
e

CiHE RE MHIE HEGH tHalE SUEM

H
fin
1>

I01E S ZXI0 AZSLICH
SETO 2 ELICH

LS HoIES

EC L A5 HOIES HUENAM HARLICH
SHEQ M2 BES BT 4. BANM L HOIEE MASUT

o s oo

X A/XE BUD

o
K
Fo
(S

>

=9|
clE HHEH2E NHE (= IBM 28 B1S 33F8354 £= M Z 2R 0l M
HAGl= S8 RO HHHE MESIUAI. AIAEN /S eI S
2 A= 20| ACH SASt HIZLMUM MatE sdst 25
RO WHIGHHAI2. HHE 20 2IS0l AS B M= M, Mel
L= MEOHA 2od Zdst & ASLIN

(g FABMAQ

SEXAL 20 2K RER GHAAI.
- 100°C(212°F) Ol &t 2 2 DI 51Xl Ot
- 221314 2K DAL,

Ko HgEolLt RECl 7200 [Het HHE2IE MEotE A2,

224 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



A

= ) m m)., .
uo w 2 o =8}
o o< * " N Roe=
= E=) =] o — . rooEwQ
J owmE 2o o 01 Rz
& ogN M = > < W5R5)
i = ol =W = 20 RZ0 M o
y =e @ S ™o 10 < TS0k~
By wg & T Ju © u <™
= o = OR
0 =@ Boi =Y A o oy
[ o zS g2
0y s NEEE = RIZ0
3 5 B =d == . &) “R=
6 95 P F& P U RZ 5
g 25 o & ezt
Mok = o3 B TP T 0 = MO
S Ra = g M= o P M0
s a R
all = =5 < "= g o) 0o
ue 24 . 85 3m 57 e % T
- ﬂEED <4 Mu 50 2 L_Al._ N_Ome_uh
g% om Mot Sy wmH & ol Gl
O =4 oy ms o © WS
] Ao O
2 DFE g wam Hur A M.m T
9% Sho = =5t S = RUHE
a3 Rmcw_m 1 Mz T8 < m U WE::ATJ
ou = R = Mz Eel TAEWQ_EE_
ws SsU 53 m~ EL 0y 5 W o mRIot
S omlg = SY 2= B % Ol= W &y
- =2 Bt Ex Do TR - 2 = ST
Sisil mmw Rs w |FS R R0 v K= O Ol = MIRNUL
Kemrw Sorsl T/ oF |V SR W N Kk %0031

225

Related service information

VAN
2 [0 mp =
1 () mp ==



ESel
Mets 2ol MXl A 82 kg(180 Ibs.)0l H= SHE S
EPNNIISPNISN

>82 kg (180 Ibs)

226 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



Importante:

Todas las declaraciones de precauciin de esta IBM documentation empiezan con
un numero. Dicho numero se emplea para establecer una referencia cruzada de
una declaraciin de precauciin o peligro en inglés con las versiones traducidas que
de dichas declaraciones pueden encontrarse en esta secciin.

Por ejemplo, si una declaraciin de peligro empieza con el nimero 1, las
traducciones de esta declaraciin de precauciin aparecen en esta secciin bajo
Declaraciin 1.

Lea atentamente todas las declaraciones de precauciin y peligro antes de llevar a
cabo cualquier operaciin.

¢ Declaracion 1

A A

PELIGRO

La corriente eléctrica de los cables telefinicos, de alimentaciin y de comunicaciones es
perjudicial.

Para evitar una descarga eléctrica:

* No conecte ni desconecte ningun cable ni realice las operaciones de instalaciin,
mantenimiento o reconfiguraciin de este producto durante una tormenta.

* Conecte cada cable de alimentaciin a una toma de alimentaciin eléctrica con conexiin a
tierra y cableado correctos.

» Conecte a tomas de alimentaciin con un cableado correcto cualquier equipo que vaya a
estar conectado a este producto.

» Si es posible, utilice una sola mano cuando conecte o desconecte los cables de sent.al.

* No encienda nunca un equipo cuando haya riesgos de incendio, de inundaciin o de
dafos estructurales.

» Desconecte los cables de alimentaciin, sistemas de telecomunicaciones, redes y midems
conectados antes de abrir las cubiertas del dispositivo a menos que se indique lo
contrario en los procedimientos de instalaciin y configuraciin.

» Conecte y desconecte los cables tal como se describe en la tabla siguiente cuando
desee realizar una operaciin de instalaciin, de traslado o de apertura de las cubiertas
para este producto o para los dispositivos conectados.

Para la conexin Para la desconexiin
APAGUELO todo. 1. APAGUELO todo.

2. En primer lugar, conecte los cables a 2. En primer lugar, retire cada cable de
los dispositivos. alimentaciin de la toma de alimentaciin.

3. Conecte los cables de sefal a los 3. Retire los cables de sefial de los
conectores. conectores.

4. Conecte cada cable de alimentaciin a la |4. Retire los cables de los dispositivos.
toma de alimentaciin.

5. ENCIENDA el dispositivo.

Related service information 227



228

* Declaracion 2

A

PRECAUCION:

Cuando desee sustituir la bateria de litio, utilice Unicamente el nimero de pieza 33F8354 de
IBM o cualquier tipo de bateria equivalente que recomiende el fabricante. Si el sistema
tiene un midulo que contiene una bateria de litio, sustituyalo unicamente por el mismo tipo
de midulo, que ha de estar creado por el mismo fabricante. La bateria contiene litio y puede
explotar si el usuario no la utiliza ni la maneja de forma adecuada o si no se desprende de
la misma como corresponde.

No realice las acciones siguientes:

» Arrojarla al agua o sumergirla

» Calentarla a una temperatura que supere los 100°C (212°F)
* Repararla o desmontarla

Despréndase de la bateria siguiendo los requisitos que exija el reglamento o la legislaciin
local.

* Declaracion 3

A

PRECAUCION:

Cuando instale productos laser (como, por ejemplo, CD-ROM, unidades DVD, dispositivos

de fibra iptica o transmisores), tenga en cuenta las advertencias siguientes:

* No retire las cubiertas. Si retira las cubiertas del producto laser, puede quedar expuesto
a radiaciin laser perjudicial. Dentro del dispositivo no existe ninguna pieza que requiera
mantenimiento.

» El uso de controles o ajustes o la realizaciin de procedimientos que no sean los que se

han especificado aqui pueden dar como resultado una exposiciin perjudicial a las
radiaciones.

PELIGRO

Algunos productos laser contienen un diodo de laser incorporado de Clase 3A o de Clase
3B. Tenga en cuenta la advertencia siguiente.

Cuando se abre, hay radiaciin laser. No mire fijamente el rayo ni lleve a cabo ningun
examen directamente con instrumentos ipticos; evite la exposiciin directa al rayo.

Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



* Declaracion 4

A

=218 kg =232 kg =55 kg
PRECAUCION:

Tome medidas de seguridad al levantar el producto.

¢ Declaracion 5

A\ A

PRECAUCION:

El botin de control de alimentaciin del dispositivo y el interruptor de alimentaciin de la
fuente de alimentaciin no apagan la corriente eléctrica suministrada al dispositivo. Es
posible también que el dispositivo tenga mas de un cable de alimentaciin. Para eliminar la
corriente eléctrica del dispositivo, asegurese de desconectar todos los cables de
alimentaciin de la fuente de alimentaciin.

YA

2 [) mp =—
1 (1) mp =mm—

¢ Declaracion 10
PRECAUCION:

No coloque ningun objeto que pese mas de 82 kg (180 libras) encima de los dispositivos
montados en bastidor.

Safety inspection guide
The intent of this inspection guide is to assist you in identifying potentially unsafe
conditions on these products. Each machine, as it was designed and built, had
required safety items installed to protect users and service personnel from injury.
This guide addresses only those items. However, good judgment should be used to
identify potential safety hazards due to attachment of non-IBM features or options
not covered by this inspection guide.

If any unsafe conditions are present, you must determine how serious the apparent
hazard could be and whether you can continue without first correcting the problem.

Related service information 229



Consider these conditions and the safety hazards they present:

» Electrical hazards, especially primary power (primary voltage on the frame can
cause serious or fatal electrical shock).

» Explosive hazards, such as a damaged CRT face or bulging capacitor
* Mechanical hazards, such as loose or missing hardware

The guide consists of a series of steps presented in a checklist. Begin the checks
with the power off, and the power cord disconnected.

Checklist:

1. Check exterior covers for damage (loose, broken, or sharp edges).
2. Power-off the computer. Disconnect the power cord.

3. Check the power cord for:

a. A third-wire ground connector in good condition. Use a meter to measure
third-wire ground continuity for 0.1 ohm or less between the external ground
pin and frame ground.

b. The power cord should be the appropriate type as specified in the parts
listings.
c. Insulation must not be frayed or worn.
4. Remove the cover.

5. Check for any obvious non-IBM alterations. Use good judgment as to the safety
of any non-IBM alterations.

6. Check inside the unit for any obvious unsafe conditions, such as metal filings,
contamination, water or other liquids, or signs of fire or smoke damage.

7. Check for worn, frayed, or pinched cables.

8. Check that the power-supply cover fasteners (screws or rivets) have not been
removed or tampered with.

Handling electrostatic discharge-sensitive devices

Any computer part containing transistors or integrated circuits (ICs) should be
considered sensitive to electrostatic discharge (ESD). ESD damage can occur when
there is a difference in charge between objects. Protect against ESD damage by
equalizing the charge so that the machine, the part, the work mat, and the person
handling the part are all at the same charge.

Notes:
1. Use product-specific ESD procedures when they exceed the requirements noted
here.

2. Make sure that the ESD protective devices you use have been certified (ISO
9000) as fully effective.

When handling ESD-sensitive parts:

* Keep the parts in protective packages until they are inserted into the product.
» Avoid contact with other people.

» Wear a grounded wrist strap against your skin to eliminate static on your body.

* Prevent the part from touching your clothing. Most clothing is insulative and
retains a charge even when you are wearing a wrist strap.

» Use the black side of a grounded work mat to provide a static-free work surface.
The mat is especially useful when handling ESD-sensitive devices.

230 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308



» Select a grounding system, such as those listed below, to provide protection that
meets the specific service requirement.

Note: The use of a grounding system is desirable but not required to protect
against ESD damage.
— Attach the ESD ground clip to any frame ground, ground braid, or green-wire
ground.
— Use an ESD common ground or reference point when working on a
double-insulated or battery-operated system. You can use coax or
connector-outside shells on these systems.

— Use the round ground-prong of the ac plug on ac-operated computers.

Grounding requirements
Electrical grounding of the PC Server Rack and computers is required for operator
safety and correct system function. Proper grounding of the electrical outlet can be
verified by a certified electrician.

Problem determination tips

Due to the variety of hardware and software combinations that can be encountered,
use the following information to assist you in problem determination. If possible,
have this information available when requesting assistance from Service Support
and Engineering functions.

* Machine type and model
* Processor or hard disk upgrades
* Failure symptom
— Do diagnostics fail?
— What, when, where, single, or multiple systems?
— Is the failure repeatable?
— Has this configuration ever worked?
— If it has been working, what changes were made prior to it failing?
— Is this the original reported failure?
» Reference/Diagnostics diskette version
— Type and version level
» Hardware configuration
— Print (print screen) configuration currently in use
— BIOS level
» Operating system software
— Type and version level

Related service information 231



CAUTION:
Important:
To eliminate confusion, identical systems are considered identical only if they:

Are the exact machine type and model

Have the same BIOS level

Have the same adapters/attachments in the same locations
Have the same address jumpers/terminators/cabling

Have the same software versions and levels

Have the same Reference/Diagnostics Diskette (version)
Have the same configuration options set in the system
Have the same setup for the operation system control files

©® N O~ Dd=

Comparing the configuration and software set-up between "working and
non-working” systems will often lead to problem resolution.

232 Hardware Maintenance Manual: IBM PC Server/Enterprise Racks Types 9306, 9308






Part Number: 10K2658

(1P) P/N: 10K2658



	Contents
	About this manual
	Important safety information
	Online support

	General Checkout
	Power checkout
	Powering off the rack

	Type 9306 Model 250/420/421
	Features
	NetBAY 42 and NetBAY 25 Cabinets
	Installing a rack cabinet
	Installing stabilizer brackets
	Removing and installing NetBAY25 panels
	Removing and installing NetBAY42 panels
	Door latches
	Removing and installing rack doors
	Attaching NetBAY42 Rack cabinets in a suite
	Managing cables
	Cable-management brackets
	Moving a rack cabinet


	Part Listing (Type 9306)

	Type 9306 Models 200/900/910
	Type 9306 Models 900/910
	Features
	Locations
	Side panel

	Parts Listing (Type 9306 Model 200)
	Type 9306 Model 900/910
	Features
	Locations
	Side Panel
	Perforated Doors (model 910)
	Installing the new door on a model 900 rack cabinet


	Parts listing (Type 9306 Model 900/910)

	Type 9306 Models 4QS, 4QX, 9QS, 9QX, 9TS, 9TX
	Features
	IBM PC Server expansion rack models

	Locations
	Server selector console
	Server selector unit
	Connections
	Power distribution unit
	Cooling fan
	Sliding trays
	Single latch rail tray
	Dual latch rail tray

	Sliding rails
	Keyboard tray

	Parts listing (Type 9306 – 19-inch) Models 9QS, 9TS and 9QX, 9TX
	Parts listing (Type 9306 – 24-inch) Models 4QS, 4QX

	NetBAY 42 Enterprise Rack (Type 9308 Models 42P, 42X, 4SA, 4SB, 42S, 42E)
	Features
	Locations
	Removing and installing panels
	Removing and installing the side panels
	Removing and installing the top 6U side panels

	Doors
	Front and rear doors – Models 42P, 42X, 4SA, 4SB
	Rear door – Models 42S, 42E
	Front door – Models 42S, 42E

	Removing and installing the top 6U portion of the rack
	Installing the stabilizer bracket
	Attaching rack cabinets in a suite
	Installing L-channel support rails to rack mounting brackets

	Parts listing (Type 9308 Model 42P, 42X)

	NetBAY3 enclosure
	Features
	Locations
	Casters
	Foot pads
	Front cover
	Rear panel
	Device side rails
	Stacking NetBAY3 enclosures

	Parts Listing (NetBAY3)

	NetBAY3E enclosure
	Features
	Locations
	Casters
	Front cover
	Rear panel
	Device side rails
	Stacking NetBAY3E enclosures

	Parts listing (NetBAY3E)

	1U Flat Panel Monitor Console Kit
	Installing the Flat Panel Monitor Console Kit
	Installing the flat panel monitor and keyboard tray
	Installing an optional console switch
	Parts listing (Type 9306 Model OPT)



	Installing Optional Devices
	Installing devices on the rack cabinet mounting flanges
	Installing threaded rails or bars
	Installing cage nuts
	Using the cage-nut-insertion tool
	Using a flat-blade screwdriver
	Clip Nuts
	Installing an uninterruptible power supply

	Installing a power distribution unit
	Power Distribution Unit
	Installing a PDU vertically
	Installing a PDU horizontally

	Installing a server
	Installing a large server
	Installing a small server

	Installing a storage expansion unit
	Installing a Fibre Channel RAID controller unit
	Installing a Fibre Channel hub
	Installing an SP switch
	Installing a fixed shelf
	Installing a keyboard tray
	Installing a flat panel monitor rack mount kit
	Installing a monitor shelf
	IBM NetBAY Console Switch
	Features
	Tool requirements
	Specifications
	Installation overview
	Installing a console switch vertically in a rack
	Installing a console switch horizontally in a rack

	Parts listing (NetBAY Console Switch)
	NetBAY Power Distribution Units
	NetBAY rack Power Distribution Unit introduction
	Tool requirements
	Installation overview
	Installing devices vertically
	Installing a single device horizontally
	Installing two devices horizontally
	Cabling your PDUs
	Cabling instructions for vertical-mount PDUs
	Cabling instructions for horizontal-mount PDUs
	Rack PDU specifications
	Power cables
	Line cords


	NetBAY front-end Power Distribution Unit introduction
	Tool requirements
	Installation overview
	Installing a single device vertically
	Installing two devices vertically
	Rack PDU specifications
	Line cords
	Power cables

	NetBAY server dual-cord Power Distribution Unit introduction
	Tool requirements
	Installation overview
	Installing devices vertically
	Installing a single device horizontally
	Installing two devices horizontally
	Cabling your PDUs
	Cabling instructions for vertical-mount PDUs
	Cabling instructions for horizontal-mount PDUs
	Rack PDU specifications

	Power cables
	Line cords

	Parts listing (Power Distribution Units)
	Selector switch locations
	Selector switch cable connections
	Tiered switch configuration
	Selector switch environment

	Resetting the selector switch
	Blank bezel
	Fixed shelf
	Keyboard tray
	Removing the existing flat panel monitor stand
	Installing the new monitor stand
	Starting the system
	Configuring the selector switch
	Switching among servers
	Advanced selector switch functions
	Scanning the servers
	Displaying version information and device settings
	Saving Hardware Configuration
	Resetting the mouse and keyboard
	Setting a scan pattern
	Assigning Unique Names to Servers
	Changing menu attributes
	Changing the status flag attributes
	Assigning specific device types

	Making connections under power

	Related service information
	Safety information
	Safety notices (multilingual translations)
	Safety inspection guide
	Handling electrostatic discharge-sensitive devices
	Grounding requirements

	Problem determination tips


